44.

The greatest threat to global biodiversity is

(A) Natural disasters such as storms

(B) Over exploitation of natural resources

(C) Competition of Exotic species with native species
\A Human alteration of Habitats

2 05 2 WreILTURIEE EEDEHONES BHUUS) SGWD
A) yuwe CGurenp Quipens Curley

(B) Qupes cuatmisamer INensE GiyeRTL 60
(C) QpulhL 2 WVNEEL Swe 2 WG Cu gHu@b Cumiy
(D) amflismer wrHob Gewiuw wallgeaflear HLouysamasdr



45.

What does pluviometer Gauge measured?
(A) Density - (B) Heat
© Plot & Rain

HEnellGumBLLi srgenar merdst LwaruBHADS)?

A) siLigd B) Qauluw
©) dew (D) weay



79.  The salinity in ocean water is highest at latitudes.

@ o0-5 . - W 20-30°

(©) B50-60° ' D) 80-90°

s Bller 2 aumiQuib Hifsb sraruu®n oL souGs

A) 0-5° ; ‘ (B) 20-30°
(C) b50-60° _ (D) 80-90°
80. is yellowish colour of ore.
(A) Haematite ' - (B) Magnetite
W Limonite (D) Ore. Aluminium
o@h&aT BImpentil Fmg.
(A)  Gamwenr (B) wriueren
(C) eCwrenen (D) sz signdefluid

81. The largest percentage of forest area in India is found in which of the following

regions. . .
(A) Eastern ghats (B) Himalayan region
Peninsular plateau (D) Western ghats

Spsareupmiet @bduneder eapgs A7Gssd sflsareler (ssaissdw) sT(Hseflen
LriueaTeel QEreTL g ? :

A) s OsTUiEs vew B) @uwweme GCssw

©) Suspu Sy - (D) CupeE Agmiiéé wee

82.  The height of Anaimudi from mean sea level
(A), 2540 m (B) 2455m
2695 m' . D) 2715m

&6 mLLgﬁéﬂ@;b@ penar(lpigudlen 2 WFLb ereusuaTay?
(A) 2540 8uid © (B) 24558
(C) 26958 un ' ' D) 27158 0w

ATGS/19 . 30 . B






4. ‘Most biodiversity hot spots are in—————,
(A) Trophical forests ' % Mountainous regions
(C) Dry Shrublands Wetlands

2 WGyerl ugauslle ids ApultiLk Henbs v
(A) Qeulu wesm & srHaer (B) veasda flenbs U
(C) eoupar ysTEQay Havumiy (D) g HelugHsedr

5. Match the following
(a) Food and water ,
(b) Mosquitos & Houseflies
(¢) Clothes & Syringes
(d) Droplets & Dust

Fomite — Borne transmission
Air — Borne transmission
Vechicle — Borne transmission
Vector — Borne transmission

0N -

Choose the correct answer

@ @® @
4a) 3 1 2

g 3 4 2
3 4 1
D) 4 3 1
Qummsgis.

B RO

Qungper el L5550

snHm el sLSHSW

S, Prau srgand aufl sL_G5FD
s i auf) sLSg 50

(@) o.eway O GewTetiT

(b) QanswHmwF '

() sawfi wHmD 2mé

(d) eédle (=) sefigief wH@b gadl
sflwunraraipenn cTBSS T(PSIS.

(a) (b) (©
A) 3 i
B) 3 4
(C) 8 4
(D) 4 3

N

t\?l\‘}l—"&a

2
2
1
1

6. Bolomefer is used to measure ; :
(A) Coefficient of thermal conductivity (B) thermo emf
(C) Specific heat capacity . heat radiation

CunGer B erd vweauBSSH @g@aam%ﬂLe)m

(A) Qautius sL_ggs Hpen - (B) Qanudfenefllusg eflens
(C) se@eaiiu gpusHmen D) Qanius sfrelss

JSGS/19 o A

































19. As per 2011 census, the popu]atidn of India is
. (A) 646 million ~ (B) 745 million
M 1210 million (D) 1029 million

2011- b y68Tiq &1 WE5ET ABTans SansQs@anUY GBS ése Ggrms oia) adra?
(A) 646 Hoduer (B) 745 Hdaflwien
(C) 1210 Hevedluwien : D) 1029 Hevedwier

20, Find the incorrect statement (s) from the following
(i) Owing to the over population, the per capita availability of water is going up.
(i) Due to growing population, the per capita availability of water is going down.

(iit) Urbanisation and Industrialisation are the causes for deteriorating. water
reservoirs quality. '

- (iv) Urbanisation and Industrialisation are not the causes for deteriorating. water
reservoirs quality. :

oo N @and Geyendy - . (B) (i) and (iii) only
(C) (i) and (iii) only - - (D) (i) and (iv) only

Gleneu(meuaneuHmI6T Seummer angj)gasé)erré ST

() NDea waser Qgrensuden SryemTions &lmg&;&é&\q.u_l goor Bilereray ga(Hib.

(i) was’ QgrersLs Qu@&&g’sﬂcﬁn ésrruénwrra; fLsssemipn SO0 o5 seratflaneray
G®DLLD. . | | '

(i) B Heoasalar sraganelnE HsiOWLTSIID Ggrr@é:mu.nmrrg,@lb STTERTLOMGLD.

(iv) B Heovwsale sis@@DUT Iy HE BafoLLTEHID AFTHDLILISID STFTERTODRD.

@A) @) wppd @v) Ll Gibd (B) (@) wpgw (i) w @b
(C) (i) wpmp (1i1) w G T D) () wppd (V) LW



|https://t. me/tnpscfree|




64.

65.

i}

Match the following:

(a)

®

(©
(D)

-

- (A)
(B)
©)
D)

Mountain Pass
Bum la
Khardungla
Nathu la
Shipki la

) ® @
4

2

AR DO N
BN DN o
00 = o

QuiGsss

(a)

®)

()
d)

A)

%

D

LD SHERTEUTL
b e
STiTGmeT

. BTgl e

aud eom

(

A
~~

N N S SN
RO N T

W= Wk

State

~ Sikkim
Jammu and Kashmir
Himachal Pradesh
Arunachal_Pradesh

oF =8 < =

~~

- W= W R,

. wrflew

| fado
@i sreiglBi
@hlorése UEssD

Simemnése GyGsan

W e

; &

 Which one of the following is not correctly matched?

@)
(B)
(©)

)

(A)
(B)
©
D)

Hazaribagh -
Jaduguda -
Hutti -
Zawar -

QADENTUNS -
nOGLT -
anLg. g

Qe -

Mica
Uranium
Gold
Copper

GenaumeuareumBle ergy Seupts QUTmGS LU Berarg)?

DHT
w Creflwsid
SBEGD

. gmblo
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66. The mouth of the volcano is known as :
(A) Cone ‘ ~ (B)  Pipe
w Vent ’ (D) Focus
eriieneulle euimu Grmgpmg.p&esuu(awg o
(4)  aby - B epmw
(C) Qeauem. , ' D) ewvww
67. The first major irrigation work of Ganga Canal in Uttar Pradesh was opened for
irrigation in the year
(A) 1852 . 6 1854
- (©) 1860 . (D) 1871
2 5AmAyCsssde odmer Gugarey ua&argﬁl_.t_mrrm &BIENE &TOUMD  (pHen ngaﬂsv
unsensHH @ Hmng) el .%m@
(A) 1852 (B) 1854
(C) 1860 e , D) 1871
72. * Which of the following measures humidity?

(A) Hydrometer _ o (B) Altimeter
d Psychrometer " (D) Radiometer

FrLLsSS e ieTEs 2 geyd swmedl arm?

(A) mgmL(BgntBn%Lr’r’ ' ; - (B) g

(©) wsaCymbrii . (D) GemCumBLi



31. Sahara desert is fhe _
d Hot desert Biome (B) Cold desert Biome
(C) Alphine (D) Desert Biome.

FSTYT LTHEUATD TS

(A)  Qeutiv ureeaiar GYa®OLA| (B) @afit ureaaien Gpaeminey
©) yoveuen : D) ureaaearsg QgrEs
JSGS/19 . 14

77. © Name the world's largest artificial Island | ,
'A)' “Flevo polder - - ' (B) Palm Jebel Ali
(C) Palm Jumeirah - ‘ (D)' Kaﬂsi ;

& 0HCGCW Bt QUi Qswipers Fellanr QUi ereman?
(A)  QuaCaurGumdLi | . (B) umbQgue e
(€) umb Qgenswgm = (D) &snend |

1]

29, - GECSN9
: [Turn over-









49.

50.

Who profound the theory “All men are born equal”?
Johann Pestalozzi (B) Jean Rousseau
w John Locke ' _ (D) Philip Jacab Spencer

‘QprifCe erdvar wallgiaEsb s’ aanm sapap mblueui

- (A) Cgraer QuévigCeonead B) g mCaur

© greavons . (D) 90 Cgésl vGuensit

r

UNESCO, one of the specmhsed agencies of the United Nations came into being in

(A) 1946 A \p" 1945

-(C) . 1943 D) 1944
ApLiy aumlps ;ﬂ@mmwbs&ﬂe‘v gaprer UNESCO e parh madw srHser snlle)
BOLPDDES QHHH! : '
(A) 1946 B) 1945
(C) 1943 : - (D) 1944
19 ' _ DEOM3-19

[Turn over



164. How do you define birth rate in India .
Number of children born in a year x 100
Population at mid — year '

(A) Birth rate =

Number of children born in a month N
Population of mid —year

‘M Bith vika s Number of c}-nldren bom in a year ...,
_ Population of mid - year

(B) Birth rate = 1000

Number of children born in a month N

D Birth rate = 100
o) i ra Population at mid — year

Bisdwunrefler Gpuy eSldsh eréseumm cumgunssIUESDE?
(A) Gpoyeidsh = gm aum sHd Snagw Gimssdia aarafisms  x 100
Speing e sHID wasar Asreams
® Gpoy ey =200 80 Inéed Gismssalia adrelias | 4
. - gyemngen wsHe wisar Agnws
, ) B syangd doéEw gwbassaller aarafisns
20 1wissdo IPsBHL Guiwssalier araiisms
Ky e FAGG wEsT Qgrens '

©) Spiy Hesd = x 100



23.  * Pink revolution” is associated with
(NS Fruits ‘ (B) Crops
(C) Dairy farming ' (D) Flowers

“@evesflauciy Yyl 4 Gaguen Gam iy ws
(A) . seflser (B)  wlrser

(C) ure Larmans AsmPe ) (D)  werssr

24.  Noise level is measured by an instrument known as
(A) Hygrometer (B) Setsmogram
(CI Decibel meter (D) Thermomecter

Fugpden sarellaman Saredl LweanL@B b smefulidn Quwr
(A) ‘ ean&Cyr Bl.Lr (B) &nCuwr&irmo

(©) Quéluadior (D) Q@giton B

25. Whichis the lzirgest mangrove forest in lnﬁ?
_ (A/ Sundarban '
(B) Pitchava;'am
(C) Muthupet
(D)  Gulf of mannar |

BibHunellan P SPoungHE srBad @?
(A) sdsreas snsa '

(B) Sseramo srDsar

©)  pémUCulan sraer

D) matamr QueneT@LT

LAGS/19 10









42.  Which is the largest river island in India?

(A) SriRangam ' (B/ Mﬁjul@

(C) Minicai (D) Hoogley

SpHurelen a0 Quilu yofiem ey og?

A) JSByrsmd (B) g
an Ok

(€ Babismi . D)

43. Where is Cotopaxi volcanic peak found ih?

(A South America ®)
(Cy Africa (D)
sm_L ursall erflisna Aanbd ol SowbsicTang?

&)  Qpér HCuwhist ' ®)
O uRssn D)

44. Name the biggest salt lake of India.

(A)  Chilika (B)
@ Sambhar ®)
@pHurailer Bsi@uilu euy gfl g ?

(A) Sellamr (B)

©  embumi )

AMANanconn 10

North America
Japan

L SdufssT

guLer

Kolleru
Pulicat

Qardgum
uCeaupar®



48. A projectile is fired at an angle to the vertical with a small velocity. Its horizontal range will
be maximum when the angle to the vertical is

(Ay 120° : (B) 90°
G a (D) 80° .
[N TR T G&nm}ﬂé Gonps SmeGausggd crRGummer Gs&ggﬂs Cué Cpréd erdlwiuBpg.
denpgon s Qumwwns Gmas bl Cousmg us Canawnb erevar?
(A)-  120° @By 90°

’)

(I 45° (D) 30°

49. The clouds float in air because
(A) they are at a low temperature
(B) they are less viscous
(CW they are less dense -
(D) alow pressure is developed there .
srpfid Cusisd BEsseise sryemb
(A) @eoppsdauuufiee
B)  eoppsurgfon
©)  sophs siey
(D)  @opps SPHHD 2 RIS

' 60. Sound travel in air in the form of

(A) atraneverse wave

(B a longitudinal wave

(C) .both as longitudinal and tranaverae wave
(D)  none of the above

AmHie> 6l HIMEET LITRIEH UKD

(A) Gpsss '

(B) Gplieesda .

(C) VQ}; L&t LHNb GHEsmSET

D) Gmﬁm}'m SpbQowa -

R T W P TN —— Fs



51

56.

87,

Which one of the following is used as a fuel in nuclear power plants?

(A) U ‘ 5y 3 (B) PU=S

© Baw ‘ ® Baw
&&m@@drm[j}ﬂé) T8 iy Wlels e amasafléd o Aursemads vwetudE g ?
.(A.V Uzas : (B) PL2s8 -

(C) Baml “ ; . (D) Baw

Where are Azores Islands found in?
(A)  Pacific Ocean
(B)  Arctic Ocean

'((i, Atlantic Ocean
(D) Indian Ocean

i Aumhia ol o Ggrdy Samen o @mbpIaTang?
(A) ud9s AQumE_E '
(B) . oyingd Qu@.rélsl_sb

{0 swremgs GL@@&gd)

D)  @idw Cuais e

Which is the first form of deatruction of natural resources?

(A Hunting "~ (B) Fishing
(C) Mining ' (D) Agriculture
Buphens wabisafir 57,0606 pEe L WnE Stennhsg TE 7

(A)  Can s wn@pd K (B) Benppd

(C) sghapQsnfia D) Cevarramano



- 89.

98. .

Which is the fastest planet to revolve around the Sun?

Ay Mews | " W Mercury
(C) Venus (D) Jupiter

@fwemen V& ehlanyeuns aHmb Caner erg?
B Qedier | ® yger
(C) Qeuerefl ' (D)  eflwmpen

. 33 RAGS/19
[Turn over

In which year India has signed in the Nuclear Test Bar Treaty (NTBT)?

(A) 1% July 1968 RS 8™ August 1963
(C) 10 April 1970 D) 4t May 1976
DI PSS Sl Quu;b“ﬂd) @pHur esQuupsA L e ag?
(A) gOmw1,1968 B) paevl 8, 1063

S (©)  guge 10,1970 D) Cuw4,1975



Cornsidt.:r'the following National Parks :
. Keoladeo National Park

- IL Dachigam National Park

III.  Gir National Park '

IV. Manas National Park

Which of the above National Park is/are ‘locate:_i North of the tropic of cancer?

(A) + Iand 1 only-
~ (B) Ilonly
{C) TandIVonly
@y” 1, 11 and TV only
Uemaumid Caélw g,xmana;mar sa
1 &CumeHCunr Gpfw s
I umlélgma Gaélw waum

R | ) - éll'r(':gtﬂu.lgriw;tr

IV.  wrenmew Gedlw Lhiam

Guo seim bgﬂu.l LiisTEseRe ergeranas aLs Crensi a8l St basieTeng)?
(A Twpgo Il v @Gw

® oG N

©  Lopps IV o G

@ 1, I wopmb IV ol Gio



10.

11.

12.

The leading prodixcer of Jute in [ndia is

( West Bengal

(C) Tamil Nadu

(A) CuwpE eukiamemd

©) - ppE G -

The railway system started in Todiain

'y‘lssa

(A) | 1852

(C) 1855

(B) Bihar

(D) Omssa

same 2 pusHe wsdlLEBD 2 drer @BHw wrHewd

B) dsmi

D) oflsr

M) 1720

@pHuraie @ruilé Gun&@wqﬁg S b wmuu_g

(A) 1852
(C) 1855
Loamy Podzols is the,

W Mountain Soil

(© Peati :

L UmLETé W uens eTTLE)

@A kmmwuugﬁ LOGET

© e

(B) 1853

D) 1720

(B) Black Soil

(D) Saline Soil

" (B) aledwes

. (D) © QT LDGRT






59.  Which one of the following statement is not correct?
.A Crude oil is found in metamorphic rocks

(B) Crudeoilis fo_unci at the place of formation
(C)  Crude oil Overlain with gases ' -
(D) The origin of crude oil is considered to be organic

Spsaam_sunble g geupren agﬂéa).s?

A) 2 morhu urmpadfd sésr aranQern sraT LGS .

(3) HFET cTaRTReTLISET 2 (Heurnen @ hsaiGe &ueu'mu@élérmm
(©) asen cramQern) eumyésienLen sramOUBSenmen

(D) s&an aenGeami e.euren eﬁippﬂa) saﬁwww;s smHmfenman

60.  Which of the following is a green house gas?

(A) . ‘Oxygen 4 J Carbon dioxide -
'(C)  Hydrogen (D) Nitrogen |
G@é’mmgbgsﬁ LS Glgd auMy eTZ? ' . ' 4 \/
A SyEelggen | E (B) anitue e Emen®
(C) @aplygen ) D) eslyger
61. Chambal is the tributary of —————— river.
(A) Ganga ' ‘A Yamuna
A(_C) Saraswathi a ‘ (D) Narmada

SbUG eTaMLE) THS PPldn Zieemugy?
(A)  smsT ' (B) wopen

©  spevag : (D) pivews

% N 23 a RAGS/19









65.

66.

67.

Which one of the following is the longest National Highway of India?

(A)

NH 5 (B) NH6

(CN” NH 7 (D) NHS

Qereumueneupmier @bHuwmele Berworear Cadlw Qp[H EhaTame 6T8)?

A)
(©)

NH 5 (B) NH®6
NH 7 (D) NHS8

Which one of the following statement is not correct?

L.
II.

I11.

IV.
A)
©)

Rajasthan is the largest state of India in area
Madhya Pradesh is the second largest state in India in area
Maharashtra is the third largest state in India in area

Karnataka is the fourth largest state in India in area

i B) 11

111 | DMV

SLpSTL_6UHNIET HeUMTET SadHm 6TEH?

IL.

I1I.

IV.

(A)
©)

@pHurele urtiuaredien g v uiled WsLG@ulu wrblew Urrggefvgrr.dr
wsHu GrCsen @ram_reug WasiGuilw wrblow @bHwredlar uriueraid
W&TITasl T eparpreug Wali@uilw wrflewn @hdureler urliuereild
siprLsT prasreug WsiQuilu wrflow @hdwredler Lrliueraile

I B) II
I11 D) 1V

Which is the largest rivers of South India?
(A)w}odavari ‘ ~ (B) Mahanadi

©)

Narmada (D) Tapti

Qgen @bdwrellen WsLGUMW pm 618)?

A)
©)

Camgmeur (B) warhld
BIO®S (D) sug

25
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68.

69.

70.

Tk

Cirque 1s, closely associated with
(AMGlacier ; (B) Wind
(C) River (D) Groundwater

&1 ergCGarm(h) GgmyemLwig)
A)  uveflumy (B) amHm
© 2o | D)  Hossy b

The Atherva veda is related with ;
(A) Yajnas (B) Poojas
(CVDemons and spirits (D) Worship of gods

2igreuent Geugld G emeu(mHeuaTeudmIET TSI 6 QBT TLemL WS ?
(A)  wrsmser (B)  yeg wonsdr
©) ysw wHmbd Cuis yedlser (D) sLeemer cuamTiIGLD (PEODEET

The earliest evidence of man in India is found in
(A) Nilgiris - (B) Siwalik hills
(C) Nallamala hills (DWarmada valley

C pHosW s wellziser QmbssnaTear sreanm (SL-wid) @bSHwreiled ermi@ereng)?

(A) ;Ssuaﬁlrﬂ B) Seundls wenewser

(C) poewLTOT LT : (D) piweng udTeTESTES,

Who was the author of “Yoga Darsana”?
(A) Gautam Rishi (B) Kannada Rishi
(C) Badarayana ’ (DWatanjali

“Cuins sflgand” erem mrene erpdw pAMwii wimr? ,
(A) Qsergw MNafl (B) serarm Mad
(©)  usggmwmrent - (D) usEpsed



26.

217.

28.

Taiga forest :

Consider the following statements, choose the correct answer using code given below :
(1) These are the largest biome located between 50° and 60° North latitudes.

(1))  More than 1700 species of trees are found in these forest

(1) Trees shed their leaves during summer

(A) (1) only correct ' ” (1) and (11) are correct
(C) (1) and (111) are correct (D) (1), (1) and (i11) are correct
eadlleames srhsenr (Taiga forest)

Spargpid  aursdluiismen  DigIUMLWITE Q&;rram@ sflurer  eflewemw Qar@ésuul (Herer

@NuHaafledmbg Cairey Caus.

“ (1) 50° apsed 60° euL. 386 Cam(HaEnsiE Qe uld smwpgdarer Qbss srhaGer el Guflu

2 ulflamd @peumPlL hiseT @
(1) @ssr@hsaile gnésGmpw 1700 cuamswrer wreuamsser &mewriiu®Hlermen
(i) @uwwrhsed Carasrasdld @amasamer 2 Sisg el HElamen

A () or@bsf B) (i) wpgpib (i) b &M
(C) (1) whmw (iii) b & D) @), (1) wHmw (i) b &M

Which of the following statement is/are correct?

(1) Tobacco is said to have been brought to India by the Portuguese
(i)  India is the third largest producer of tobacco
(1i1))  The major tobacco producing states are Tamil Nadu, Andhra Pradesh and Karnataka

(A) (i) only correct - (B) (i) and (ii1) only correct
(C) (i) and (ii) only correct y (1), (i1) and (ii1) correct

Wemaumib sapmsaiics sfluneneney erg/ereneu?
(1) yesulee Cunissssfwrred apgen pasons @bHwunedneE QaerarBeauriul L g

i)  yesdaw 2 pusdulie @bdur apapraug G pms dupdpg
(ii)) * @pHwrefler ymslioe pusd Qelun wrhlomsd sOWPHTH, 2wbATUGICHsDL WHHIW

SABILSID
A () wi@w e (B) () wpmd (1i1) w &
C) () wHmd (ii) b & (D) @), (ii) whmb (iii) b &

The heavy air traffic in the world is that between the city of
(A) Japan and Tokyo ” LosAngeles and Newyork
(C) Singapore and Malaysia (D) London and Newyork

2 wélen Qadpg eflwren Cuns@eaurdg Qe parmhisEpsda Gu ;bsm_@ugﬂs'm;pg.
A  guuren - CLraflCGunr _ (B) worevergpaden — Hluywimis
©) SAmsuyf - wCadlwm (D) Qe en - Hlygwimis



96. - Salinity is measured by
(A) Lactometer (B) Altimeter
M Electric salinity meter (D) Seismograph

S Biler o_Liuere, eTgemTed a{m&esuu@,\éﬂshmg?

A)  oreGmBlr . B) el
(C) s Mé sadlafl g B LT (D) &evGomdgm
44.  Misoram State in —
& North East (B) South East
(C) North West (D) South West
WOICHTIID WABlED —————————— LOTSTERTLD B},@GWD
A)  afyss (B) Qgen s
(C) e Cunes (D) Qgerr Cone
45. Physical features like Mountains, Plateaus, Rivers and Oceans are drawn on a
(A)  Political map (B) Thematic map
w Physical map (D) All these

wes&ar, SLLBl&sEr, ms6T, sLdsar Cuream QuD®mes sapisamer umTHHIST_(Heus)
(A) ordue cuamguLrisar (B) smsg snit cuenguL_user

©) Quihams UL UMTULBISET (D) @Qeawemarsgid

HTGS/19 18



78. Which one of the following is a direct source of information about the interior of the earth?
(A) Earthquake waves

(B) Gravitational force

W Volcanoes

(D) Earth magnetism

Wemeumeuameummier Lelluden 2_arerenoliy undlu saeudsmer Pl 2 ey Chirg STID 615)?
A) HoppHés s

B) yeluSiiy elensser

(C) erfMlwenewsar

(D)  yell gD

79. In which country uses drip irrigation with high efficiency?

(A) Canada
(B) Mexico
(C) Egypt

M Israel

Qam’_( prursengens appsHnepLen LweatuRSSID Br(H eTg?
(A) serm

(B) QuselCar

(C) adlug

D) @avCGre

HT(IQ/1Q an



36.  Which of the following materials was mainly used in the manufacture of Indus seals?
(A) - Limestone (B) Terracotta
(©) Silver : Steatite

&Cp Qar@ésiul(eaer aps Qur@plseiad &pg sodeuefl prafs psdarsdar swuriss

vwenu(HSSUTL L e?
(A)  GeTeRTTOL| SHEHET (B) &L wesr
(C) Qeuarafl (D) Quen snaer

37. Pick out the two books written by vishakadatta
& Kavya Dharsha .
I1. Madrarakshasha
III. Kundamala
Devi Chandraguptam

\u( I and IV (B) TandII

(C) IllandIV (D) IIandIII

Gevmeu(meuameudmIeT eHlETESSSHITED GT(PSLILIL L @TeRT(H BI&ET eTeneu?
L sreflw gflaend

II. gy préssd

III. @By wrew

IV. Cgellspdly gL

A I wpmpn IV B) T wpmwll
©) I wpmp IV (D) II whmw IIT
38.  Who was the author of “Nyaya darsana”?
M Gautam I‘lshl (B) Kanada rishi
(C) Kapila (D) Patanjali

“ﬁ@nw sflgand” eremm Hrevew erpSHuwieuim wim?
(A) Qsasbd fafl : (B) saern Maf
©€)  sGari D)  usEHsS



41.

43.

44.

What percentage of salt is found in the river water?

(A) Only 4% (B) Only 10%
(C) Only 5% | @7 Only 2%

<@Hm Bilé sramriiuL_samigw 2 Lblen s5allSlH cremen?
(A) 4% wl@pw ) (B) 10% wl (b
©) 5% w_ (b (D) 2% w v

Which of the following are the major source of marine deposits?
(A)  Terrigenous sources (B) Volecanic eruptions
(C)  Marine plants and animals MAI] of these

SDEsamLouDDIET ETEney SLaIg. Liigeyseflé) (pseeniowmarenal?

A) Qufgefwev cueriugar (B) erflueme Qeugss Qurm_ser
©€) s greuy Hmb eNwhiearmisdr (D)  Cuopsadu iemersgw

Which of the following is a coral Island?
(A)  Maldives (B) Mumbai
(C) Andaman & Nicobar Makshadweep

Sipssam_cupmer eriSey LauatsSe, eremmy D P&sLILHEenmg) ?
A  wvwressey (B) qpenu
(©)  sipgrer whmbd HeECarumt (D) Qalsssesar

The average time interval in between two successive high tides is?
(A) 6 hrs 13 mts 12 hrs 26 mts
(C) 24 hrs 50 mts (D) 18 hrs 39 mts

Gsmit o &5, fe pamisEhédam il L syrsf Crr @eL Qeue
(A) 6 waefl 13 Hibl_bd (B) 12 wenfl 26 HoL1b
(©) 24 wenfl 50 HALW (D) 18 wenfl 39 AL






29.  Asteroids are found between _
(A) Mercury and Venus (B) Venus and Earth
(C) Earth and Mars M Mars and Jupiter

GnaCarasd Gmeausenéd QoL uld sramiu@Sdapar.

Q)  yser wHmD Qeusrar (B) Qeugrafl pmb

©) Wb opmbd decueumis (D) Qecueumis wHmD elwimpen
30. Which Monsoon area does India comes under?

(A)  Area of monsoonal tendencies (B) Area of monsoon effects

(C)" Area of modified monsoon WArea of true monsoon

@pHwr ereuails umeuHlane LGHEGES S 2 cTerg)?
A)  wveysste Cursgsaiea LGS (B) umeuey eflenere) LGS
€) wrppuLLL umauHon LGS (D) e awmenwwimen LU LGS

31.  Yokohama strategy and plan of action was associated with
‘ (A) Natural resources management M Natural Disaster management

(C) World Wars (D) World Poverty
Cuirsapmor Qewe cuemrey HLLib @aauL e Ggm iy Cereamr.g).

Q) @upamaeuer Gamearranio B) Quhema Cuflid Gmmnsdrmm

C) o2ws Gurrr'rase'w ; ' (D) 2.@8&ampew

32.  The ore of mercury is

(A)  Garnierite - (B) Chalcocite
(C)  Sperrylite W Cinnabar
ungrssglen g

(A)  srreflenyi (B) sraCGsrensi_
(C) ev@urflenevi_ (D) SAememumi

AGGS/19 14



81.

82.

83.

Which is the largest salt lake of India?

(A) © Sat Tal (B) Pulicat Lake
Sambhar lake ; (D) Nako lake

Qiduneller WBslQuilu o (i gl erg?
(A) o5z (B) uydlsn gl

(C)  smbunt g (D) pCsr e

Which of the following gas was the remon for the Bhopal tragedy?

A) CFC (B) CO

(C) COq ™ MIC
Sleneumetaneupda CumrLime gy Hapeyss sTyamone aumuy eTg)?
A CFC (B) CO

(C) COq ‘ (D) MIC

Which is largest plate of the Earth surface?

(A) Indian Plate (B) Asian Plate
Pacific Plate : (D) Antartica Plate
yeufler Quflu 5 ergy?
A)  @pdu s B) fusi®
C)  udls s @ D)  S@r nisgsT S0
31

AGGS/19



19.

20.

21.

)

Which one of the following land form is not associgfed with wind deposition?
(A) Barchan j Drumlins
(C)  Seif : (D) Loes
Qereumid ahs HwsCasrHnb srpbler uiged QeugiLer A Ty wg) i0w?
(A) ufnsmen (B) LCyweler '
C) & (D) Cemuen
Which one of the pass connects the coastal plains of Kerala with Tamil Nadu?
(A)  Thal Ghat (B) . Bhor Ghat .
Pal Ghat (D) Khyber Pass
Garern sLHamyenw SLOIPRHITL(HL6 @)MmeRTé@ D Seeul 675 ?
(A)  sme semreumis | (B) Guni sewteumis
C) unessT () sewTeumi (D) ewsum seawTeum
Match the List I (Local wind) with List II (Places) :
- ListlI List II
"(a) Chinook 1. India — Thar desert
(b) Fohn 2 Sahara desert
(¢) Sirocco 3. Northern Italy
(d) Loo 4. USA
(a) (b) (c) (d)
A 3 4 2 1
B)_2 3 4 1
M 4 3 2 1
D) 1 3 2 4
uligwed I-afleb o_arar sevs srpmiser L igwed I1-6flé 2 drer @LrusEnLen QumBSES :
U iguwe I uCigwe IT°
(a) Slewgyns § 2 @pFHwredlen S LTMQGUETLD
(b) oumen 2: SHTTT LUTEHLEUETLD
(¢)  &graCan 3. UL&@ @55
d an 4. 2|@wiés geHw priHser
(a) (b) () (d)
A 3 4 2 1
B) 2 3 4 1 '
©C 4 3 2 1
1 3 2 4
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18.

19.

The highest peak of the Aravalli Range is
(A) Kalsubai
(B) Mahendra Giri

W Gurushikhar

(D) Nanga Parbat

< reudded wenewsbsm e o drar 2 wigwrer Hsyn
(A) smosuWl

(B) u)('p’gp;'r,ﬁq &

© ©mism

D) mpmsuiaus

Which one of the following is not an area of sparse population distribution

(A) The Atacama
(B) Polar region

w South East Asia

(D) Sahara

ﬂmm@mmmﬁ)@&r o185l @@DeUna &S QgTens LTeud Qara LGS o

(A) S smor

B) smauuGHaer .
(C) Qsen SipéE pAur
(D) ssmy

The Bramaputra river originate in Tibet and is locally known as

w Tsangpo (B) Dihang Dibang
(©)  Ghagra (D)  Son
QrowysHrm pm ————— ara. QuwipLen HAuGH 2 mHeurdlpg.
(A)  emaCumr ; (B) Ham Hurs
(C) sn&ym . (D) Gamen
9

AAGS/19



32.  Steel Industry is popularly called as
(A)  Oldest industry
(B) Traditional industry

M Mother industry

(D)  Private industry

By 6 Qgmfler ——————— arann S PEELILHEHDG!.
A) uevwrandEgMmHd

B)  wrsQsmpd

(€C)  smugLgmfe.

(D) saflwrt Agmfe

33. Rearrange the stages of economic growth :

The mature étage
The take off stage
The age of high mass consumption

The traditional society

R

The transitional society

@A) 3,21,45 & 45213

© 1,4,35,2 , D) 2,3,4,51
dun@mrrg,rru auari&él Hlenesamer euflensiL(HSS1s :

1. Qunmeray péiEdsarer Qaugssd

2. Qumrmerrgry CuGap Hae

3 Qurgisaafien G'LIIJ'GITG\.l H&TESEETOD

4. uyewwurer sépgtru.u UL (penD

5. wroib Hleneule 2 érer FupSTLID

A 3,2,1,45 B) 4,52,1,3

(C) 1’ 4’ 3’ 5’ 2 (D) 2y 3! 4, 5! 1



67.

68.

69.

The region where the Amazon and the Congo rivers traverse is
Equatorial region
(B) Temperate region
(C) Polar region
(D)  Subtropical region
<(Gwsren wHmb STEGCHET MmsdT LTS WL 68 ?
A) yaler _&Csr(H weRr_eid
(B) Bs@euliu wawr e
©) Q@m LOGRTL LD
D) gwenr Geuliu wewTLebd
Strong hot wind blow during Flay time over the northern and north west parts of India are
called as
(A) Mangoshowers ' (B) Monsoon
Loo ' (D) Katabatic
@QbHwreler auL&E wHmb e CunE LGHula CaraL sTasdla usw Crrsdd eSsb audlemwwrer
QeauliusaTHm Geueurmn @WPssiuBEng)
(A)  wrEpeTre® B) uvmaussTHN
© an ' D) slLrumgé
The sudden streaks of light seen on a starry night is called as
(A) Comet (B) Asteroids
w Meteoroids (D) Dwarf planets

@rey aurafled HieQran gHUGL pafladdm @acunny dmwsstuGHDG
(A)  eaumé plssSrod (B) ©ohCsrdasedr
(C) efiplasdmd (D) @earaCanar



91.  The first man who draw a map with latitude and longitude is

w Ptolgmy (B) Anaximandor

(C)  Alexander ' (D) Erotasthanes

2 W&l Wger Pewns uaruL SHd i ssGsT() Eirs86CanHamen cuebSeuT Wmi?

(A) Lol B) semsalCueri

(C) oQessreTi (D) aCGrrisvgeafen

144. Which among the followmg States is consxdered as first in fully Orgamc State?

(A) Nagaland w Sikkim
(C) Punjab o (D) Hariyana

Spssar . wrflomsaiia g WD @u_umms; o_gi” (orgamc farm) ngmmw wrHlewrs
smHsIU B ng)

(A) - preerbg (B) ﬂ&éllb
(©) ugpsrs - (D) e fluimern



31. Which one of the following statement is correct? :
(A) The UNESCO’s Man and the Biosphere programme (MAB) was established in 1976
(B) The UNESCO’s Man and the Biosphere programme (MAB) was established in 1979
W The UNESCO’s Man and the Biosphere programme (MAB) was_ established in 1977
(D)  The UNESCO’s Man and the Biosphere programme (MAB) was established in 1975

Spsangnb sapmsetier sflwren sapBlenans ser 9. I

(A) 1976 gy e weewGar Hpeuand “weallgaun 2ulis Cararapb e — HLsHmen
2 meunsdlwg)” _ ' ‘

(B) 1979 gy gaw® wenewGar Hpeuend “wallsgib e uwis Camarapn e HiLshomen
2 meunsdwig”

(C) 1977 b e® wenavCan Hmeuand “‘weflisgyb 2uliE Camerapw ey AL sHmen
2 meunsSlwg”

(D) 1975 g el yarevCaer Himpeuend “wafllsgyn 2 uiis G&r'rar@ptb crarp S gHlenen
2 meunsdlwg)” '

32. The Warmest year of the 20t Century.

(A) 1988 _ G 1998

(C) 1978 3 (D) 1968

20 =y1b mImmTeRTy 6t GeuliLiomeT () ergy)?

(A) 1988 (B) 1998
(C) 1978 . (D) 1968
33. In collecting information regarding the movement of army troops and location of atomic
power stations satellites are used )
(A) Resource Satellites M Spy Satellites
(C) Sun —Synchdrous Satellites (D) Stationary Satellites

adfl @rrepeuiisaian FLLM LD wHnD Sgssd Hoownsda s@welhsmas sar_Hbs
saaud QaT(H&Eb Qewunmss Canar.

(A) et Qewpenss Camear

B) 2arey Qewpenss Camer

©) @flumes sninhs Aswhess Camer

D) yfees Aswpmss Caar

\

!


















16.

17.

18.

The ——— river mses from the plabeau of Amarkantak of Malkal Hills of Chhattlsgarh

A) Sharavatl [ o J Nérma‘da y

(C) Tapi . (D) Mahi’

sl e availen yisem_é L Blgidrar ewsme wen&6tal (b 2 (Heun@ D M)
(A smimeud v S B)  prwgr : |
© sud b f= | = (D) wrd

Alluv1al soils have generally a low rmneral content of

M Nltrogen, phosphorus and potash ~

(B)  Iron oxide and mtrogen
(C) 4 Phospilate and potash

(D) . Aluminium, nitrogen and potash

cueiTL & ek, Aunglauns aneu(Hid erbs saflomsamar @ampeaunss Asmam® drarg)?
N 'a)‘r_r,n'_qa:drr, LITeLIpen mg')gjub Qum_L_neig | |
(B) Booy %éﬁsm@u(a LHHID m;bﬁr;geh |

(©)  uravGul wpmid Qum,l_.rraq. |

D) . gm&aﬂlum MBL_FEen mmgm Gun;uraq. .

' The soil derlved from the Deccan trap w1th high mmsture holdmg is, called

(A A]luv1al soil . d‘ Regur soﬂ

(© Redsoil " (D) Laterite'soil

< gasa;rrcm ﬁLQL&uﬁaﬂ@gb@ L&@pg, m;g.gmemm g)rrrm@m e C&meR LoewT

(A e wer ' " (B) Qsit weir

©) ey wer ' (D) syever weir



Match the fo,llow.i‘ngs :

(a)
(b)
(©

(d).

' . (
4
- (B)

©)

(D)

Bird Sanctﬁaries

Gha.na
Ranganthi‘tt'o‘o
: Ved‘apt.ha_ngal
Malapatti
a) .‘ ® . ()
2 1 | 4
3 2 4
4 g 1
: i o 7 ;

State
1. Karnataka
2 Eajasthan
3. ' Andhra Pradesh‘.‘ :

4, 'famil Nadu

3

&Cy QsnrssiLiLeupnen QUTHSSS. W

@

(b)

(c)

(@

(A)

® -

©

(D)

LIMENGUSET FJETTeUWILD

STEHTT

- prasen SIE
GeuLangmiise
IDTEOMLIL_lg
(a) (b) ()
2 1 - 4
3 2 - 4
4 3 1
1 4 2

wrBletd B
1. a;r'r;r;rn_érr
2. @yngevgren :

3. 2 HEy @q@gém

. 4 SO Br(H



20.

- 21,

22,

The onset of the monsoon towards the end of may is in —-———— and ~~———— Islands.

(A)  Over Western ghats and Srilanka p

(B)  Eastern ghats and Malaysia )

w Srilanka and over Andaman-and Nicobar Islands" , .
(D). Lakshadeep Islands « : | ' | )

\ ' . ' )
G rg QoPludler e Eem <, rbi9&E D LGS e WPpsD UDIT BLD.
A)  GohEAsT_iEd mmme‘n@b Qe aa b e Guw

®)  Aie Oprisd wowsed mcm@umﬂg’)@m @enGu

© @a)msmasa;@w OHOID DABHSLOTET ﬂm@s;rrurm 5@4&,@5,@ @ e Cw
(D) GuL.sgs &m&@&@ @ Cu

In which state the ‘Krishi Mahotsav.’ is being organized every year?
Gujarat E (B) Madhya Pradesh
(C)  Uttar Pradesh (D) Jharkhand

GeuGaurm aumL_apb ‘Emadl wGanm 6’ Q&W@LHLDU(BLb wrflen?

A  eyms ‘ | ' B) wadw 1ACaeD
©) osHnICGeen (D) griseTl
Karnataka is the leading producer of ————— for about one-fourth of the total production

of the country in 2006

" (A)  Coal ) , : - - ({:ron ore

(C) Copper ‘ (D) Manganese

20061b yerigéd @EQUJFI’G\S]GOT ;_r,neureﬁlcn 1 v Gmrrﬁg e 2 HUSHG G HABTLS LAFlD
pgeenn ulsHlamg). ' _ | |

@A) Poss B @by s : b

(C) Qaibyy _ i ' (D) wrigeaflay



82. - Which of the folldwing factors not in favour of rapid. Industrialisation as mean to fast

economic developmerit
(A)  Productivity of labour .
(B) Emp'loyment generation

. (C) Mobilisation of surplus

7 (M Industrial licensing

5(259 Qan@&sﬂuﬁ@dwm sfs Qu‘rrqpmrrg,»rrq de'rcwﬁ)ﬁ)@ élmLUJ qrjm@@g,tjull;t_ sryefsaile, ahs
@@ 5nqmﬂ.gﬁlg, ABMPDDWIDTES SQIHES LITSEOTE as'm;ng]?_ |

A) | Qsmperearisaficn 2 HubS) | |

(B) Gmmm'mnuhuqé_@mné;@m@

©  F8 @b gopay

D) QGsmPiéefhon

83. The U_jw-al Discom Assurance Yojaﬁa 18 rel;'zlte d.‘to
) Agricultural debt releif
(B) Subsidy.to industrial establishments
(C) Govt. of India to téke over the debt of power distribution companies

‘ \M State governments to take over the debt of power distribution companies

2 EHeUMED E@dua;mb DAV UL T ERTED G@nggwn ;ﬂ'éﬂug] @g@mn@ Qsm_i el wg) -
(A) . Ceuarmenr SLa BET(EHLIlg | I |
(B) Qg;rrg@é) 1Bl D6 @RI &5 (@ 8 16T mqafﬂﬂ.u.b

| (©) _ uS]ar a'i]asﬂ(?@na; ﬂywmrﬁ:&;aﬂdr SL_enar @Qm am.qmmmm@m'

(D) e NefCuins Fneuamisaiien s_emar wrEle sraser gHH&EQaTET(ERs0



100.

Whlch of the following objects does not belong to the solar system”
(A) Comets £ ‘ Nebulae
(0)  Asteroids . (D) Planets

&@&&n@gm th@l_a,aﬂa) @ fwé @@muga)g qung,@ Gr@?

(A)  ameplepdlymser “(B) qua)naaa;m

" (0) Newrspsear - . (D) Carawser

The green house gases _ o
\(f Absorb and feemit IR radiations partially towards earth
(B) Only absotb. I'R'z_'adiation and does not emit - '

(C) Only emit IR radiation towa-rds earth |

(D)  Reflect the IR radiation

LFms GSL@ mnuasassn GTeLIEal

(A) . =18 Hauy &é,]rrasa)m o Hlgpd aq@a) QPreTey g,uSlmtu Gpnaseﬂ Qmaﬂuﬂ@ml

(B) =isflaiiy sismar ammmsuﬂ Qmaﬂuﬁh_rrgj

. ©)  @sflay sdismer Lol_@u) yeilenws Gp‘,na;éﬁl Q&@]ggu.o

(D) - @isflainy a@n&mm tﬂu@uoﬂ&@m



113.  Rejection is not occurs, when tissues or organs are transplanted from

1; Same individual

2. . Identical twins

3. Two different specieé

(A) 1alone B) 2 alone

d, 1and 2 . (D) 3alone

85 sidag 2 nuy wLIHHL AEUHGCUTE FaUMSLTEMUSMET FHMSAHTETERLD.
1L @CreWfargde @mbs Gf@é;&ﬁu@tb@unlg

2. @rieLuw ﬁ'&iﬁﬂl_‘L&@}_'T)gl T H&ELCUTE

3. QmCaumuiu L o_uﬁlﬁ]mrélaaﬂoﬂ@;bgj Gf@é;@ib@ung{

@) . 1wcpoeh | B) 2w @b

© 1loppd2ef . D) 3 wl@wsf

114. An Ecosystem means
(A) Biotic communit'fy‘ '

M Biotic community and its non-living things = -

(C)- Non-living things |

(D) Population

BLPA LOGRTL QLD GTEILg)

A) a_u.‘il@shen@beu

B)  amfl g o drar o Wmetereneu m;bgﬂb 2 Wifelser
(©  sOfdmer '

D) . QesEsesdr

4



|1 1'5,

116.

117.

thch among the followmg atmosphenc layer is most 1mportant for all biological act1v1tv‘7

(A) Stratosphere ' M Troposphere
(C)  Mesosphere - (D) Jonosphere

lﬁdrm@mérmgbgudr & cuatinaLa Bi(H&E eroan o 9flen QrwueuTH&ERH&HED sTyeTLTEIS)?
(4) evCgrGumeviQui . : B) LCyrGurenQuwi
(C) BCsrevi@uwim 2 : . (D) SwCarmevi@ui

Find the following statement is not correct-based on the geological t1me scale

M Cambrian 1 & Chlna

Carboniferous - Dominance of carbon
(C) Eocene - Daybreak

D) Holocene - Complete

“yeflsre 2L auemanlul - Qerestiul_Berer or saplul(Heter HMHbE 2 amanoulaame

(A Gswuflwen - ewgen
B) smCGurafl@ugev — 28ls cg;qmsq SIMTLGH LlgLOWD |
(©  wCunélén - prarOfgse
- Dy apCeréen S PP . |

Which of the following is not associated with river capture?

(A) k;eheaded stream M oxbow lake
(C) wind gap ' ~ (D) water..gap

ﬁmm@mmmmgm g HOmS &QJITGQJH@ AL ugd®?

(A) Gmso @@L ; (B)" gy @emby gl

. (O smHm Qe Ceuat - (D) B Qe Ceuafl



118. Swampy forests are found in ,
' ( River Estuaries (B) Coastlines
(6 Inlands . _wmw T (D) Rivers

st Hlevd sTHSET Siemoujb UGS waie - A
(A) %ﬁ)y'@aggmnqm L@GSser ' - (B). 'sLpEmrCUIMT LGS s6

©€)  odmn (B u@@a;m D) <

119, Match the followings : -

Natural Vegetation | , . Tree
‘(a) Tropical évergreen forest o - Teak
(b) Tropical deciduous forest. 2 Acacia
(c) Desert vegetation © 3. Sundri
(d) ' Tidal §/egetétion Ay Rbsewodd
@ B © @
4 i - 8 3
® 2 3 4 1
© 8 2. 4 1
® 3 4 1 2
&G Qg;n@éssnf_luLl_QJg')smg) QurmEss.
QuiIDensS SMeu Tk G6T o - T |
(2) SIWe LERTL G LISELDLDNDITE as‘rr@esc'rT" 1 | CoéE
(b) e e (@emm;_@r'r ST(HSET 2. =6Csflur
(c) unmcvsumgglrrsuiﬂéla‘;ch.' . ' 3.. apafl .
(d) 55 greugmsaer g " -

Grmeveyl

L@ b © @
@)

4 « 1 2 3 \
" (B) 2 3 4 1.
© - & 2 4 1
™ 3 4 1 2



¥20. Match the followings :

(a) Winter season .. Mid SeptemberlNOQember .

1.

(b) - Summer seasdn 2. June-Septémber '
(¢) The Soufh—West monsoon éeason 3. : Nove;nber-l'\iarch
(d) The North-East monsoon season 4. Maréh-J une

@ ® ©. @
a4 3 1 4 2
B 2 3 4 1
© 4 3. 2 1

» ' M 3 -. 4 - 2 1
&Gy @sn@smuu__;u b QLR
b  aicswests | i shbuGsubspeid
(B Gaualp sreid 2 gOarQshiibui

(0 QzsaCGunE Ume STHM a;ﬁcmb 3. BeULDUIT-LOMT&
(d) e‘uuﬂg'gé;@ Lheu STHm) sTab 4. Lomré-g3 O

@  ® © @

A 3 1 4 2
‘®) 2 3 .. 4 1
© 4 3 2 1 -
® 3 . 4 2 L

121. The average annual v‘aria.bility of _rainfall in Mawsynrom and Cherrapunji is

(A) 100 cm ' | . (B) 150cm

o @f' 200 cm o (D) 50cm -

WreflenCymb wpmb AyiyEsd sl @Uriisefian cg,du‘r@é aynefl ey Qumelen sierey
- (A)  100Qs.8 : (B) 150Qs.8 .
© 200 @s.8 S (D) 50 Q8.1

-



s

122.  Consider the following pairs :

Anniversaries ~ Days
1. National youth day - January 12°
2. Army day o L Januai‘y 15
3. National Tourism day - January 02

Whlch of the palrs given above is/are incorrectly matched"

(A) 1only . : ' 1 and 2 only -

© -L,2&ad8 , . i Maonly

SpésaTL Qenaaamen &(HSH Qaners.

au@mLTHET e ol ~ Bmer .
1. Csflu @eegiprer -  garaifl 12
2. | @nremicu Hebd T - geneufl 15
3. Gg,ﬁ@ &HpeOTSenid ~  genaufl 02
Glhg')sn@u_x Qavarraafla Foupns Qurmbgieus) oTs? - )
{A) 1wlep ® 1 mgpggm2 . Hib
© 1,2wpmb3 . D 3 u>L.®u>

123. Which one of the followmg are inner planets of the solar system?
(A) . Planets between the sun and the earth
Planets between the sun and the jupiter
© | Planets in gaseous state

(D)  Planets without satellite
. :
&fw GRBUSHen 2 draramiohs G&ndwseh 6T sreaTuu(RElenmeo?
@) lugiéeb, WBléEh et (Ul L Candraet |
B)  Glugsewb, durpesen G ulare Carasar
©) " amy feveulgéaer Cardser . .
D)  moewsGsrer Ho CameTaeT

'



“Southerly trades on crossing the equator are deflected to the right” is proposed by the
(A) Humbolt law
(B)  Buy Ballot’s law
Ferrel's law
(D) Newton’s law
Qgen wrurgs asrHm yeluler CemieL sLpsbar uag ypwrs deds Gsodpg cra'siucng
gaHluyerar el
(A)  apwGumral eilg
(B) eu CGuel ald
(C) S Quyeen a9
(D)  Huwereilg



! 8

8.

Subtropical Dry summer climate is otherwise known as

M Medlterranean climate

(B) China type climate-
(C) Taiga climate
(D)  Tundra climate

2 U Sjwen aupartL. GarenL umeu sraflane @edieunmb SimwsstuBing

A)  wsHw s stwblan
(B) asanm srewflenew
(C) evLsrsrablaw

(D) gy sroflae

Thé diameter of the milky way galaxy is about
\M 105 light years

(B)  10% light years

(C) 108 light years

(D) 109 light years

ure@euarfl aaim_wd; efl_L1b &wmi
A)  10° gefl yarBaer
(B) 103 Qaﬂ <},600T (D& eiT
(C) 108 afl gy ar(Haer
D)  10° gafl e aer

gafl gy am@aarm@wb.

The headquarter of the world meteorological centre is at

. (A) Tokyo (B)

New york

M Geneva (D) Moscow

2 5 aunaflene TmiuEs ewwsHen FHLMWWEHID SMHEETar @)L LD

(A) CursdCum (B)

Blyywiris

(C) Qgafeur - (D) wrewCar

light years.

- e~



Match the following and choose the correct answer.
‘ Railway zones Date of formation
(a) North eastern zone 1 5-11-1951
(b) Eastern zone 2. 15-01-1958
(¢) Western zone . 3. 01-08-1955
(d) North eastern frontier 4. 14-04-1952

(b) (c) (d)

% (:)

3 1 2
®B) 3 2 1 1
© 2 1 3 4
D) 1 2 1 3
Spseam_aupenn Qurmsd, sflurer uflae Caibos0H&s.
@ruleCeu wewrL_cmbiger 2 (meunsslulL G
(a) euL s warr_ew 1.  5-11-1951
(b))  HysE waTLwn 2. . 15-01-1958
() CumneE wearr_eow 3. 01-08-1955
(d) euLflpsE ardvene weawrLew 4. 14-04-1952
(a) (b) () (d)
A 4 3 1 2
B) 3 2 4 1
©C 2 1 3 4
D) -1 2 4 3

The region which consists of about 90% iron ore reserves of India is
(A) « Ranchi
(B) Sambhalpur

w7 Cuttack:

(D) Purulia

QpdHu QoY sre @@L st 90 sgeissmss daran(Barer LGS
&) grepdl

(B) sbuayr

©) sl

D) ymeSwr



14.

15.

16.

Consider following statements :

s [F 21 June — Summer solstices more radiation received by northern
hemisphere

2. 23 September — Autumn equinox not equal radiation in both hemisphere

3. 22 December — Winter solstice more radiation received by southern hemisphere

Select the correct answer using the code given below : '

(A) 1land2 ‘M 1and 3

(C) 2and3 ; (D) 1,2and3

Gemmau(mID samhlenes 5@§,§w Qsmers :

s 21 e99en - auL_Garersdlen iflswrer QeuiuBlene QupliuGEmsy.

2. 23 Qslbur - LTSLD FLoLOTEn erelled UL wHMID Ggen FHmeumsata Qeuliuflame

@muudlaame.

3. 22 g&wur - @l srawsda Qger gmeud SiHs QautiuBlere Qumidngy.

&Cy Qar®asliulBerer GHuiHaatler Qmpg sflwrear ellan_mw CaibAs5H :

(A  1wombd?2 ; B) 1wpmpw3

©) 2wHmpb3 D) 1,2 wHmw3

How many seismic zones grouped in India?

4 ®) 5
©) -

6 D) 8

@pHurelen Lell ifite, AT QRS eTH5@en?
et = ®) 5
©) 6 . D)

Sabarmathi river flowing states
W‘ Madhya Pradesh Rajasthan and Gujarat
(B)  Gujarat and Rajasthan

(C) Madhya Pradesh and Bihar

(D) Maharastra and Jharkand

sUMDS M LMD wrHleRIGET ereneu?
(A)  wsHu GgCseb, Grrgevgren LHHID GRITS

(B) @grrs whmid Grrgevgmes
©C) wsHuw AyCssbd HMID SETT
(D)  wanyregQ T LHOID WITEEETL
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18.

With reference to black soil, consider the following statements :

1. Itis generally clayey, deep and impermeable.

2. They swell and become sticky when wet and shrink when dried.
3. It retains the moisture for a very long time.

Which of the above statements is/are correct?

(A) 1lonly (B) 1and 2only

(C) 3only M 1,2and 3

&MU weer AgTLiTuns, Sip QsTHes0uL AgTE@UUSMmET 1pigay Qg :
fr Qurgieuns saflwer gearenw, gypwrear wHmb B sLsdelln saneno Qareamg).
2. FrweLWw Qurpg e Luerseb, 2.mb Qurpg smmduyb sreriiu@Bw.
3. % enenen Bawr sTsHNE 568 meubgs AsmaT@Eyib.
CuGa AsT&sLILLL QarEUlde erg/rencu@uidemd sflwreneneu?

(A) 1lwi@w ¢ (B) 1wpgw 2w @B
© 3wl D) 1,2 wHmib3

Different types of vegetation is found in different parts of India — due to
(A) Topography

M Unéqual distribution of Rainfall and Temperature
(€C) Soil

(D) Temperature and soil

uCaum euamawren greurmser, @bHwredler uwCeup uGHaafer mwhHgieTaTen &S STT@TD
@) @@

(B) Gauduflena wpmbd wenyp@umflehlen swwhm Ligeue

(C) wer

(D) GQatuflenew wHOD ek






116.

117.

118.

Which type of Forests grows well in a area receiving rainfall exceeds 250 cm, and
temperature is 25°C to 27°C?

(A)  Tropical Semi — Evergreen Forest

Tropical Wet — Evergreen Forest
(C)  Tropical Moist D_eciduous Forest
(D)  Dry Tropical Forests

250 Q&.15. @ Fswna wery Aurley wpmbd 25° C apsa 27°C aweny Qautiub 2 drer ugHsafld
ereieuend &m(hser sranriiu B dlermen?

(A)  jwen wawrL@ un@ LSOO LDTMTE ST(H&ET

(B) A SIWe T FIUUSES L&G®W WIDTE &TH&ET

(C) wear v FTUUSHESs @amaudi &n@eﬁdr

D)  eumeiTL. jwen T STHSET

1. Project Tiger is a Tiger conservation scheme
2. It was launched on 1 April 1983.
3. 27 Tiger Reserves have been setup in 17 states under this scheme.

Which of the statements given above is/are correct?
(A)  1only . 7 1and3
(C) 1,2and3 , (D) 2and3

1. LgTREL e ai erarug) Lallsear ungsribnsns ghussiul L S L rEb.

2. @S L gugd 1, 1983 & gpuBssuuLg.

3. Qs L sdemmer 27 Lallaser ungismiugnd 17 wrfleomsalle ghu@ssiulHererg).
Cup@Hubuul ereraunmer ergy/ ereneu sflwnareneu?

Ad) 1wl@b B) 1wHmpon3

©) 1.2vhmpw3 D) 2womb3

Which type of rainfall is closely associated with Equatorial Region?
(A) ©  Orographic rainfall (B) Frontal or cyclonic rainfall
w Convectional rainfall . (D) Monsoon rainfall

wwsHw ugHulled QumBluy wenullen cums
(A) e gL e (B)  aafigpps sdeg yuo way
(C) Geaudusear wenip (D)  umais sty wenp



21.

Golden Quadrilateral distance between Chennai and Kolkatta is

1684 Km (B) 1453 Km
(C) 1290 Km (D) 1419 Km
Qeenenen — Aamisssn G Cuwner mis prHarF sreneullen ITb ereucueney?
(A) 1684 4.8. (B) 1453 4.5
(C) 1290 &.8. (D) 1419 4.8

When did the Prime Minister of India inaugurate the country’s longest rail-cum-road bridge
built over the Brahmaputra river at Bogibeel near Dibrugarh in Assam?

(A)  On November 25, 2018 J On December 25, 2018
(C)  On December 10, 2018 (D) On November 10, 2018

Qybwysgr Cod eder priger s fare gulld wHYL sFrawssTean une)m Sevenmble
HOmaniay smégiarer CurgdiSe ereénp QLsHd @pHw Grswoi aQurpg Opm id eagsri?
(A)  peubuir 25,2018 : (B) wgabur25,2018

(C) w&wbuir10,2018 i (D) peubuir 10, 2018



159. Which of the following is not correct? -
m Tamilnadu produces about 20% of total sugar in India
(B) At present Tamilnadu has 42 sugar mills
(C) A majority of sugar units in Tamilnadu are fuﬁctioning under the co-operative system

(D)  Jaggery, Kardasari and Sugar are products from the sugar industry

Qenaumb sapmsafler geupreng erg)?

A) @pdurellen 20% srssamy 2-HLSH SOPHT KO 2 HusHuTdns)

(B) g@@gnn'_@d) WIS 42 FTEEMT ,OWSET 2_6TeTe

(C) srésmr Yyomwsar sl (Hney FusmSTTO BLSUUOEDS

D) Qeudewn, shear(, siaswr pduma smLAS®HHSE HoLsE0 2 Husd Qurmer

’

160. The Forests Conservation Act was passed in the year
(A) 1970 ) (B) 1975

M 1980 (D) 1990

QUATUUINGISTULE UL gHU(SSULLL eT(H
(A 1970 (B) 1975
(C) 1980 , (D) 1990

161. Cost efficient and most popular mode of transport in our country is
(A) Airways
Roadways
(C) Waterways
(D)  Railways

B BTG GaDHS QFwe; LHMID @aturTEID LwaTuBS5LUG L CunaGeauTsg

(A) cumesau
(B) sreaaf
(C) Brauf

(D) @rle Curs@eaurss












48.  Which is called ‘Red Planet’ of Solar System?

(4) Earth - 7 Mars

(C)  Jupiter (D) Saturn
G&fw wear_egdlern ‘Heuliy Sysn’ erar J@WESILIHG Grg,l?
A  yun (B) Qecueumi
©) eSwumpen _ D) saf

46. Which one of the following National Highways connects Delhi and Lucknow?
(A) NH7 (B) NH 12

& NH 24 (D) NH 40
Geeumid Cadlw Q@ Eraramasafian 4 oellawub sGamameu|b @emeariiLg) 6rg)?
(A) NH7 (B) NH 12
(C) NH24 (D) NH 40






If you place your hand underneath but not touching a kettle of hot water you mainly feel the
presence of heat from

(A) Conduction

Convection

M Radiation

(D) Internal energy

GLren B 2 erer ung@ugélem 2lgulle) gmen AT emsmw meus@Eh Curg), Qeuliusms o awry
SMIERTLD

(A) GQeulu sL_gge
B) Qeuliu sewentd

(C) Qeulu sHieise

D) =5 HOO

Which of the following is an example of mid-latitude desert?
(A) Sahara desert
(B)  Arabian desert

(C) Thar desert

\M Patagonian desert

&Gy Qar(BastuHearer uramaauammseie wHu s Crams LTmOEUID 6T8?

(A)  s&TIT LUTENEEUETLD
B) <Crwuen uremeeueLD
(©C) st uTe@uEID

(D)  QuiLCasreflwen LITemeaeUETLD



73.

Al

Match the types from List - A with their occupatiohs from List - B
List A . List B
(Types) ' (Occupations)
(a) Primary 1 Research
(b) Secondary 2 Telecommunications
(¢) Tertiary 3. Hunting .
(d) Quaternary 4 Transforming clothing from cotton
Codes :
(a) (b) (c) (d)
A 3 2 4 1
97 3 4 2 1
© 4 3 1 2
D) 4 1 2 3
UL iqwed A g uligwed B 2 Lar Quimsd), §Cyp Qsr@asiiuc Herer gRluGamens Asream( sfwiman
cllenLenws Carb0sH
uliguwe A ulgwe B
(euen&aaT) : (Qsmflersar)
(a) s Hlevag Qsmea 1. omi&s
(b) @uam_mb flewaws Qsmfle 2.  AsTeavestsmiy
(©  epapmd flewews Qgmifler 3. Caulemwr(Hge
(d) mrenamd Havws Qsmad 4. umsHINHHS L swrilssd
(Gl CERY
(a) (b) (© (d)
A 3 2 4 1
B) 3 4 2 1
©) 4 3 1 2
(D) 4 1 2 3
27 DGS9



85.

86.

87.

1

Guru Ram Singh'’s disciples were called as

\V Kookas . (B) Namdharis
(C) Sandelas ' (D) Panis

& Trbdmdlen FLraar eTeuaumm DePHSHILILLGIT?
A) @ssmav ' (B) mmbgmflen
(C)  smanCGLevfr ‘ D) urenflen

Khonds were the tribal people of

(A) Bihar - M Orissa

(C) Bengal (D) Assam

Garawm(Haer eThs @)L SMSE SMTHS ULPMEIG. @6 ESET
A)  Semr ' (B) eqfler

(C) eurusmerd D) evevmd

Highest peak in South Indian Peninsula

(A) Palaghat pass & %{ The Anaimudi
(C) Doddabetta - (D) - Karle
Qgerafllblw SusHusHen & 2 wiTHS W HsTo CTETLISTGLD.
A) uressT() saeuml (B) <ymeanupy
(C) Qsmic Quiia (D) &mCev
33 DGS/19

[Turn over



90.

91.

93.

1

Which of the following hills connect eastern and western Ghats?

(A)  Aravalli (B) Vindhya
W Nilgiri : (D) Satpura
Wetreu(meuameupmier &pé@E wHmib CopE wawg Qs iFélamer GamasEb GL b g ?
A)  greua (B) eflndw wene
C) pedif (D)  ensugm

Which one from the following Southern railway divisions was disestablished?

(A)  Palakkad x7” Coimbatore
(C)  Tiruchirappalli (D) Salem

lﬂldrm@lb Qsn@E @ruieCeu Carl_Lmisafld smassliul_Lg) erg)?

A)  uresst@H (B) Casmwubysgnr
© SHmsdgmiueref (D) Gseod
Pichavaram has type of forest.
(A) wet evergreen forest (B) moist deciduous forest
y mangrove forest (D) subalpine forest
Wésmeursled UM &T(HNSET 2_eTemen
(A)  mrOusew STHSET (B) rrorer @aewydit sriHaer
©) smuy HosstHser (D) ca@med srpaser
35 DGS/19

[Turn over















6.'. Which is the first federal foray into water pollution?
~ M Federal Water Pollution Cont;'ol Act of 1948
~ (B) Federal Act of India 1960
(C) Federal Water Ac§ 1945
(D)  Federal Act of 1950

eranug) Bt rsELT g6 (PS5 sal LwUILITELD.
(A) 1948-a wsHw Bif wrs s EUUTLE &b

(B)  1960-6 @pHuirellen wsHw e Li>

(C)  1945-en @nHwirelen Hir &L 1b

(D)  1950-éi wsHw &L 1b















89.

90.

91.

Who .put an end the Dual system of administration setup by Robert Clive?
M Warren Hastings (B) Lord Wellesley

(C) Lord Cornwallis (D) Lord Hastings

gruil. Slevereure Aaram® curiul L QT L 28 pepeaw 1piyaysE AsTam () eubgeur wmit?

(A) = eumpen Camevig e ‘(B) Qaucvaveved Gyy

(C) smyemeuradev Gy (D) Canevigmev Wiy

‘Mudumalai Wildlife Sanctuary’ is located in

(A) Rajasthan (B) Sikkim
W Tamilnadu (D) Bihar

(WPSIDEQ UGS QUIEIGEET FTeRTTOWLD SIDWDHFETET @)D

(A)  @umegevgmen (B) &sdw

©C) slpprE ~ (D) Samni

The Wild Ass Sanctuary lies in

(A) Assam (B) Gujarat
(C) Maharashtra y Tamilnadu

ST H(HMG STERTTOWILD 6TMRIE) DIEMLOHSIETETS)?
(A)  &evenmbd B) ©GgIs
(©) wsmyrevgHT D) s8psrH

92. y‘ of the following ‘Tiger Reserve’ is located in North India?

Dudwa (B) Bhadra
(C) Kalakad (D) Bandipur

- SpaumeuaaupmieT euL @pSHwreder siewpgiater ‘Lelladr sTULSD’ e ?

@) g ®) . uggr
(C) sasar(® D)  updHoyr

TNDpoConita o4



93.  Which one of the following was the purpose of project elephant?
(A) Tokill elephants .
(B) To put elephant in the zoo
W To protect elephant from illegal hunting

(D) To put elephants in the island

S1ps@ETLuUDIIET CTHHSTS WNeeanseT LUTSTUL S LD gHuBSsuuLg?
(A)  wrenansemer Qa;rr;bmgg')@

B) wremasar cuamellen@ FraTTROWSHD LS50

(C) wreasmer GaulamLwrHeuded(mbg LUTEISTSSH

D)  wremasmar Saysafldr mLSHO

94.  According to Fluid-Mosaic model, Plasma membrane is made of
(A)  Cellulose and hemicellulose
(B)  Phospholipids and hemicellulose
(C) Phospholipids and intrinsic proteins

\W Phospholipids, intrinsic and extrinsic proteins

Sreu-Quorenss wrdflulier Lig., DeTTeLLT FEUEUTEIS ————D HATF).
(A) QsagGarev wHmib GandlGgdgGaoren

B)  uravCGurellL Hser wHmib GandlbadgGaoray

(C)  urevCGurelG(HaeT Hmd aehc;mr’rfr’r,g YOS mIgeT

D) urevCureL Baer, edramibs Lysmasar whmb Qeuefliuymly yrsmser












17

18.

19.

The ulcer is mostly due to infections by a bacterium called

M Helicobacter pylori
(B)  Strepto cocci

(C)  Staphylo cocci

(D)  Mycobacterium tuberculae

Qumburgyd GLe yem Carenm sryarromen Unéteflwb
A)  QanadlsCasrGuaLit epuGemdl

B) @G sréms

(C) wQLemuCor sréms

(D)  ewsCsrurseflub wuurr GGarsen

The surface temperature of the sun is
(A)  2000°C M 6000°C

(C)  15000°C (D) 15000000°C

- @fwafer Gupuriy Qaiuflew

(A)  2000°C (B) 6000°C
(C) 15000°C (D) 15000000°C

The winds that blow from a particular direction throughout the year aré known as the

M planetary winds

(B) monsoon winds
(C) trade winds
(D) polar winds

<@ appeugid @@ GO L Hasmw Crrédl eSab sTHmIFmET cTeuauTD SimPSSaTCOTD -
(A)  Gsner smpgser .

B) umeus sTHmEET

©) Awrungs sTHmSET

D) smussTOHISET






Match the following:

(a) Radio active waste 1. Incineration
(b)  Bio medical waste 2.  Land fills
(¢) - Cyanide waste 3.  Surface impoundment
(d) Small amount of chemical waste 4. Bioremediation
@ b  © @
»/ 2 1 4 3
B) 3 2 1 4
©C) 4 3 2 1
(D) 1 4 3 2
Qumrms o
(@) s eiés siPley 1.  afigg smbuTEs®
(b) wmsgIu sy 2. Hegddo Hlruyse
(© @sweaan® sy 3.  Cuihurlleé apyamaussd
(d) Aabgereunear Coudw sfley 4. 2.9Aws Siey

(a) (b) (©) (d)

A) 2 1 4 3
B3 . 2 1 4
©) 4 3 2 1
D) 1 4 3 2

First aid to be given to an electucated person with cardiac arrest
(A) External cardiac compression massage
(B) Mouth to mouth resuscitation
(C) Cardio.— pulmonary resuscitation
All of the above

Wensny sra@soned Qswusgigly Hlam AL emames Cupbararer Cauamrngw o Lang HHsms
L '

A)  2Lequrs wriyd ugduile QswusdHne Cud 2 wWss Ymesd
(B)  aumer Cuod euml emeugg) seurss srer o Galigd

©€) @sw - meyuined Qewed grem &

(D) Cupsmplu smarsgin

27 ~ TAGS/19



69.

71

Who had developed the central place theory?
(A) Thamos Robert Malthus (B) Vanthunan
M Walter Christaller (D) Webar

aww @L&sCamum e sdlapstiu@sHlueui wri?
(A)  smwev @rTU WLTOKE (B) eumengnenren

(C) aumaLr fflevmeor D) Qeuur

Which one of the following mountain system is oldest?

(A) Siwalik Range M Aravalli Range
(C) Western Ghats (D) Vindhya Range

GemeumeuatauHmiET erg) LG LIPEnDWITET LeaGESmL_i?
(A) Heaureds wenewd ngﬁr (B) <yreuel werwsasmir
(©C) Cune Asritdé weaaer D) &ndu weaser

The third éxpansion of population growth was stimulated by the
(A) * White revolution

M Scientific and Industrial revolution

(©) ‘ Blue revolution

(D)  Green revolution

pPSIMTEUS) APEDHUINS 6Thg LT Slulen grearHsellanme waser dgrens AumEuwig)
(&) Qevsimanio Ly |

B)  <ofefwed Agmflé i ul Lyl é

©) Bedygld

(D)  usmwLYTLE



94. How many members are nominated for Rajya Sabha?
(A) -10 B) 11

O 12 D) 13

prew sunedln@ @gsstiul L ufibgmrssuudn 2 puGanisd absmean?
A 10 (B) 11
© 12 (D) 13

95.  Who Launched the Joint polar satellite system—I?

(I) NASA
(II) NOAA
(I11)  ISRO

(IV) ASRC

Choose the correct answer from the following

(A)  (I) and (III) only ‘\ﬂ((l) and (II) only

(C)  (III) only (D) (1I), (II) and (IV) only

saL® gmeu QawnamaCardr emwiy - I (Joint polar satellite system-I) erennm eflamssms
geflwig wmri?

D NASA

(I) NOAA

(II1) ISRO

(IV) ASRC

A ;b I wi G | B (D oigs:-aD wip

© (D) we @b D) (1), (1) wpg> (V) e G

96. Which,is called as ‘ Blue Planet’ of solar system?
’ Earth (B) Mars
(C)  Jupiter (D) Saturn

&flw war_wgder ‘Be fysn’ e D@PsEILHMG 678 ?
A w (B) Qscueumi
C)  eQwmpenr (D) safl



https://t.me/tnpscfree

https://t.me/sasiclasses



70.

Match Lisk I with Liat 11 and seleot the correct answer using the codes given below :
i . : .

wiigued I g vlwwe II eien Gumpgd sfwuren EEH‘FL._-H‘.II.LI' £Cyp  QsrEasiuc [Bedrar

List I
Passes
(8) Zojila 1.
&) Jelep La 2,
. le) Ham,npms . 3.
(d Shipki La 1
@ ® © @
(A 3 12 4
B 1 3 4 2
o s 4
I 1 4 2 a
sGsatdmhg CHpAsHEs.
L igaen 1
mmﬁ
(@) Gongd aom 1
(b) Qe @ 2.
(e IO Loy 3
@ ofodan 4
@ m @ @
(A 3 1 .2 4
® 1 3 4 2
© 3 1 4 2
™ 1 4 2 3

List 11

State

Sikkim

Himachal Pradesh
Jammu and Kashmir

Uttarakhand

L wgwee IT

imflsols

- Hladn

@Ehondea GrGgen
Rb (P DB SeigeSir

= SErsnaim -



Tl:

73.

T4

Match List I with List IT and select the correct answer ueing the codes given below
List [-Cyelones List II-Countries :
(a) Baguio -+ 1L Australia
(b} Typhoons . © 2. Japan
()  Willy Willis 3. Philippines
{d) Taifu 4. China
(a) {b) {e) (d)
@O 3 4 2
B) 4 2 3 1
G 2 4 1 3
™ 1 2 " 3
L g e I-t.n_@’l L wed TT-go Gun{gmﬂ Eﬂp o girer ﬂ;n@uﬂaﬁw shwmren efleoLanu Gaia
QedE: o .
L g e I-@prramﬁ Ut TT-mm Gt
(2) . GusSCGur L yewdCrefiwr
() enlien 2. gllner _ -,
(o) eHadl clidballcy 3, Al HenLdeiy
{dy  eniiy 4.  Fem
{a) ) (e) (d)
(&) 3 4 1 2
By 4 2 3 1
cy 2 4 1 3
o 1 2 4 3
Maha};alq treaty on sharing river water is between
(A)  India - Bangladesh
(B} _ India -~ Bhutan
India — Nepal )
(I India - China
<50 Iﬁm‘ wllife Camadngnh e asrrs‘fl o 1 aim ig. e s @msﬁ]@ Br@swssfen_Cuusmeg?
Ay @pflur - awbisCaan -
(B)  @nfur- g ree
(©)  @iflur- Cponemb ‘ _ _
I @b - S g
:dﬂdntlﬁv the sate whose population density is higher ti:wn the average Pﬂpﬂlﬂmn danut.v of
ndia
M Gos . } - B -Maharastra

fl?.‘] Gd.i'sha (D Madhya Pradesh _

@) p s syred Ao m_igs Flenu. Eml._ Sifls whsan_igd QunanL wnflosmg S wtarD srars,
(A)  Gateur B warpraipgm
©) e : @ wsdu GyGssb



75.  The 2011 populdtion census of Indis is the
(A) 12" census
(B) _ 13% census
15 census
(D} - 16% census

(A 12-ay serallsioy
(B 13-ag mﬂs@lﬁq
(©  15-aug serslapoy
D) 16-qug) sems@a@in

%3, India's longest road Eri‘dge connects
A Assam to Arunachal Pradesh
(B}  Assam to Sikkim
{(Cy  Assam to Megalaya
(Iy  Assam to Kolkatta

Bidureiidn 2011 -gyb a6 sl Apnens SaTEAEGLY

— statetn ————— state.

-

B bflwureilen Eonomen srena Linaib e omfensamer e dng

(A  sEuennd - symewrscs ApGeed
B sisvovmid - Baki
(Cy  .sydeeumb — Guosmeswn

(I - eysveumib — deTdsssn

116, Who is asgociated with ‘Blue water policy™?
(4)  Albuquerque (B)

W Almeida o

“hes fird G?.ndrmu{.#r'.' Qgmiryeo e r wmi?

(A)  mdhyasia ' (B)

©  s@@sinn o

Pedro Alvarez Cabral
Nova

GGy agesauirsn Calipes
Crreur .



175.  Match the following and choose the correct answer ©
Pressure belts : Temperature and moisture

{a) Eguatorial low pressure belt 1. Hot and dry
(53] Sub-tl‘ﬂpiﬂil] high pressure belt 2. Hot and wet
{c} Sub-polar low pressure belt 3. Cold and dry
~(d} Polar high pressure belt 4.  Cold and wet
fay -~ (B - (e (d)
(A} 2 1 3 4
® 1 2 4 3
2 1 4 3
™) -4 2 1 3
Spsam_supeanm € unmad silwman eflay_mw CaimEs
sual cip s e arEIseT Qauditiapib m]uuﬂlpm

(a) wosdlu CGrons srpanygss werLan 1. Wess Qaudiuapb auplfub !_m_l.r_lﬂ
b))  =uU mwen s Spds s b 2. Beis Gaiugpb Frlusaph 2 mrug

S U gieu g eu(gds WET oD 3. Jdssgafimb ﬂ.!;pl'_.é'lul.li: aene g
(dy  mmes ewfeuggds wasea b 4. @aflgph Frluganh e an g
{a) b {e) (d)
a 2 1 3 4
B 1 2 4 3
(cy 2 1 4 3
o) 4 2 1 3

176, Which uftha following is not a scale for expressing the intensity of earthquake'?
(A) Ricter scale
{(B) Rossi-Forel scale
{C)  Japan metecrological agency scale
‘M Martin Lander scale

L

WMQ# el irefien Mgﬁmp e sans Heneal erg?
KA FEur ayememan .

By ﬁl}‘ﬂﬂ?ﬂﬂ—-‘&;rﬂq&: HETENE
(C)  goumgn surefla Bgravan sraenay
() meﬂru’ramm

177. Which of the following is not a composite race of Cancasoid?

(A) . Alpine

(B) Armenod

(C)  Dinaric
Malanesian

ﬁwmn_wﬁggm argsmmif Fengsa il ¢ Sl g amiD qﬂm.'ll'l':ﬁﬁl ag?

(&) asdeud
(B) mymflefu _
(C)  donni '

(D) wratadu



178. The term ‘Guyot’ is associated -;arith

{A) . Earthquake ) "
W Volcano '
(C}  Glacier
(@) Wind
‘sCwn egnb smasbsrd . — e Qﬁﬂl-m-lﬂll_luﬁ
@ ysdudiey |
B aflnas
ACY  ueflwmy _
Iy snpp : . .

-179. On what basis Immanuel Kant proposed his hypothesis on origin of earth?
{A)  Nova hypothesis ’ '
(B) Tidal theories
Jﬁf Newton’s law of Gravitation
(D)  Binary star hypothésis
et dn 2uq e _uld GorgnGaud sral sengl Ll 2 maurss Qsnetansenr (pertomlbsm
{A) 'Gprrmrr Ganeens : ‘
{B) . i Qs raTen ST . S .
Q) Dyliefan mitiy A8 : ' .
D @l er pleply Qardieas '



180. Matceh List-I with List-II and select the correct answer using the codes given h;:l-:lw :

Listd . Lisin
River City
(a) Brahmaputm 1. Kota
®) Chambal 2. Ujjaini
(&) Shipra 3." Dibrugarh
@ Gomati 4. Lucknow
@ & © @ -
w 1 3 4 2
G’ 3 1 2 4
© 1 4 3 2
o 3 2 1 4

uigwea I-g wlgoe o ce Qmw sfjwimen cﬂmn_mu Eg} Glsrr@muug@ﬁw
- @flSPsfieimg Caip0atas

TS TS ¢
. o
()  Smdwugmm L Gsmiix
)  mbué 2 egggdef
() Sagn 3. @omsni
@ Csog 4 waCam

W ® . ©

88 &%
a'.—-.to.--
b8 A.-r-h
L
A KA B

D)

52.  The sun's surface temperature is about

(A) 5,500 °F o B) 5500K
N4 5500°C - ' (D) 15,600°C
@l’i‘h].:@m_m Cod I_.IIII.I:;.IL| Qauiuflena gpéEapL —— %ﬁ_iﬁmgj.
C(A). 5500°F - @) 5500K

(@ s500°C | (D) "15,600°C



53. . What is the spin of the heu&nn? .
(A) 04 : - B 1

ver o - . (D) 3z
Bl oreflien spephdl areim wng? )
(A} Oh o B 1h

© vz S @ 324

- B4, Btate the false one from the followings :

1.  Eutheria are pla&ntal mammals

2. Dipnoi is an order of fish o
3.  Lizards and snakes belong to Lecertia

4. Immunization programme was started in India 1978

{A). 1.30n13r ME,.E,dbnly
P ( &5 2, 3only D) Jonly -

. Epsarr_aupiie saumpran garenp Carpds( -
L u;ﬂlﬂmn ETEbaNTLD LIMGDTL Iy 0Ll Erifr;h,s@.
2. wlemi ﬁsaﬂdﬂ CUGHEILIN D
3. véedladr wpgb umbysdr Aasiligulun aemsswu srifss
4 @gﬂ@@m 1978 ayaini( SO CurBo gpep Sam_disiul g
A 13epe B 3.2,40lpb .
€ 2.30i@Eb (D) 3wLEid

_60.  The layer of the Earth's atmosphere lies in 60-400 kms altitude is .

W Ionosphere . (B) . Exosphere .
. (C) ~ Stratosphere : () Troposphere

yelll suaflinam_segdler 50-400 8.8 2 wrsda simuigere shisE
(A)  swCameniGui - ] (B) - araCaurandum ,
(ORI T ._ (D) cCprGuravdur

-59. ‘Bandhavgarh' National park is located in——state.
{A)  TUttar Pradesh o ' VM Madhya Pradesh

(C)  Gujarat . (D} EKarnataka

'uj.i',gé.ua.r‘l’ {}geﬂm Htﬁl.ﬁﬁ @m_mﬁg;d'rm_ wrleoih ——— %Lh.
(A) =phirdrCesi S B wEfuGrGssd
':C} _@ﬁ‘ﬂf:ﬂ - . (o ﬁﬁ:}ﬂl_lﬁﬂ .



68, Cnnsumptmn of calories of fmd per day per person in the rural area is -

*) 2200 ERY o 75N

(C) - 2600 - © (D) 2000

eﬂumbuqmmsmﬂm ,wﬂ [FLIT mw@arrrsngm@ mmdmmu o ewahlen a;[}mrrrﬂ amaumsq?
{A) 2200 : (B) 2400 .
(0 2600 I D) 2000

104, Match the following Towns in the List I with the Industries in the List II -

_ List1 o List1l
{a) HKalpakkam 1 News pﬁﬁt
{b)  Jharia 2. Oil refining
) Mathura : 3. Coal mining )
(d) Nepanagar 4. Nucléar power plant
(@ (&) © D
a4y 4 2 1 3
Va4 3 21
@1 2 3 4
3 4 1 g
G an@ﬂwn..@mm uul.tucu I dfen gsu’rﬁu@m wiguier 11 i Iﬂ,sn@;nmmmar
AunpEsE::
uliguds | Ui I1
(8)  sdLrEsh ' T L Asb#lisme
b griflus S8 eran@enis sgdafilnyg
. () wgyw . 3, gwmmm
{d) Cpungar L egydld feaui
S A (b} e W
Ay 4 b 1 3
® 4 3 2 1
iy 1 2 3 4
3 4 1 2

(Dy

105. In the I:crt.a] land arca, the minimum forest cover, requmad to maintain the ecological -

~balance is

() 0% B 0%

BT aa% _ - O %

Guorgs Balurile, %mﬁ al.nﬁlwmw Lqmofis {‘-’-_ﬁmmm snpmaflds @mm;ﬁ,sun_a'
uluerearang

(A)  50% S B 40%

(© 3% (D) 26%
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10, Which ia'_;he 2374 State of India?

- W’Mmﬂram |

. ";E.}:-:ME;_I.L:EI;U..!

L © (-Puniab | |

g '.'@iﬁﬁiﬂéﬁ@}ﬁ;ﬂ @mﬁﬂﬁﬁ@'ﬁ;ﬂ;tﬁfﬂ?
e
I:B:II xﬁmﬁL-]L;W:.. ' | |
©: vesici .
@) .. ﬁw

155. Which one of t.l'ie"fol.luz.:wizj:g-iak'mwn as "Shooting Stars™? .
B HA) {_]nn'net.s'_ N ':'._'L-ﬂ!‘,'l"}u'leteors i
.{lj}.,-_Pﬂllesﬁér I m} ‘Stars
- -Lﬁiﬁlm@aﬁm@pﬂm cr,;g gengy ol m*-ﬂﬁﬁmﬁﬂ' sré syfiw UU(};’:.ﬂékr;pm?
s (A) .@m,;..'_;ﬁgl_msﬁ NS L B) lenspsr -

e -_ ﬁ'ﬂﬁ“ﬁ'—*ﬁ@ﬂ”‘ o D) plagtsdr

156. Crop Insurance was introduced by the Government of India in the year

(1983

(D) 1986 '

it s g Slgeas @.@@”7' s ps syen( s gpsiuf sy’ -

(A) 1980 ' : - ' .
. (B) 1985

(C) . 1983

(D) - 1985



157. Which state in Iﬁdia has largest numl_r.er of poultry population? |
| M An:lhra'Praf:Iesh . -
S I:BJI _. West Bengal
©  Odisa

(I Tamil Nadu

ﬁ;h..j‘lu_.um.fl'é; e wnfle g8 s 2l qs:.ra‘.’ﬂdj Ge;srrgf;lﬁn uaha;wﬁ.q_mmm;igﬁwm? -
) - =iy GrCpmi

C(B) Gobs aitisnand
©  guen

@) pdppi®



A

. 158 Match the following :
{a)  Mamipuri © 1 NorthIndia

W Hol'unlatt-ﬂm ;._ ) 2 .'M;an.ill:mz_ .' ' o | B
@ 'Ku;:hibu:i_i L _ 3, ..'.Kera]n. | |
_{d:l : Kﬂthﬂk ' -._-1.' g -ii.ndhraPrad;esh
@ ® e @ o .

w1 e 3 2

Gurgig’
@ e L e @pfur
J{bll Gmwﬂé.ﬁ.r_}a 2 .;nmlﬂi:g,fr 3
@ s 8 Ceram
(ﬂ} -555& R ',4., B I |
Wl w e @ |
@ 1- 4 .-3. z 2
@2 s 4
'{'G]'_'-3.-'.“ > ':.4_: : '1' o
o ¢ 3._: S 2
20..  What is the percentage of ﬁet irrigated area in India under tank irrigation?
(A) 14-15% (B) 10-12%
W 13 — 14% : (D) 14— 16%

@iBurailen flag Bivmear LgtLeedls g Lnsa B 6lgssnE craen?
(A) 14-15 eﬂ@&m@ _ (B) 10 - 12 Bigpsan®
(C} 13- 14 sllpésry (D) 14 - 16 eBgsan(p



29,

a1,

Which of the following is not a solid planet?
(4) DMercury By Venus
(C) Earth @ Jupiter

Geneu meuenay bme ergy HLECETET BD@?
(A  ugen : (B) Geuenal
€y y& ’ M) ellumpsn

The father of white revolution in India

(4) M.S. Swaminathan : - W,’vergheae Kurian
C C. Suhrama'njam_ (D) Hargobind Khurana

BEAureile Aauarmenio Ly Sullen sfeg ,
(A) M. mntﬁlﬁﬁ;ﬁr (B eibd gflwdr
(C)  C. supwesfiuib . (1)) mrrﬂm‘nﬂm @i

28.  The agency in India that is authorised to _mai;':tain Indian Standard Time (IST) is

(4)  International Bureau of Weights and measures '
(B)  All India Radio

W National Physical Laboratory
(D)  Bhabha Atomic Research Centre

Gifu 1 Cprgas uu‘mifr:l'fligm Fpeuemb e1g?
A sauGae crml_.mmyh el Rmaflen Qewesd.

B) seagdiiu mn@mmﬁ]

{C) Ggélu Gumﬂa@t_imsfn

D urur v e powt

Phosphorous strait-divides the continents of
(A) = Asia and Africa (B) Asia and Australia
(C)  North America and South America \@@¥”" Europe and Asia

uravupey §fleremiy ahg @ Quinh sar_tisemar Gfsfng?
(A)  =Aurvpgb sofsss _ B)  pfur b gyevsGyailum
(© L wibgb Qsén s0ofssr v (D) gCymiun wpmih ayfur .



20,

100,

14.

India’s first private railway‘stati;an 18

M Habgany - (B) Bli]as;r{:r
() Kachiguda B (D) Sealdah

5Huwneflér apmd #ﬂUWi ruleh Pencowib ergy?
(&) apdtise : - B lﬂmr’iﬁuuﬁ
(C) =il ' O &

Among the following, which one is found in India only?
(A} Tulsi plant ' (B) Babool
W Sarpagandha . (D) Jamun

- Spssam_eupeT, @ﬁﬁmneﬁlnﬁ; WG snemriuGeus) oTg 7
(A)  gmed Qs _ (B) umge
(C)  stusizr (D) . smrapen

The Universal Immunjzation programme was introduced in India, in the year
@ 197 B) 1976
© 1977 2 1078

ugeusndaEi L. Grmb erdmig Silb @hdlwmelled bl apsiuBESIUC L sy
A 1975 _ (B) 1976
© 1977 (D) 1978

Identify the one which ia a volcanic-crater lake in Im‘ii&
(A) Chilka lgke in Odisha (B) Dallake in Srinagar
(C)  Kolleru lake in Andhra Pradesh Vﬂﬂ' Lonar lake in Maharashtra

Qar@ssiuHearer ifwu aflsendr erflanea suml gflenu sen_wurend srems
(A) queneild o der Ads ol - (B)  fpsfld o drer L gt

© epBrnCsssfa o oar QsraCam afl (D)  wammaywreid 2 drer Carpri of



15.  The percentage of SC population to the total population in India as per 2011 census is

W 166 _ - (B) 16.2

{Cy 1640 - (D) 17.4

@bHu mma;ms sensQs@iy 2011-é1 Lg, Guorgs ws'.Opresdio FTPEELILCL

augLllanfich sgaisin
(&) 166 (B) 162

(C)y 16.0 (D) 174

17.  Assertion (A) : The area lies to the South of 'I‘mpm of cancer is h-:.mt
Reason (R) : Tm;:ir: of cancer divides India into two halves.

{A) Both (A) and (R) are true and (R) is the correct explanation of (A)

Both (A) and (R) are true but (R) is not the correct explanatmn of (&)
(C) (A)is true but (R) is false

(D) (A)is false but (R) is true .

&im (A) s sCresie OsHGs 2 drer LEH Qmﬂﬁmnﬂ@
smramo (R) 1 s_sCrens @hfwrenas @@ s ugserrs &Mu@

(A)  (A) wppo (R) &nﬁmnm@, Gu:-gjm (A)-an sflumen raﬂm&a;m (B) b

(B) (A vogpb (B) sfwuneng wm (R), (A)-an sflwimen ellarisinda
© (&) s (R) seum
D) (A) gaum: (R) sf

T4.  Asia’s largest optical telescope is situated in
(A) Kavalur in Tamilnadu
{B) Hanle in Ladakh
\ﬁf Devasthal near Ninital
(D)  Indore in Madhya Pradesh

s funeiidn Bl Auilu gefi@ud sribs QsraaCprid s drar @b
(A smaugn, sBpBTH

(B)  gonrenGe, Lé

(C) Gaeausvge, enpafime sigmdlad

®)  @bgi wpBLL GrGssd



115. The National Institute of Hydrology is located at SRR -
W Roorkee (B) ~ Dhanbad
(C) Lucknow o (D) New Delhi

Geflw Rlwed sdel flencwid senwbgicnar G b

@A) s B) sreémung
(C) wsGamr D) Py Qe

116. Match List-I with List-II Correctly and select your answer usmg the codes Eiwn below :

List-1 (River) List-II (Waterfalls)
{a) . Cauvery 1. Jog
(b) Sharavati 2. Dudhsagar
(c) Narmada 3. Siva Samudram
(d) Mandovi 4. Marble
Codes !
(@) (b (© (d)
Ay 3 2 4 1
By 2 3 1 4
o 3 1 4 2
D 4 3 2 1
uliqwé-Ig ulqud-IT o _dr Quimsdl £Cp QAsrRasiu Garar GPU@smar Qanar(® sMurar
daLmu CsipdsHés. - .
U ig - T (<pm) Ul we-TT (i efipadl) .
(a) &rleu 1. Cgrs '
(b)  agrmeud 2. gapsnsi
(€) piwens "3 Aausapidyb
(d)  wrenGLrsh 4. orin@edr
efsG:
(a) * () € @
A 3 2 4 1
B) 2 '8 1 4
© 3 1 4 2
Im 4 3 2 1



10. The acidity of the rain water isi measured by the scale
. ® dB

Ay =C : - .
V(pH D) - cm

aRH ﬁlﬂe’n aﬁmﬁg@rmmm ﬂhﬂ LD <2 STeney
@ cas N B w6 .'
C)  des ' - (D} Qg8

9. Thelargest area under canal irrigation is found in the state of
(A) Madhya Pradesh . | ' |
- . £\ Uttar Pradesh

 (C)' Moharastra

(D) Andhra Pradesh . _ ,

oifls iena) sirdveumiy Lrser LpLiLeTena BeEna(Rdren oMb,

@A) wpdu GrGssn
(B) =258y SrGssb
Gy amTey

(D wpdr GrGgab

11,  The International Tsunami Information Centre is located at
(A India _ (B) Srilanka
W Hawaii . () Japan

ua‘nmrn'_@ q,mu@um SECIG GDLDILILD LY SIETET EIL LD
(A @pAur B) Bardkws

() apsumi N (D) Euumﬁn_



14,

125.

Which year the Indira Priyadarshini Vriksha Mitra Award was instituted in the field of .
afforestation in India?
(A) 1984 | (B) 1985

o’ 1986 . (D) 1987

@ifuncie srp) aamissd L gdpsrs Genpasiu@n @pHim Iugtefiel oy W
cSimss B L 46 a5 |

(A) 1984 -  ® 1985
© 1986 @ 1987

The first country to develop a scientific system of recruitment was = ' where
recruitment through competitive exams was first introduced in the 204 century.

(A) America _ (B) Britain

\# China | (D) Prussia

Gum_iy Gsiey qpenm met:n Boanmb grbpremns GaCuw el apern e Cariy FLsHu apsa
BrH ' - ‘ '

(A)  =Quhssr - (B GOf L en

(C)  Zanr g (D) Giraisiim

Cultivable lands which has not been ploughed for between one aﬁd five years are called as
(4) Culturable waste

(B) Current fallows

W Other fallows

(D) Permanent fallows

LSS aiq 01 ﬁwmﬁ sﬂw BEd gig ayampss aar e piuLty QuIE, SiE Bdory
snpdsliuplos

&) vweanmpp elenarfland

B)  pLionen® shs

C)  dp pis

o) - Blepanuimes Guowisse el



126. Tidal forests of Ganga-Brahmaputra delta, mainly consists of
tﬁ) Rhododentrons

\J Hardwood palms

{C} Laurels
(D)  Junipers
smens -G nbwusdrr seawursf sn@Hsafia Mumn& STETLIL (D LoresnSw Teng!
(&)  QunCLr@Ldn Coneireiy |
(B)  siper Lenen ciens

(C)  awmpéein
D)  sfeflui

127, W'Im:h is wrongly matched?

(A) Indo - European Family — Arya
(B)  Austric Family — Nishada |
(C)* Dravidian Family - Dravidian

\ﬂi;}’ Sino — Tibetan Family — Munda
paipren Quimhepms sdr(iybsapb?
(A)  Ebfu gty GEibUb - eyhur
(B) e fiE GHibub — Hem_r
(©) B @B - Pyrei

D) ensenr BdLEAW mEDLD — gpemT



128. ——— marked the beginning of census taking in India.

(A} The year 1862

P The year 1872

{C) The year 1882

(D}  The year 1892
lmba BbSwrald wisa Agrans sansdafOy Aem_ kiUl Lg.

(A 1B62b eugmih
(B)  1872b aumid
(€) 1882 augpid

(D) 18920 eugmib

181. Mercury the smallest planet has only 88 earth days to orbit the sun, because

(A}  Size of the planet '
(By . Spinning speed

\ﬂf Distance from the sun
(D) It's thin atmnsp]'&era
Lﬂﬁfl};ﬁ]u Qi fl Gararrang @ fuwsenen sofl euy 88 pm’_ser wl HCwD plama, qélwa‘ﬁd:
(A mupen sieTay -
(B)  mpgnd Gaumid

(O eflwelulebg e der g
(D) aizen Quddiu euafhosm_anb



182. Matxz}? the disasters with _im type and pick the correct answers code :
{a) Blizzards 1. Hydrological disaster

(b) Tsunamis 2 Health disaster
() Nuclear accidents - 3. Atmospheric disaster
{d) Pandemic 4 Anthropogenic disaster

Ay 2 1 4 3 -
By 2 3 4 1
(€ 3 1 2 4
a 1 4 2 _
Glemaumib CuilLfurHeene sgen amsum Gun® Gurmss el srdrs |
{8) wafiliyweé 1. ffhod Gumﬂ_m
{b) wﬁlﬂh Jene 2. sangmy Gumfiey,
€ gmefiugs 3. aaflwdm o Gunyfiay
(d) QEripGmmi 4. org Guryley

(a) (b) (e} (d)

(A) 2 1 4 3 .
B 2 i 4 1
€ 3 1. 2 4
D) 3 1 4 2

The major element of the inner core of the earth from the following is
(A)  silicon : (B) oxygen -

(C) sulfur Wimn

GemeupeuemauppiaT LsHuflen oL L@EHUh SifsD EJT-GH‘ILILT@!JGHE..I
A)  Sdisnar (B) mbeigan
© sdtvit | D) Boiy



11.  The river Tapti rises from
@ - Vindya Range
- { Satpura Range |
(© Maikal Hill
N (D)  Aravalli Range

sufl pf 2 pusungid b
&) dipfu waagdsm i
(B)  =sngyprweeg Qgmi
(©) - POEETE wene

(D) yrauddd woag Agm i

12. q’he Title Appar was given to Tirunavukkarasar by
(A)  Sekilar
(B) Sundarar
- *(C) Manickavasagar
@ Sambandar

Empre Sarsme SLUF eranp UL OGuiengs der@iselr
@A) wm“ . ’ .
(B) abpot
(C) wrefsseurssi

@) sbusi

]

47.  The first country in the world to ban mining of metals

(A)  South Africa : eu/ El Salvador -
(© Russia (D) Guinea
e Cana &mmsmh#mﬁg 1orE geoL. Qaisp e BrH ag?
(A) .Glmg Sy 1flEs i (B) e sméveuL v
. (C) | TeigWIT (D) daflwr

ADIGS/17 ' ' : 1R



52 .  Match the following with correct answer : ‘

{a) Parathion 1.  thiocarbamate fungicide

(b) Nabam | 2. . non-systematic fungicide

() 1 Captan 3.  organo phosphorous in&&-c'_.ticide
(d) Carboxin 4.

" systematic fungicide

(a) (b) (c) (d)

&) 2 1 3 4

.{B) 3 2 4 1.
© 2 4 1 3

,M 3 1 2 4
#flwren eflen_&Gem® AUTmEES _
(@) unglwmen E 1. gCursmiuGul srarrer Qsmaed
(b)  pumb 2 wﬂsﬁm anermen Clsrdal |
(c) Cslmen 3. &M uneougen LFAS Gerdadl
@ smiursealan 4 g@ﬁlﬁnﬁ smenmett Qareed

@ ® © @

A 2 1 3 4
(B) 3 2 4 1
C 2 4 1 3
D) 3 1 2 4

.. 61. The diagram usad- to show the distribution of earth’s solid surfice at elevations above and
‘below the mean sea level is
: M.Hypaumetrin curve
(B) Lorenze curve-
(C) Clinographic curve
D)y Frequemf.r curve .
yefl Guopuyinder 2. wimb Whgd smpedenen synef s mL;ﬁﬁﬂ@ﬁp STl Lwemu(Rih suenfuLb
{AJ qipl'iGer@w_fié wﬁﬁsn@ o |
B eme awaGs6
(©)  BaenGearr HIT9E sumGETH
D) Semataer uaaCad



62.  Which of the following river flows from West to East?

J Damodar River .

(B) The Son River
{C) Ken River

(D) Tista River

Aenaumaienaupible sTis gpm GCuopdladmbs ﬂmé;,:g Crrad] umidlpg?

(A)  srCuonsh s

(B) Coren
(0) Qaan ayy
(D)  Pevr g

31.  Pick out the correct statement

M The global average surface temperature has increased over 20t century by

about 0.6°C

(E) The global average surface temperature has increased over 20%% century by
about 0.7°C - | |

(C) The global ave.rage surface temperature has increased over 20% century by
about 0.8°C |

(M) The global average surface temperature has increased over 20% century by about 1°C

sflwner sahepm Sl SMCLeylb

VI Lefllen spraf Qeuliuidens 'E.'EII_ 20- b maporemge 0.6°C wirbaerers)
(B) yebhllen symafl Qauliugens el 20-pb gﬁ:pw&rq.dj 0.7°C Lufr;bgdrmg
(C)  ysfllen sgrefl Qauliugens sl 20-0 phomargd 0.8°C e wirhgisrarg
D)  yehulién syref QauiiLgens oL 20-ayb prppranad 1°C e Lifgerens



33.

37.

Match List I with List IT :

(a)
(b)
()
(d)

(&)

(O

(D)

ListI

Place

London ™ -

Paria

Soviet Union
Tamil Nadu
@ - ® ©
1 3 4
2 1 4
4 3 2
2 3 1

List 11

Lag o A

.h»-mmg

River

Seine, -
Thames
Cauvery
Volga

uligwed [-gp uligwsen -2 L en Aurmsgis :

(a)
(b}
(c)
(d)

(A)
B
©
(D)

uliguwe [
@b

“Doab” means

(A)  The region between two cities

@)

s = Q3 B2

Ui 11
Fan
Cgioav
amelfl
Ceaurdism

N

The region between two rivers

(C)  The region between two mountains

)

None of these

"Ggir " eranliuHeaug)
Em parasEnéE e lul L ugs

Bm psEnis @ lul ueH

B benwsErdg @l Lul L Bouugd

(&)

(B)
(©
D)

@eupmieT ergaylichena



BO.

Bl1.

(4)

©

(D)

Graphsoy Technology
Graph Air Technology
Bean Graph Technology

Nut Graph Technology

-

The technology which transforms goybean oil into graphene films in a single step is named
. as :

Cemur seuemr earGaraw ghepl ugds Spnllden v edsers e morPDL  Eeluyd
AsmAdhELLib @eeunmy Quuf Lol Gererg '

(A)
(B)
©)
D)

gr.GemD AsmAHE Lub
&g wet gmflhEi b
Sendlgn..0 QemAnmCLb
prdlyress AamippC D

Match the fu]]dwing :

(a)
(b)
(c)
(d)

{A)
(B)

©, 3
" 2

(a)

Earth Quake
Lomaprieta
Worth ridge
The Turkey
The Algeria

(d)
2
4

hMMI—E
Fain

I

3 = BD

- Qurmegs |

(a)

(b) -

(c)
(d)

A
(B)
(©)
(D)

L,F.Gﬂ'll_t‘@ﬁ'éﬁ
Camomafm
mrigflC g
Sima4

g fwm

(a) (b) (c) (d)
1

b O W B2
= s = O
o = B R

3
2
4

Related to year
1. 1999

2. 1989

3. 2003

4. 1994
Glgmimjérar gyair(p
1. 1999

2. 1989

3. 2003

4. 1994



82.  Pick out the correct statement ' S
. (A} India receives 75 percent of its water supply from ground water mining
#" Saudi Arabia receives 75 percent of its water supply from ground water mining
lEC} Iran receives 75 percent of its water supply from ground water mining
(D) Sudan receives 75 percent of its water supply from ground water mining

shlwrer eblenenw &s'lr@ﬁ]m&-

(&) @pPun 75 dfigsan( ooy Bapsy Bi gpaib Gupdapg

B)  sapd SCrIun 75 eflpsan® Seoy Beosse B aped Aupderpg
(© o 75 Sllgssn() feoy Pwpsn bt aped Qupdlerps

D)  @aen 75 s fay Podsy S aperd Gupdicing

w
98. © In which years was the import of food grains in India is Nil?
(A) 1989 and 1990
(B) 1993 and 1994
1995 and 1996
(D) 1997 and 1998

Bpglureflen 2 ewey srefluisafion @péguwd whduwrs Gmbs sy ag)?
(A) 1989 wppi> 1990 ‘
- (B) 1993 wpgib 1994
C(© 1995 whgb 1996
(D) 1997 whpb 1998

100. How much does India contribute to the world sugar production?

™ 15% B) 20%
(C)  25% | (D) 30%

o_es sissany epubd e @‘[‘aﬁur_m'ﬂén uﬁ:@ erhgenar s5aign?
(A) 15% : ) {B) 20%
© 25% s D) 30%



31.

32.

Which one of the following is not correctly matched?

(A) Kuroshio current - East coast of Japan
(B) Peru current - West coast of South America
(C) _ Canaries current - West coast of Africa

m Gulf stream current - ~ West coast of Europe

Epssam_ mi:mmﬂé:.crg gilurs Qurmpgeildama?
(A)  ECmedGur fGrmiLd - smlUuraflen s s_psany

B) QumEGrm L ib - Qgen sQuissreliidn Cop@ sy
(C)  srenfiav ECymiL b - plSfissreblen Guophe s_paeT
D s&0FCGmLp - wCrruunefién Guopes sL_paeny

- Pick up the correct matched answer :

Temperate Grassland Biomes

List A List B
(a) North America 1. . Steppes
(b) Eurasia 2, Velds
"{c} Argentina 3.. The Plains
(d) Africa 4. Pampas
(a) (b) (©) (d)
A 1 3 2 4
® B 4 1 2
3 1 4 2
D 2 4 1 3

sflwrs Qurmistu Gerer cllanemu Gprrp@;.@ :
BgQeuiiu war_e yaQaef @p eumfiLrsar

U@ A Ul g B
() e sQuilsar 1. Q@9
b)) wCrafiur . 2. Gaa®
() sumgpeimg e 3. Qufiwswulesaf
(d) puGflEsr - 4.  umbLiTe
(a) (b} (c) (d)
a4 1 3 2 4
B 3 4 1 2
© 3 1 4 2
o 2z 4 1 3



33.  The worlds second highest peak _ ' _
(A) Mount Everest , ( Mount Godwin Austen
- {C) . Kanchen Junga o (M - Nanda Devi
-z adlar Girem_reug e wps Hsyo
(A)  waysr eyl ' (B)  weyem_ sri_cSlen yeigen
(C)  sgheen graar N D) phs Cpel
N |
. 80. 'The region where ground water is most efficiently recharged is
Dense forest _ . (B) . Grass land

(C) . Deserts (D) Agriculture lands

flegsn BT s sierefla Coaflsaiufn ued

(A) SLips snadr ' (B) L}c’u[ﬂ@aﬂ&&r'

(C) ureeesTisar (D) ehleusmu HlamissT

81. How many states aré covering the desert development programme in India?

mﬁ : ®) 4

© 6 ()

@edurelldr urewaen Goburl @i Hlob  ersseean mnﬂﬁ;r&&aﬂdr Gmiu@g‘.g{ﬁuL@
eumEleanm g ? - ' '

(A) b B} 4

© 6 ® 7



15. 1»"H’Ihin':h one of the following state doesn’t share the drainage of the Mahanadhi? ®
(A) Chhijttiagafh”
(B) . Jaharkhand

(C) Maharastra
J Bihar ' .
Eleupmie wanmsSules ﬁlflm ukidl_mg wrilab erg?
(A)  slwcvsr
B) s
(C)  wanyraigeym

(D) Ssam

L) '
. 186, Four Planets of the inner cirele is .
(A)  Jupiter, Saturn, Uranus and Mars

mrlercury. Venus, Earth and Mars

(C) Mercury, Vénua. Saturn and Mars
{Dy Mercury, Venus, Earth and Jupiter

o ar eul’ L gdlepener preng Cardradr

(A)  eflwmgen, safl, WGremay whmnb 'QGG"U.E-‘LHI'l.I'_I
(B) . usen, Qaushref, Ll ppib Qeeieumis

(C)  ygen, Qeudrafl, safl bmd Gesueumis

(D ysgen, Qeugrafl, el HmD e@lfl_rrrgéT

50. In which of the following natural hazards, mitigation and rehabilitation is difficult?

(A) Cyclone (B} Landslide
™ Tsunami (D) Flood
| Gemaumd Gubens Cuilisella Gt senfllgse whmb Ber@ Cuppid piuameausefld &g anorang
o7 ' :
(A} @preuef . (B) Bassay
(C) sewmdl (D) Qeudremb

R | . 19 | GEOGS/17



49,

4‘?_.

64,

The Wild Life Protection Act of India was 'mtmd_usad in the year of

(A) 1962 1972
(C)y 1982 : (D) 1992
BpHuneiic auen 2 Qif urgIETiLE s LD SiflpsluBEsULLL HeT[H
A) 1962 (B) 1972

© 1982 | (D) 1992

The headquarter of flood forecasting organisation in India‘is located at

(A) Hyderabad - * (B) Delhi

(C) Poona , # Patna

@ pSwmrsfles Qeausrer apemendlsdiiiy Gaiiyd 6 Qmmwﬁ senavenoud b Dienofgidrar @b
(A)  egpggrurg o (B Giod '
(C) yCer M  wrlamr

" World Wild Life Week 1s observed during
(A) First week of September
(B) Last week of September
First week of October
()  Last week of October
o s suareileoiE eunlb Garar m Lu@eug
(A)  QalbuT Gpse eummD
(BY  Gsicbur sanL_& qumrmb
(C) =&CLmul apse aumybd
(D aﬂr.;ruﬁr SenL#l ummi

In the solar system which planet is called as “The Morning Star"?
m Venus . (BY Uranus

(C) Neptune | (DY Mars

&Aw GHLLEDD “ely. Qadrefl” aran simpaaiin(ib Carer a1gi?

(&) aSarad (B) wCrensd

©  Gpiwyd | ) Qsssaui



65.  The total area of great plains of India is about
(A)  6,74,000 km?

@ 7,74,000 km®
(C)  8,74,000 km?
(D)  6,64,000 km?
@ Suineden QuAL s0@aean Qo LniueTal
(A)  6,74,000 557 &.5. |
B)  7,74,000 sgyy 8.5
© 874,000 sy &8
D)  6,64,000 sy £.45



66.

Match the following :

(a)
(b)
()

(d)

(a)
®
(c)
(d)

A)
(B)
©
D)

List'T
State

Gujarat

Uttar Pradesh

Assam

Karnataka

(a) (b)

1 2

List IT
‘National Park / Sanctuary
1.  Bandipur
2.  Manas
3. Corbett
4. Gir
(©) (d)
-3 4
q 3
1 2
2 1
Lr;.'_l.q.l.l..lﬁ}ll
Gaflu yhisr [ spemnawnd
1. updogi
2, wrewe
3. smrGul
4. &
() (d)
3 4
4 3
1 2
2 1



108.  The National Research Centre on Plant Biotechnology and Research was astabliéhed in

\}m"f 1985 - (B) 1995
(@) 1987 (D) 1990

Caflu reuy e fimcueiud suaned WHpID SLyMUE enowb abs e[ Boeou e g?
@ 1985 : (B) 1995 '
(©) 1987 - D) 1990

114. In which Ocean Hurricanes are very common?
(&) Pacific Ocean
By - Indian Ocean

. \}@fﬁ Atlantic Ocean

(D) Arctic Cice_eln

S8 Ga e s ey 51 57
(A) ua.ﬂfﬂ& {Elu.@léu FL_al&0 -
(B @iduw Qugpis_ds

€y . -ﬁlii_ﬁuﬂﬁ'ﬂ.rq.?j QAuiphis_sSid

M) =i G'IIJ.@F:LIEI_E?IE'IJ

1 iﬁ, ' Bambo;:- and Lianas trees are found in which type of Forest?
(A) Tropical monseon forests
(B}  Shrub and Thorn forests

wa’ Tropiecal ervergreen.forests

(D) Mangrove forests

apEIf b Db aLETTa WrkhISET };rs‘;.mmmunm snaafla sraniIL HEDS? |
: {B} QeauliLibeim._e ugm@rrgjﬁgu er |
| (B) @@M&W@_wﬁrﬂw qy:tl'_l__i:ﬁ asrr@gs‘rr

EG). Gsﬁﬁu LBEI;EI'L.E? L@ LT E .srr_(}sdr

(D) mhﬂs@,@m&: a(pseT



1189, Inr:lia'g longest highway tunnel is
(A)  Maliguda Tunnel |
®) Pir Panjal Tunnel
(C‘} Baniﬁal Tunnel

V(Bﬁf Patnitop Tunnel .

@ EHwursfiCatu s faromar srane sl unms
@ . wdlgr gendiumns |

B) 9 Liggend @esliLinms

cy Llﬂﬂlilel @enasllreas

D) | ulellon) gestiurms

140. - Road ﬁafetjr week celebrated in Every year in the first week of which month?

(A) De-:emﬁer
. January

{C)  March

D) August

e (HEasTmIh ehg wnssHen wpge eunmb sten LTSN eurTons s 19y Sslu@Eng

(A)  gsbUR
(BY  gpemeur
(C)  oniE

@)  apsco



1581,  Consider the following stat-_ameht.

Assertion {A):  Air currents in the upper layers of the atmosphere is known as et
- streams. '

Reasoning (B) : It determines the arrival and departure of mensoon winds in India. -

- Beleet your answer. _
' \JA{ Both (A) and (R) are true . _ e
(B} Both (A) and (R} are false
() {A)is true but (H) s false
@) (A)is false but (R) is true

EpdaentL e Bismens seuad]. -

aip ) adisdn e s sGesds aamiufb smHEpr b Gl smHCpTLLD
eramln(fLb, . : '
srjeono (R) : . @asrpEpm b GhEu el Lmeud sriifldan GET_EED whmb apg LD
' sreagang [F e &8 mgi.

. Esummsm EI';E_j] el eram gr'.rmrrﬁ'r;l&;ﬁq LB,
@) (&) wigd R) Grandio &
®) () wpmd ®) Gren®id g
(C) . (A) &l yemmen {R) e
D) (A) saugs symmés (R) &l

182,  The river that_. originate from the _ﬁrava]li rangé 15 _
(AY Chambal - - ' (B) _Narm atha

\}p{ Lumni (I} Tapti

O o Teudst weaydEmmfld ﬂ.gj}u;#u.irr@fu i
@) smoue . ' | B piost
O gl R @)y sud



189, Whieh country found the world's first floating solar power station?

(&) America

(B} Japan
W South Korea
(DY . India

e adldn (a0 BEEED G He Hamub oiou’ Gupm mrd.
(&) gmm!ﬂmn o
(BY  slumen

©  Qsén Qenflun

L @rdur

160. Absolute zero of temperature means

(A 0°C : By 0°F

Jﬂ’ -273°C (D) -273°F

prer sl Weulunb sreémug)
(A 0° Qeeny ACHE (B) 0° Sunpéned
€y —273° Qeang ECHH (D) 278 Swunpenedf

149, Which state has "Cyber Park"?

{A) Andhra Pradesh

W/ Kerala

{(Cy Rajasthan

(D) Madhya Pradesh

" gngLIiT LIMTE" 4.;@5 wrhlesfd o drarg?
(A) iy GoGsen

(B) Gayam

(C)  grgevgren

D wpfuGrGssd



158, Which of the following is considered as ‘hot spot biodiversity’ in India?

(A}  Aravalli Hills

\’(37/ Weastern Ghats

Indo-Gangetic Plain

(D) Eastern Ghats

eramemaipper aema “@iBucidn oGl Bms Lbamsmn” GLibTEn?
(A ol wane
(B) Cuie Qgmn iéf wena

(O @eéGLnr-snenag s soQes

D) ApiE Ggmiisél wene

182. The Arabian sea branch of South West monsoon causes no rainfall to this region
(A) Malabar coast
(B) Konkan coast

Western ghats

\P/ Coromandel coast

AganGiods u{gwa’asn@;ﬂm =indésd Hener Blugfas wenplbum e Q-srr@uugmm
(A) . LI ﬁLg'}ﬁ-ﬁnlI

(B) -. Qﬁrrri':lm L fsen

© Gopes Agmibdlome

(M) Cenpuen e sLpaay |



183, Identify the oil field which is not located in the west coast of India
(A) DBassein

(B)  Ankleshwar

@bSuneldn Cops sLpsar) UGHGD sepHimg certand awme SIEDLLITETD SAGHTS
(Ay CGuRsier
B smsCasva
| ©) edluQul
{In lm.nmr'mm'_ﬁ_u.lrr

184.  The shape of the mid-Atlantic Ridge is

o s

B T
c o
oy T

ngEn) o wremg & £1eig wenans QEmflén auigaib

Ay '8
By 'L
@
ED}. T

87.  Who is the First Women Secretary General of the common wealth?
(A Antondo Costa )
(BY  Stuti Narain Kacker
(Cy  Sunil Kanoria
M Baroness Patricia Seotland

smoandadsian (psd udm QurgiFtauad wm?
Ay gpenCoalCur Saner '

(BY  smd pawer snisd,

[y ' gaflé) sCemmRium

(D) UG @pe Qur Aafium dosn sy



69.

71.

Solar eclipse oceur when the

(A)  Sunis inbetween moon and earth
ﬂ’ Moon is inbetween sun and e.urth
(C) Earthis inbetween moon and sun

()  Earth, Sun and Moon are in a curvilinear position

@fiw Byapand @i feodo apuBdps

A  spfrgesio, ydign Bl gilwer sremiufinc Curg

®  ehugien ubieb B iSi obfioir amariui Gurg

©  efugisen stBTBEEn HP1Té el stamiLEL Curg

) | yell, g,mun wppb sy cucoarlam { e o drarCung

The incorrect statement among the following as per 2011 census is
{4) India's population density is 382 pmbqnsfsq.km

(B) Sex Ratio of India is 940 femalea / 1000 males
ﬂ’ Literacy rate of India is 70.04%

(D)  Arunachal Pradesh is the least densely populated state of India

@iBu wis Opres semdAs@Uoy 2011-é ug £Gp Or@éstol Pareasdid papres
b

(A) @ wss’ Qprens sl 362 gudsd /5.8.8

(B) @pHurehidruré Gan o 940 Guicinsdr 1000 yeadr

©) @bPunsicn sdeflufie) spadisb 70.04%

@) murmﬁﬁt Bissgophs wismLibHaws Qenam_ wrfab smarrésa Qg

The Western disturbances, which affects the weather of north-west India originates in

Mediterranean sea (B) Arabian sea
(Ch)  Caspian sea {D) Deadsea
an_ Cop Bhfumeiin anclowen nBigib Copsbfic HoLiprag CHrapIAL
(A) wiEhu gapks_d _ B snis s

Q)  sncoGudn s © D) sEsd



- 72 The theory of sea —floor spreading was formulated by
' [a} Alfred Wegner
W.M. Davia

;sf Prof. Harry Hers. |

(D) Arthur Holmes

‘L FeTUTUY Ure|Sd’ srdrp CEmLUmaL angangpeu
(A  wa9Qr. Qapent [Alfred Wegner)

(B) W.M. G_aleh (WM. Davis)

(C)  Prof. pmfl Ggoity (Prof. Harry Hers)

@) i Gaprbsy (Arthur Holmes)

1. - Choose the correct statement.
_ @™ The lithosphere controls the amount of solar radiation reaching the surface of the earth
.{B} The hydrosphere controls the amount of solar radiation reaching the surface of the earth
(C)  The atmosphere controls the amount of solar radiation reaching the surface of the earth
(D)  Both lithosphere and hydrosphere controls the amount uf solar radlatmn reac]:ung the

surface of the earth
- aflwuren aunddlugens CaipAs(.
o (A yelldlan  Gupurimu apgeyd  @Aus  sdidisdlan  eta). unmp&@srrmﬁﬁn;dj
s HOuGEsIUDE DS . - _
B) uelen  Goduyieu ansgelyd @fus  sdrdsdlar oy Eﬁ&@ﬁmﬁﬁm
a;f;@ﬁu{gggﬂu@@_rygj ) |
(C)  yeftulen Cuiurieu apseoyd @Glus  sdiedsdar  samay mmﬁmdm_m;;m
s_HULUPEsILEADS

(D)  yelluilar Guoduglens aubsan un  @Efiwud 5#1%‘5-!#515! 2IFTEY unmm&ﬁmmﬂn@m i
T ErEGararssranh s RUUEssLLGEDS

2. W'im:h one uf the fnl.'lnwmg pairs i not correctly matehed?

(A} Wheat —  Punjab
Paddy - West Bengal

ﬂ' Spices - = Rajasthan

(M) Coffee ' — Karnataka

Gar(yssinn_ (Harer [@anaw ﬁumﬂm,ﬁ,ﬁm ST EmE srg‘?

(A)  Gsrgieno - LIERTL
B) G éd Co= Cuopg surbismemd
(O)  pguoewr Qurgiast  —  grgevsTn

Dy =md . - ERBT_&T



3. ©  In which of the states sandal wood trees are predominantly seen?
{A}) Karnataka, Rajasthan, TamilMadu
ﬂ’. Karnataka, Andhra Pradesh, TamilNadu
(Cy TamilNadu, Uttra Pradesh, Bihar
(D)  Assam, Andhra Pradesh, Nagaland

-

G&n@a;mu L (Beirer a5 apeinny nmlakisefid) o s oyereflc J_Ijﬁm Wik EeT EreT LA D7
(A)  sipm_sib, prggsvgren, sllpsr{
(B)  aipm_ab, 2580 9rCsed, sApETH o
(O sfpm, e gHnAnCaa, Semf : : T ,
D) oevevrd, obHndgGasb, praonhg '
o ' A 1 ' - PEDGS/NT

53._ Choose tl}é correct answer :

Divergence of rocks on the continent causes. - . |
(A) Mountains ' iB) teaus
(C) Plains : Rift valley

sRwnar eflesnud CaibasHEsw b,

sckr_miselld urepsear eflagn Qumps Cenamddann BaosCamhpib

(AY  weneser : ' B) Sugpdser

(Cy swlaaiizd . D) Gerey uaraGETEGF



Match List I with List IT:

List] T List II
Multi purpose projects Rivers
{a) Bhakra — Nangal 1.  Mahanadhi
®) Gandok 2. Sutlej
{c) Nagarjuna Sagar 3 (Gandaki
(d) Hirakud 4, Krishna
(a) (b) (e) {d)
2 3 4 L
B\ 1 3 4 2
)y 3 1 2 4
™ 4 2 1 3

g e I g udgue [T e Ldr Qummggeyid : :
L g I L g6 TT

{uaGErEs £ fisdr) - (e@pimyme)
(a) uérn-prissd 1. wsmpd
®) aréni 2. sGag
(¢} mramigOen srai - 3. smanLnd
(d)  afyre 4. Amdyann
@ B @
(4) 2 3 4 1
B 1 3 4 2
) 3 1 2 4
Dy 4 2 1 3



Hi.

Which statement is/are correct?

® In India, one of the branches of the S.W. Mnnaaun croasea the Arabian sea and blows
towards the West coast of India.
II.  InIndia, Another brarich of the South West Monsoon takes a turn towards the Bay of
Bengal and enters into the North Eastern India.
(A) lonly .
(B) Ilonly
(C) IandIlonly
(D) Neither I nor II
. e
- sflwren QenpQmmt Ceibblshs
L @pHwiredled, G‘l.g,drdﬁ@@ umpeudsTdflar @ Saer apdles swwé sUbg Epdwureen
GinhEéE m_m.smmu.l Gerad siadlmg.
1. @ifwreden QgarGope Limaussmbibien mm@mrr(t_r, dlenen curisTen ﬂrﬂ@_r}l_rm S0 SLpgl
Eodwreflon an_fipsfld panpdng.
Ay 1 Lm.,@m
By II ol (b
W L IT wor b
(D} L I gebeman
63. Match the following :
(@) Bihar 1. Agarthala
{b) Tripura 2.  Impal
(cy Manipur 3.  Ramji
(d) Jarkant 4 Patna

o 4

©
D)

(a)
(b)
()
(d)

(A
(B}
(©)

o)

(a) (b) (@ {d)

1 2 3
3 4 -2 1
1 2 3 4
2 3 4 1
Qunmiss
Senir | 1 BT g
Sy 2 @bume)
weRflLIgT 3. gmepdl
ST T GBI 4 LG

B 3 BB
-

¢



66.  Which one is the oldest as well as the largest industry of India? _
{A) Paper industry . (B) Iron- steel industry
(C) Cement industry g Textile industry

BHureilen Hs0 upemoLTengy, Ws1Quiu siaellerar Agmfierars oz ?
W) e85 Ogm i B)  Gpidy oo Apmfia
(C) AQuen Agmid ' - (D) Qpreys Asmfla

. 87.  Choose the correct anawer : : i
Which is declared by Government generally at the time of harvest of cropa?
(A) Minimum support prices
M Procurement prices
(Cy Issue prices '
(D) Retail priéea

sftwrer efleenw CarhOGHEsa D

LA Sipyeuen smargHid s il S@n eflena
(A)  @oDps WEIs seow

By Gardrapg el

(C} QIS sHlepe

D} Sacay slaa

lll]... ﬁelﬁunﬁmr originates from the
. (A) Glacier near the Mansarovar lake
(B) Pir-Panjal in the Greater Himalayas
A4 Bokhar Chu glacier in Mount Kailash

(D) Aespring at Verinag at Kashmir

g p6 IsEd Gubd

f;ﬁ} wmﬁﬂﬁagﬂmﬂmum
®  GuiuGuupds s der Siurged

©)  oswrsvaalgerer Qurssn @ uaflumy

[10)] Eﬂdp.lﬁﬂadrm Beufipns sanphie



126, ‘Who was the first Chairman of 'ISRO" .

(A} HomiBaba -

M Vikram Sarabai

{C). Abdul kalam

() Kasturi F_.nngan

‘@enGyn’ eflenm qpged Senesall WTi?
(4  Gaomd uron

fBy  afl&gth SmpmLmL

() augjﬁﬁ&ni

(D)  aciognlfl grissen



160, Ma:.tnli the List [ ervp with List II of major producer nmi select the correct answer uging the
eodes given below : '

ListT List I
(a) Rubber I. Gujarath
(b} . Sovabeans 2. Uttar Pradesh
(¢) Groundnut 3.  Madhya Pradesh
~(d) Wheat 4. Kerala

(=) (k) (e ()

@ 4 1 3 2
B 1 a 3 4
uﬂ" 4 3 1 2

™ 3 2 4 1

=i Leuenear L-ffléy e grar ulifsmer sillauemar II-fid smasdt Hfswis apuid Gaiwb
' wrlei s Eunmiss '

s acenr I =L suenan 11

(a) @rouf 1. emg

®) GemumSensi 2 eifndeGpen

&) poss e 3. wiBulyCsan

(d) Cangenn 4. Gagem

(A 4. 1 3 2
® 1 2 3 4
© 4 3 1 2

3 2 4 1

-



14, — is the most important amongest the Indian breeds of buffaloes

) Bhadawari '- P Murrah

(© Mehsara O Surti

@iBuneCacy e e G gren s serele aiubgad
CILRICY

(&) L meurfl (B) apingr

© Gudr o D) sid

16. " The average depth of the world néeans
(4) 3890 meters (B) 3700 meters
(C) 3899 meters . ' ﬁf' 6000 meters

= el 2_grem &Jp;hﬁlsaﬁ& aqirai yuph
{A) 3890 S _imer : (B} 3700 & L riser

(C) 3899 Bifmar (D) 6000 S frser

52. Which one of the ﬁ:)].luwmg planets have no satellite?

M Venus .(B} Mars

Jupiter (D) Uranus

!w e gyenan s Ganer Saewns Sysn a7
(A  eflewen - B (B) Qe
(€) eflwmper | D) wGpanev o,



64.  The first railway line in Im:ha wag laid batwm and

(A) Dharwar and Kalyan 4 Thane and Kalyan
(C) Dadar and Kalyan (D) Bombay and Kalyan
@ﬁﬁum g padld Grada Gy urms : — &b —
&g e Gu GurLiiuiLg _ '
(A)  gmiveumit Wi sdwimeist (B) gnCGer opgyih seuimeter
(C}  srai ohoib Sdw et (D)  Lbumi WHEYD ScwmeT
65. : % percentage of the country's total coal is derived fmm the valley of
Damodar and sen in Bihar
- (A 90% . ' By 97.6%
o ow ' O 97.5%
B dr Quiss Possl o HLsHES % claghsi® Serflér e drar SnGwNsH
wppl Genen Udtargsrafailnhs dalsdpg s -
(A) 90% ellpésnp . ' B) 976% iﬂ@gh@

Gy 9% dfipéanp (D) 97.5% eflgpésn(p

66. .The India's highest annual rainfall is reported at |
{(A) Namchi, Sikkim _ (By Churu - Rajasthan _
@ Mawsynram - Meghalaya (D) Chamba - Himachal Pradesh

@pﬁmnﬂd} Sifls wap Glurrgﬂm uauren B
(A) pio# - Asfo By s - Qorggevsmer
(C)  Quenféngmb - Cosrewr 1 (D) sbur- gﬂmn&qﬂg@ﬁ;ﬂ

IU'L'I Among the following, which century was the warmest oenl:ur}r of the M:.Ilenmum'?
M 200 contury (B) 21 century
{(C) . 18% century - (D) 15t century

Epsﬁm_mmgm Tl EITII’-'!D"W@ s Geu'iuiorear ERHDTET_TS, m_M s sEr@safia
yBhoCo@Eng? : :

(A) 20 s> gpprar® B 21 b grpprein@
(€) 18 b mippran( @ 15 aubEdpre@



108.  Alisbet oil field of India is locatad in
(A)  Gulfof Kuteh
v Guifof Khambhat
(© Vadodara

(0 Surat

&) bPuwsmatlen el o erarl e auwid” syepwhgeTen G b
(A)  siFeumagLn

B)  smbugeemagLr

(C)  suGgrggn

[0

109.  Pick out the option in which the two least populous states of India are given
(4) Sikkim and Manipur
(B)  Arunachal Pradesh and Manipur
(C)  Arunachal Pradesh and Tripura

¥ Sikkim and Arunachal Pradesh

dshganps wisl dsrensenu Harare. G Séfu wrBolser e drer sfa sy Gare) Aais
(A) A& e uoseflcy i

B)  xgemmsssn QrGssbd 0hmb ALY

C)  smeammden GrGsab whpib Sy

D)  Aadi whgd simennssa Grlssb



110. Which of the following river lies in a Rift Valley?

(A) Luni
W Tapti

(C}y Chambat
D)  Son

Epergmib arhpd g Saepiudegarddld e geeng?
GV
®) gud

{Cy s

(I Garen
~ ar
114, Match List I with List II :
List I . . Liat I1 _
. State ' Lake
- {a} Odisha 1. Pangong
(b) Manipur 2.  Vambanad
(¢} Jammuand Kashmir 3. - Chilks
(d) Kerala 4.  Loktak
{a) {b) ey d)
A) 3. 4 Z 1
B 4 3 1 2
7 4 1 2
(D) 4 1 2 3
ulgwd [ g uCgwe e cer Qurmggs :
g i 1 L g TT
il ' gl
(a) Gusr 1 uren(smis
_ h) el i 2. Gubuen(
e} g whp b smapdi 3.  HAdasr
(d) Cspearm 4. Gaondms
{a} (b} ic) (d}
(A) 3 4 2 1
(B) 4 3 1 2
{(Cy 3 4 1 2
Dy 4 1 2 3



158, Mateh List [ with List I -

List I List [I

Crop Variety
(a) Wheat 1.  Vikram
(b) Maize Z.  Sonalika
(e} Barcley 3.  Barade
{d) Ragi 4.  Himani

(a) (b} {c) (d)

N 2 1 4 3
B) 1 2 3 4
© 2 1 3 4
D) 1 3 4 2

v igwd-T g ol a-IT e e Qurmigs -

(NI} | Uigugs IT
uddli SuEE
(a) Cangeno 1 eflamd
(b) Gsremb 2. Gemarelsm
(c)  Lmirel 3. anEm
{4y Capang 4. gfloraf

(a) (b) (e) {d)

B 1 2 3 4
c 2z 1 3 4
(1 3 4 2



159, The DART system is assoctated with

(A)  Porestfire

By  Voleano
w Taunami
{I¥ Landslide

DART sienwiiy Serdumib sapEor( Aamiyen wig?

(4 sms
By  efloaa
(C)  sami
(D) fesofiey

. 185, The first Native state which introduced military training on the European model was

- B6.

(A)  Geolgonda
W Mysore
(©) Oudh
(D) Kashmir _

gCrmiGu Lrafidd @umaaul Lidpd sefigs (so @pdu ush a5

(&) CordQamamr

B) ewgr
[0 Q171
(D)  snegbi )

The index which has not been used in Thornthwaite climatie classifieation is
(A) Moisture Index (B) Humidity Index
pf Vegetation Index (D) Aridity Index

srengEencu i ax srfloa aiesiu i LLETLRSSLULTE SHlsr g
A s pilaniy (B mrougs Ehlsmie
(C)  preugs g.ﬁcm_q. D) aupldgiemig



Choose the statements which are incorrect among the following :
(a)  231°N latitude ia Tropic of Cancer

®  664°S latitude is Tropic of Capricorn

{9  231°S latitude is Antarctic Circle

(dy  0°longitude is Prime Meridian

A)  (a) and (b) B) (d)and ()
© @and@ @7 (1) and (©)

£Cyp Qarfissuu Hararmasaiis gauprer sundfuamer Gairey Cals.
(@) 231 °a sis Crens - s Goes

(b) 661 °Gs sis Coma - way Coms

(©)  231°Qs sus Crens - Sienmins el

(d) (° fi&s Grens — apgeanao Eiés Grans

A) @ uopgd® B (d) whms
{C)  (a) wogud (d) D) (o) wpgus (c)

river iz called the “Red river’ of Indis.
(4 Ganga S {By Kosi
(Cy  Damodar iﬂf Brahmaputra

S ayorans Fsduiretlen ‘ﬁmuq'@' arat enpsslILBE DS
(&) shms " (B Gardl
(C)  gnwengh : (D)  @nbwygy

Identify the incorrect statement from the following in respect of seismic waves
(A) Primary waves pass through liquid and solid

' w Primary waves are highly destructive

() Secondary waves cannot pass through liquid

(D}  Surface waves are long waves

yeludiva smasd giss &psan. amsdunsene gm;:rr& QERDY HIGHLIITETLD EIEHS,
A  opsarenn sewss S nppb Arals Gure semer eaBEad garme dendr g
B)  padroun smasd dumss Gespes dlemareilcassi Lip

(C)  @ramonb Beva s Sreugons sm@Eoye Guarg

D) yell Gopyp Sasd HpCLamemsT



75. Tea gardens over small mounds of this region is called as ‘Bheels' S

6.

77.

)
2

©

»)

Brahmaputra valley of Assam
Surma valley of Assam
Western Ghats of Tamil Nadu
Western Ghats of Kerala

Ay @y sd Bgdre GOUEHda Gauime CoriLisd 'Sdss rar s@pssiupldpes.

@)
®)
()]
®

igsumAen QmbaugSrr udtarisrae U
< et mibleln 5i1§rr UETegETEE LGS
BHIRPHT g en Copg Asmiif weal uEH
i’:.usu;rm-aﬁdr Cofyg Qgmitkfl inenas LGS

In which of the following option, the Indian states are arranged in descending order based

on their gize of population? _
{A) Uttar Pradesh — Bihar — West Bengal — Maharaatra
(B) Bihar — West Bengal - Uttar Pradesh — Maharastra
@7 Uttar Pradesh — Maharastra — Bihar - West Bengal
(D) Uttar Pradesh — Maharastra — West Bengal — Bihar
Heraumip saupned wis dsrams oyloslds EESu
peonEEL 1L ([fiememan?
(A)  pAmArCsed ~ dapt — GopEaIRIED — WEDTTTE T
®  Sgprt - Cepmarksd — 2 FAnAgCesh — wanmyresi fb
(©  epdrdrCssd - wapmmsgiyb - Sapmt - GupEaurkiss
D) 258nArGand - wapmress b - Gopeeris - damri
Match List — I (Planet) with List — II (Moon) :
List~1 : List — II.
(a) Jupiter L Triton
(b}  Saturn 2. Miranda
(&} TUranus 3 Europa
(d} Neptune 4, Titan

3 2 4 1
I 3 2 4
: I 2 ]
4 3 1 2

uCipwed — I (Gardn g e - 11 (feor) o e dun@@gs.

(a)
(k)
{c)
fd)

(A}
(B
(Cy
(D)

T | Ulswd - 11
eBlwmgen L L enqLmen
=] 2 Ll
wyBramany 3 wyGgmisT

G L g6 4.  eLiméw

(a) (b) (<) (d)

3 2 4 1

1 3 2 4

3 -4 2 1

4 3 1 2 B

+

wrfledsds Bokg wfasbla



78. . The longest Inland water way of Indiais
(A)  Kurnool - Cuddapah Canal (B) Damodar Canal
(C) Sadiya- Dhubri Canal o Holdia - Allahabad Canal

EpHunaien s Beromsar o dipr® Bisudl ureg

(A} afmneh — sLOoum P (B)  snCuwrgi sraeami ) _
() empwe — grlndf srdeu i (D) gordigill — SHaETInS STenamd
. ’ . - fal=-R 1. 1]

120. Which year GPS was established to overcome the limitations of previous systema?

(&) 1970
® 1972
W 1973
D) 1976

i S ews el ded saroflub AstEd usgw pepsaisdmiy seped BasiulR

LiigT L (e, ufbdigy ™
{Ay 1870
{B)y 1972
(C) 1978
oy 1976

128,  Which one of the following is correctly matched?

\A{. Sornavari —  Chitthirai Pattam
(B} Samba —  Karthigni Pattam
(C} MNavarai — Adi Pattam
(D) Zaid —  Avani Pattam

demeumeustay fimer g oflwrs QummbSuerang?

{A) Qerreseusf - Agfleor iy ib
{B) sbur - srfgfens vl b
C)  meuwang - S 1 LI LD

Dy eswg - T R



177. The first hydel Power Station in India was started in
(A} Sivasamudrarm .
(B}  Mettur
u&j ) Darjealiqi

(D}  Bhakranangal

@gﬁunlaﬁe'n apge e Flencownt Bgren o L G

(A)  Basgopnd

®  Gulgh
© g

D) Uk

178. 'The local storms in the Northeastern part of India during hot weather season is called as
& LOO
BT Norwester

(Y Western Disturbance

(D)  Chinook

Canene UEniEBe HEHurder aLdipém LEHB Sab edngsh Lud
(EVIR " 3

(B)  mrillsusvit

€  Codsgfu e ym

D) Agni



https://t.me/tnpscfree

https://t.me/sasiclasses



10.

11.

) ? is called imaginary lines join different places with same temperature on the map..

Isotherms (BY Iscbars
(C)  Isohyte ' (D) ' Isohaline
T aueuLsdd @lr sereyaLw Qeniuflaamud Ge;n‘amnq.@asgm @l_rsja;mm @emmra;@;m shUemeT
Cariigam Gl sreieon?
&) swlaurusGar ‘ (B) &0 é{(gggsé;('ﬁasrr@

©€) - yosduCres - (D) sy CgmssGar(

In the world the density of popﬂatlon is very hig

(A) . Bangladesh ' Monaco

(€) Australia _ (D) Srilanka

2 @ fld sayb iflswrer éser B5Tams iL.-T5H Garar B erg?
(A) m@&n‘m@g&fm ‘ . ' (B) GoramnGsm ‘

© adGreiwm ‘ D) gr_uﬁeurélasrr

‘Intensive cultivation means

L Produce more in a small area

L In Alluvial soil

III. Produce only for family members

IV.  No participate in trade _

(A) Tonly . (B) Ilonly

(C)  Both Il and IV M BothTandII |
Sefily GeueTmaranto Grsurugj ) ' '

L. Gonhs 2ieey fosdd ods 2leray s:_rpugﬁ

I euain_ed o 2 érar LiGSufle pmu@ LpEDE

L. @@wuepllais@sss wiHib 2 Huss

IV. @eieums Cauammamento cuanf|ss8e FRLGGS Gdame

@) Tw@sd . o B) 1w @b

© HMlwppib IV Grein@id | © Tuwppb I GrerGi



21. The reason for rapid increase in population is

(A) Birth rate and death rate inéreases
(B)  Birth rate and death rate decreases

W Birth rate increases but death rate decreases
(D)  Birthrate decreases but death rate inc;reases
B8 Epl wisaTQgrensssTeT SMyawLd )
@A) " Apoy eigd whod Yoy eisn oifslss

(B G eSpib npmid @i b Gepse
©  Gpiuy eis> ofisNss @po oisd Gaipsd
D) Gpoy eigd Geopbs. ooy dsb o falssd



40.

41.

‘Which are the following pair isfare correctly matched :

@

(i)
(if)
(iv)
A)
B)

o)

List 1 : List 1T
Nobel prize - 1901
Plulitzer prize - 1917
Magsaysay Award — 1958
Booker prize - 1968

(1): (111> and (IV) are wrong
(iif) only is correct_ -

(@), (ii) and (@v) are correct
(1) only is correct

\Sérau(peuereuhmier ergl / eranes aflurs GumBEEILareng .

@
(i

(i)
(iv)
ey
(B)
(C)
(D)

@
()
(i)
iv)
A)- .
V4
©)
(D)

L iguied 1 ' U iquied. IT
Crruie udls - 1901
yadl g ufls - 1817
w&GsGs il (gl — 1958
yssTufle: - - 1968

(@, (i) wppd (v) seuprarg
(ii1) wi_fno &M

@, (i1 womid (iv) sflurearg
L) @b ef

Which of the following is correct?

Nhtional Voter day - January 25t
World Population day = . June 1l

World Heritage day — . May 18 ,
National Technology day —  August 12

(i), (iii) and () ave correct -
(i) only correct )

(iv) only wrong

(v), {) and (ii) are correct

\QéireumaeradmIeT 6rg eraneu s

@

(i)
(i)
@iv)
A
(B)
(©)
@)

Cadlw eumgamari Heid - smemeuifl 25

o & &S ABTens HreT — e 11
2 @s urrbufiu Send - G 18 |
CsAlw Qzmfléd g Heand -~ p&savl 12 -

(i), (ii) opgid (i) sfwreng
@) w G

(iv) _Hid geum

(@iv), (i) wpond (i) #flwrengs



48. . World Consumer Day is celebg:a}teq on

MMarch i5 )

®) March 16
(C) March 14
D) March 11

" 2 @8 psTGaunT Sanons QsreabrrOu®elg)

(A wniEls ‘
" ®  wriEl6
(C)  wmis14

(j)) wmirg 11

52. .Ct;ﬁaider the; following statements about galaxy
. 1. The galaxy is a cluster of brilliant stars
2. The approximate mass of galaxy is 10% kg ‘
3. The galaxy in which we ﬁ\;e is épiral galaxy
4. The galaxy close to the sun is Milky way.
Choose the incorrect code )
(A) lands B) 1,2and3
© 2 3and4 . © P 2andd
eflaiwrBew Spcraamants LHHIL éQSSrr@]Lb SDDIGHET B UIs.
1. eflgmBen i eranig Qunelley ofamBer Qe g
2. eflamber Slyaflen Hlenm @'m&@mu;u 109%kg
3. mmb aumqpid oflcimBen &irer s@atied Syarmgts.
4. gugse Simded o srer eflamSar yar Lirebailf] eflamSer Slyrar
sauprar GHu_m_ CorpAsBss
@ 1 wpmib3 , B) 1,2 wimb3
©) 2,3 wHmb 4 . o D) 2wppio 4



89.- -

91.

The most centrally ldcated meridian (82° 30’ E) at India passes through
(A)  Ahmadabad : A7 Allahabad ©
(©) Hyderabad = - _ (D) Auranghabad
@iHuraler pHGa Qsdaid Vs apafunrar (82° 30° &) SisssCsE
Qe dpg!. : - o ' '

. (A .gaa;mgrrurr‘af;, ) : o B sesmung |

(©) oapgrmuns ’ o D) @emEELTS

Which of the following are the National sports Awards?

!

(i) Rajiv Gandhi Khel Ratna Award
(1) Arjuna Awards -

* (iii) Dhyan Chand Award

(iv) Dronacharya Award

(A) (), (1) and (i) 01.1]y cé:rrect

B) () and (1v) ax:e wrong ‘

M @), Gi), (i) and @v) corvect

(D) (iiy and Gii) only is corre&
Hemaumauanespoiat ezl / aranau Gapelu eflenamuim’ () ulLmsar
@  prgdeu srid Gaser pHenT L LD |
(ii) &ﬁg‘vearrr u_l'_l_;.b I

(i)  guirar s 1lL1D

Gv)  sGyremtremflur ulb

@A) O, G _LD@L‘,HL'D (iii) @b #A]

B) ' {) eogbd (Gv) seuprerg ‘
© @, @, () wop () sfureg

(D) (i) wpmib (i) I Gib s

m@@u.j‘



108.  Which of the following is observed as “National Girl Child Day™?
(A)  8h January .
(B) 21t January
(C) 22 January

\pa)’ 24 January

2 @& Cua Guhmgsdr fard lGurg saisfssiupdpg,?

(A) gaefl8
B) geoafl2l
(C)  geeufl 22

(D) syameuifl 24



113. Identify the 2016 Dhronacharya Awardee
W Bishweshwar Nandi
(B) Lalitha Babar
(Cy Rani Rampal -
(D) P.V.Sindhu

2016-2pb oyermig.enr ‘g Crresmamiur’ 95]@@ Quibmeurt @eumbled wimi?
(A)  QevCauageur pHd

(Bi wellgm umur

(©)  @urenf pmbumed

O 9.8 A

114. The Asian Junior Chess Championships, May 2016 was held at
(A) Chennai
(B) Mumbai
(C) Kolkatta.

P27  New Delhi

A ROefluit Qgev smb@wenaf Gumy, G, 2016-6 e Ben_L@duHng?
(A) Qacblman '
B) - e’

(C) QamoslLr

D)  ysg Auee



115.

117.

Which country’s Badminton player was defeated by P.V. Sindhu in the semi-finals at the

Rio 2016 Olympic games?

(A) Spain

(B) America

©) Africz; ' ;

\M Japan

2016 AGur geflblds Gurliiguid, wwnindo Curlyuer Gurg P.V. &g eaps pm(
um_ 10 eit eSgriismarenis Carheig SeiT?

(A)  co@uuler

B) =Qwfsar

(C) <ulfNssT ;

D) guumen

The Third Asian Ministerial Conterence on Tiger Conservation 2016 was held
(A)  From April 9th to 12 2016 at Orissa
(B) From April 14tk to 17th 2016 at Calcutta
\'(p}’ From Ap.l:ﬂ 11tk to 14th 2016 at New-Delhi
(D) From April 6t to 9t 2016 at Mumbai

2016-é> yeflr ungsaiiys SULb @hlsa eperprang pH SennFsrae sl LD aiGs eriGurg
pen_Guppg? '
(A) 2016 gflsmelid, g 9 apsed 12 qpg s
@) 2016 Qerdsssreia, grire 14 (pgd 17 (pyw
(© 2016 ygdaalulea, guge L1 wpged 14 apgw

(D) 2016 apberunde, grira 6 gpad 9 apgu



129. Asteroids are found between

e

(B)
©
()

Mars and Jupiter

"Earth and Mars

Jupiter and Saturn

Mercury and Venus

eorCardaraer Glaasensd e Guw SiEPIOhHEIETeTE)

@
(B)
©
)

Qeauamb&@h e umpasEL
LBlé@ b Qesuamisg b
e wmpens@Eio §aflé@ELb

LFamI&EGLD Hauarafld@n






167. Who among the Indian-born 'American scientist bagged the prestigious award
Lemelson-MIT prize worth 5,600,000 dollars?

(A)  Ajit Doval |

(B) Mohamed Nasheed
V¥ Ramesh Raskar

(D)  Jagdish Tytler

<SG flgsredsr seyyeullés sﬁl@g,‘rrm Gewdsar-eribmy (Lemelson-MIT) 500,000 Lrai ufis
Glupp @68w eubereulll 2iGloflss ellgresrefl wri?

@) =fsGorad
B)  qpsiog paks
(C}  7Guwdy pegat
(D) ggéfey o oo

i58. Who won the GD Birla Award for Scientific Research for the year 2016?
(A) Sanjeev Galande
{(B) Raghavan Vafadarajan

(Cy  Sriram Ramasamy

P77 Sanjay Mittal

2016 b ety Hamen idlefuid gyppriédlsasrer GD Giram eflmdeamar Quibpeui wiri?
@) sgshen Sereims. ‘

B)  prseuen aupgrmmen

(C) WBomo grwenS

(D)  s@pel e



164. The INSAT-3DR was launched through rocket for Metereological Research on
8th September, 2016 by which rocket?

&~ GSLV-FO5

(B) PSLV-4
(C) Arianne
(D) GSLV-3

aps TEQsL epaid, elandeal] omisflssts INSAT-3DR-mw, sLbs 8, Getibur, 2016 ey
sfla@mClenafié@ SiguuiiulLg? )
(A) GSLV-F05
-(B) PSLV-4
©)  oflwres

(D) GSLV-3



165. Who won the Rajiv Gandhi Khel Rathna Award for Badminton in the year 20167
(A)  Sakshi Malik -
(B)‘ Mary Kom
(C) Pradeep Kumar

\WPr~ P.V. Sindhu

umBlesirLas ellenemwn_ig hama 2016 gub gy eigen pgien a;rr;isﬁ Caed rhanmm eflgrens Qubpeurt?
@A) snied ol o |

B) Guof Gsmbd

(C) QoS0 @roni

(D) 9.6 Apg

166. Which year has been declared by UNO as the “International Year of Pulses™

A) 2012
B) 2013
e 2016
(D) 2015

ThE UmL s siauCas LY QUIBL DTS 8. 5IT. Sy SiPleflS5g51?

(A) 2012
(8) 2013
(C)y 2016

D) 2015



178. The shortest National Highway is
(A) NH 48 (B) NH9
{C) NH45A U NH 47T A

Bsdganps Berapeanw GCaflw QnHEsFrme
(4) NH48 _ (B) NHS
@& NH45A - : (D) NHA47A.



+ 186. As explained by Robert Malthus, Population increases m the
(A) Proportionate ratio

\,éBr Geometric ratio '
(C) Arithmetic ratio

(D) Smaller ratio

s @sneos @l fssdd sPafadng ereny prufl wrdge shug)
Q) A8prisy ABssHe

B) Gumssesd dfssSs

© G eadssse

D) Sy SHdlssda

The Nelson Mandela Award 201.6 is awarded to

'ﬂ)/ Ms_. Tabassum Adnan T (B) Mother Teresa
(C) Ms.Padma Sachdev : (D) Mr. Narendra modi

2016 b wyeimg Hamar Apdsan aTGLwT 6 nmHear AubDeUT
(A)  Ms. gusid gy pen : B enemear QgCram
©)  Ms. upon siGaa . @ 86.6CpHCom,

Which country is going to host the 2016 twenty 20 World Cup?
(A) Australia ’ (B) Pakistan
#° India | o @) South Africa

2016 & menrLQumayarer 20 gailt 2 s Gamiau Gunf.qsﬁm eTBE BB pl_;iag 9_&}6115?
A e SCrellwur . B) urdlevgren .
(C) @bdur . D) QperenrOf&sT -



. @®)

Which of the following is correct as per the population census of 20117
940 females for 1000 of males |

(B) 933 females for 1000 of males

(C) 950 females for 1000 of males

(D) 953 females for 1000 of males

2011-1b ([ wéser AgTens 5@&615@:.’115!&! L 1eeupeuaTeuDmET eTgy SMlwimeng?

(A) 1000 syarsenss 940 Quanser -
(B). 1000 yamsemss 933 Auarsar
(C) 1000 syeimaesi 950 Quasmadr
(D) - 1000 gyerra@ps@ 953 Quasradr

Match the Indian medalist of 2016 Rio Paralympics with their sport :

() Devandra Jhajharia 1. Shooting

(b) Deepa Malik 2. High Jump

(© Mariyappan Thangavelu 3. Javelin Throw
(d) Priyesha Deshmukh 4. Shotput

(a) b @ @
o 3 4 2 1
® 4 3 1 2
© 4 1 3 2
) 3 2 4. 1

2016 AGwr unellb9 586 Lsbsib Qe @S slrismar Slairg d@anun GLT® QUTEGESIS.

- (8)  Gpeupdly gpggrAlur 1 SOHD
() Furwrdlé 2. o Wb ,sﬂdrr@gd} )
(© wmiwiuer shisCaug 3. iy erilga '.
@) uACweyr Csesaps 4 Gan(p erhlged
(@ o © @
@A 3 4 2 1
4 3 1 2
© 4 1 3 2
®) 3 2 4 1



11. Temperature decreases 'w:ithhincreasing heiglit at the rate of

(A) . 5.5°C/1000 m
M 6.5°C/1000 m
(©) 5.5°C/100m
(D)  5.5°C/10000 m

e wib SPsMEEn Cung Gopuybd Qautingflen el flg sieray
(&) 55°C geiQaunm 1000 BLLi -

B)  6.5°C ges@eur 1000 B it

(©) 5.5°C peuQairg 100 B i

D)  5.5°C geQaur 10,000 BiL it

12,  The distance between Earth and the Sun is about

13.

17.

W 1,496x108kms (B) 1,498 x 10° kms

- (©) 1,497 x 108 kms (D) 1,499 x 108 kms

i wpmID GilwesE G Cu o drer pb ereusueey . : -
(8) - 1,496 x 10° AGoT L L ifaar (B) 1,498 x 108 ACGam 8L L iraer
(0©) 1,497 x 10° ACem Bu_Lirser D) 1,499 x 10° HCeor B L iraer

Of the total Earth surface ocean covers about?

@ 68% - @
© 63% - - D) 52%
ilufler Qurgs urin9d sLellen uyaic - 5aigLD QGLD.
A 68% _ ®) 1%
© 63% . D) 52%

In which country the International Hindi conference was conducted in 20157
(A) India ' ;a/ New Jersey
(C) Singapore (D) Malaysia

2015&-&&@@;& @b LTETH TG BLESIULLE? .

@) @sdum O ® PuQgid

) sy . _ (D) wlaflwr



26.  Maich the following with suitable option :

List I (Language) ‘ List I1 (Family)
‘(a) Bengali - L ' Sino - Tibetian
@) Gondi 2. Austric
(¢) Kachin 3. Indo - European
(d) Korku 4.  Dravidian '
@ ® © @
(a) 4 2 3 1
s 4 1 2
) 2 3 1 4
® 3 1 4 2
sflwres aflanLaow Csiasbhss AuIBSHSE.
ulgue I (Guomd) ugwe IT (@@Hubub)
(a) Qursamed 1. Senm-HAugHuwiest
() . Gamawrg 2. evgfs
(¢) s&flan 3. @pCsr - CrmnGwen
(d) Caniig 4. Horelien
. @ ® © @
@) 4 2 3 1
® 3 4 1 2
< 2 3 1 4
D) 3 1 4 2



45. Which of the following regions in Indﬂl is a biodiversity hot spot?
(A) Western Himalayas |
M Eastern Himalayas
(C)  Coastal Andhra and Orissa

(D) Jaisalmer-Barmer region

Bpésar_aupgier orgy SHL mefileh 2 eimem L@Af gorCevum
A) Cupg afwrewur | - '
(B) dysg aflorowr
©  sCony sy wppd> Ger
1)) Ggu]ana')mfr-ur}ﬁmﬁ UGS
46, Which of the following areas or region is most prone; to Earthquake? -
| % Ganga — Brahmaputra Valley ' -
(B) Deccan plateau
(C)  Plains of Northern India
(D) Western Ghats

R sifswrar fopEs gHUGD LGS
- (A) amsrr'- ﬂubmuﬁﬂw.uﬁmﬁﬁﬂé@

(B) ';ss'm S

© o @phu sGah

®) Cuphpe s reflvane



47,

48,

What is not a file system?

(A)  FAT32 ' ~ g® NEFT

() NTFS o | D)

Sipssam_eupblen, erg Camients -Qaﬂmm S wrgi?

(A) FAT32 T (B)

) NTFS D

Expansion of BCCis

(A)  Basic Carbon copier
(B) Blind Carbon Copier
(Cj " Basic Carbon Copy

' y Blind Carbon Copy

50.

BCC eremuigen aflfleundswn

(A)  @gluen BFEOSh

- ® - Plur pEED
- © auq.uumn_w

D) =iflwurpsd

One light year is equal to

9.460 x 10'2 km (B)
(©)  8.640x102 km ' D)
SO pofl Y arenug) -
(A)  9.460x 10" §..8 ®)

(©) 8.640x102 &, & - ®)

EXT2/3

NEFT
EXT2/3

9.460 x10'® km
8.640x10% km

9.460 x10"° &8

| 8.640x10' &5



55. The Kanha Natural park-is situated at

59.

72.

(A) Madhaya Pradesh

@ Rajasthan
(C) Bhutan
(D)  Uttarkhand

sangor GeAwL yrismaller .ammeﬁll_l;b |
(A) | wsHLULACHHD R |

®) gngeognen
(©)  yurer

() JPe—

Where is the 19 Youth festival of India held?

(&) Bhopal - : (B)Y Goa

V Guwahati . (D) Bengaluru
19 aug @pHw Qevengriser Hmallpr erii me_GI;In'Jmﬂ? -

(A) Gururé . (B) Gamaur

(C)_ seyanTsl : . (D) Qurﬁ&@@

In which year, the Mahathma Gandhi Peace Prize was ipstituted_? '

(A) 1993 | @ 1995

(C) 1997 o (D) 1965

T & e ETHT ETHEuden Dimwféarar o mg ConpoiefssiL L g?
Ay - 1893 ' (B) 1995
© 1997 ' ' _ - (D) -1965



73.

75.

Who among the following is the pioneer of the theory of neo-realism?

M Kenneth Waltz

©) Barry Buzan
(A) Qsemeng cumeds
©€)  ~Guf wemer
Punjab is the home of
(A) Damali

(B) Tamasha .

(C) Lezim

jaf Bhangra

. LIEH&TL eTsg Br_HUD swmewullen 2 cmeilLb?

(A)

(B)

(©)
()

lomedl
glomagr
Qevadit

URISTET

(B) Hans Mdrgenthau
(D) Raul Prebish

- Epamuaisais yHiu 2 raoauns 5@5@& G&rn_'.urn'_'lq.&r @s&ermq.u.mé Hspueuir wmi?

(B) apmenay wrrsEGHT
(D) Qrerer GAQU&L

folk dance.



97.

The difference between memory and storage is that memory is - and

storage is

% temporary, permanent

9-9..

B

©
D)

permanent, temporary
slow, fast

static, dynamic

Pavarauss wpmb Gelllusser Cagunreg, Heaemausd eénLg ————— wHpb

CafiCiusib arenLgl ~

(A)
®
©
D)

shardswreng), Hoourag
Pawwrag, sHsrdlswrag
Qugleurang, clleraurang

1Y) rr;B]aba;. Auiighame

Year Supreme Court first time banned the ﬁiﬁng activities in Aravalli Hills.

P 2002

(B) 2003
(C) 2004
D) - 2005
2@ (g'agsh' wsdle 2 ispflodamd orudd weolLEHND  FrgssH
aHlueng e G&u’.lg,g._l. . '
@ 2002
(B) 2003
(©) 2004
D) 2005



11.

Multimedia is a combination of
(A 'Au;:].io ﬁnd Video only |
(B) Video and animation only
(o] Animation only o
V& Audio, Video, Animation and Text
wédig Big wir eremgy Gencusafid Cairiay
A G, 6y Cum w Gid
B). efiqCuim, SiefCoagér ol Hib
©  wefGiegér ol Gib .
()] .&q.@u.ur afiig Gui, alaﬂGmeqar o Qu_isavr.

A computer ﬁrogram that converts an entire program into machine language at one time is
called ' : ' -

(A) . Interpreter l_ _ \,{ﬁ(Compiler _
(C) Generator (D) Simulator

en seiudurftler fird @ §La1a4 sar pup Hoosmenyd Qumgd ému@és@ wrppems
—— TN, . o '

4) afl Qurf wrHd S (B)  Qumf wrhif

‘(C) e-(heurssl . (D) ureienerTITES)



13.

14.

The features of Stalactite and Stalagmites a‘rei?m ted with

(A)_ Glacier - : Karst topography
(O Wind _ ' " (D) Seawaves
oL TedmLL LDHID UL TeE@IDL GI'GWLIG!I’ Psgiér Aem_i L wee
- (A) umﬂﬁm : : @B) srievl. flaln@yGgsi
(O sy ' D) s _d s@sdr
Match List I with List I : _
_ List] List I
" (a)  AF ' 1. - Tundra
() BS 2. Desert
(¢ BW '3 Steppe -
(d ET 4.  Humid
@ ® © @
@ 3 4 2 1 .
® 4 3 1 2
0 1 2 3 4
4 3 2 1
ulguwed gwgﬁlm Ui Ied @r,taur@t_ar Qutr(l_r,pﬁ sflwrar eﬁlml_m«.l G,sneu GEII.I&
uCge I s wed 1T
(@ AF R Ty
~(by BS 2. ureeeID
() BW 3.  w@Ll9
C(d ET 4. Fpgm_tb
@ ® © @
A -3 4 2 1
® 4 3 1 2
© 1 2 3 4
O 4 3 2 ' 1



15.  Match the following dams with the states in which they are located :
List I - _ List IT

(a) Hirakud project '_ | Andhrapradesh
(b) Nagarjunsagar project 2 Kerala -

(¢} Rihand valley project 3.  Uttarpradesh -
(d) Periyar project 4,

Odissa

@ ® © @

v&)"; 1 3
- 3

2
- @B 1 2 4
© 4 .3 2 1
™ 2 4 3 1 |
- &Cyp Q&I‘I’@MLILJI_@GTGT DADETHEDET DT ammpgmm wrfleusGam® Qurrws '
Cutiguse I ’ Cutguwe II
o (a)  efimrel Sib ' L pdniyCssid
(b) pranigroén snai HUL1b -2 Cspemr .
(© epsamn udtersgrag Hlin 3. n_pﬁm.‘ﬂycym
(d QuiwmrSin 4.  qusr
@ O © @
A 4 1 3 - 2
@B 1 2. 3 4
© 4 3 2 1
D 2 4 3 1
16.  The value of solar constant s ' |
(A) 4.5 calories/cm?minute ~ -'(B) L5 calories/cm?/minute
ve}’ 2.0 calories/cm?/minute ® 1.0 Qalorie!em“lniinute
‘®fw ordlel)’ — ulldr wHiy '. ‘ | - :
@A)  45sCorf/Qaf/BB s (B) 1.5&Cerk/Qss/HlLb

© 20sCorf/Qsb/fBb (D) 1.0 &Camf/Qas/BBLD

17. Thelocalwmdwmchlsknownas Snoweater’ml -
B) Loo

_ Fohn _

vecf Chinok . (D) Mistral
‘vafl ecirentl’ srarpwgssuu@m ,sm&a.rrmg] _
A Sumer . B) e

© ogrs ®)  Aeoiyed



Eg;.

Match the following :

(2)
(b)
©
(d)

Y

Sphere
Troposphere
Stratosphere
Ozonosphere
Ionosphere

(@ ® ©
T 2
2 1
4 3
3 2

= bYW O

GuUTESSIS :

(@)

(b)

©
R (Y]

I'.

L.
ITL

IV,
Gy
- ©

O ke b =

Qgr@Hadr

'LG;rn:JGurrsiuiSl_u.u’r

oL Cor CLrdouf

gGanGenmenSiwi,
- guiGanmeviRer

@ ® ©
2 3

1 4
3 -2
2 1

Kaka Kalelkar
Vallathol

~ Jainendra Kumar .

Mama warerkar

I
m

@ -

- e
R N U

Relatedto
Chemosphere

Mother of pear! clouds
Region of mixing '
Aurora

Qgm_iny _
QeGurenui

 apsgIiCunénp Cusgger gmis

soluL darad -
2 Cymym

SC

|https://t.me/tnpscfrée .

Which one of the following is not correctly matched? '

* Gujarati writer
Malayalam writer

_ Hindi writer

Assamese writ_ei-
| ® I

\pf_lv_

Spasan mbgsaﬁé: aig sfuns Qungspéﬁémm? -

I
II.
Iv.

A)
©

asrar sGaeaaET

. audaGgre

QgiiCanp Sy @romi

wiror uCETET
1
13

eRIEH Quond agpstert
IDe@@WTET SrpSBTATT
Al srgbpret
" Ssvaum sr@ggmf‘r
o ® I
O Iv



35.

Match List I with List IT and choose the correct gnséver from the codes given below :

(a)

(b)

© .

(d)

W 4 1 2 3
® 1 4 2 3
(©) '1 4 3 2
@) 4 1 3 2

Lt igwied T Sppa Ll qwd I Qurpsgs. siurar sfleoLeow PSP sd®mis Coipas@ :

(a)
(I_:)
- ©

@

@
®)
©
)

ListI
' ChenpakeshavaTemple : 1.
Hoysalea.wara Temple ' .2'._
Keshava Temple s
‘Panchrakuta Temple - ‘. 4.

@ ® © @

uigwe

QeireGasai Cando 1.
ogmmnw'm'rcmm _ 2.
'c;mﬁweq s
Q@Mcsnﬂé: 4.

@ O O @

o o
e

2
2
3
3

o b o

ListIT
Hﬂebeedﬁ -
Spm;nathapur; L

Belur

pegueTl
anfSQ
Co——
Gorclppaced

Gugnit -



69. Where was the National security summit, 20186, held?

(A) Washington

\’(pf Kazakhstan

® Poland
(D) Belarus -

Cphus umgiamise e sBompn( 2016 aTbs DSBS BLEFS?

@A)  wrefhLer
© sgsdvgnan

70.  7ZIKA virus is associated with
(A) Water fowl

_ Up)_/Mosquito .

dEsT eneure) Gl;sm_l‘iuml_u.l 2 uflir @emb
A e u;os»é.l '
(O Qsrs

. (B) Guraps

D) Quegsd -

(B) - Pig

" - (D) Bat

® g

D) Qauaraured



71.

72.

Mention the two satellites of Indian universities launched by PSLV — C 34 on June 22, 2016
‘y{ SATHYABAMASAT and SWAYAM

() SRMSAT and ANUSAT

(©  NIUSAT and SRMSAT

(D) ANUSAT and SATHYABAMASAT

gan 22, 2016 @m PSLV C34 @w)m Fatiut L @pduwis ummmg;;msﬂﬁw @q_r, Qewpenss
C&n‘erswar @gﬂuu&l@a

(&) SATHYABAMASAT wjgb SWAYAM
(B) SEMSAT wjpi ANUSAT

(©  NIUSAT wppu> SRMSAT |
(D) ANUSAT wpgri> SATHYABAMASAT

Which country hosts the summer Olympic games of 20167
(A India - (B) China

(0 Japan -. '_ \9)’Brazﬂ

2016 .g,l.n iy e CamenL_sme gaﬂmﬂs eﬂmaru_un_@ Gurn_tq.mqr ﬁ'—ﬁélm W"@ “g? B
@ @pfur . ® e
© ggﬁum;‘n - o B D) YCGr&e



74,

5.

Identify the correctly matched pairs among the followmg
(a) Dlpa Karmakar - _Gymnast
(b)  Deepika Kumari — Archer

Find the name of ﬁhe satellite from the clues given below.
@) It was launched by India in April 2016
(i) Itwas India’s 7t Navigation satellite

(©  Neerajchopra —. Athlete
(@ JituRai - - Shooter o _
@ @ and®only . ® @amd@only
© ®and@only | LPr Allof (&), (B, (©) and (@)
- Qéramesaraipgier sflwurst QumsslinL Herar @Wsmer& sar_ls:
(@) Sursiorsr - Sl pupd Qalinieuit
(®) Sdsr@om - dléermemi
" {c) jﬁm QGsmiigr - gLsar el
(@) @g |;m1|.| - guurr&aﬂ& a’-@m Gum_lq.u.llram _
A (a) opgd b) o@D B) (8) wpgb (©) v GD | _
© Ouopo@octe O @) )6 wipd (@) whu swasgid

(iii) It made us have our own GPS syatem thereby Jommg the ehte group of selected

_ nations _ ] _
vgﬂ’ IRNSS - 1G ~~ (® IRNSS-TF

(C) IRNSS-1E - (D) IRNSS-1D

5@9 Qar@ssiuc@erer @Hloysafiampg AeupmsaCarag Quuars sam s,
0 @5 T0re 2016 §o, pHurans TeiLL g

() Q5 @sfurde Tag s_Comn o AsupassCaramed

i) @p posdssp GpECusors GPS gomdmen: Gup el

Ggrrp@p@mul_l_ mn@mﬂm CuCemadw @@G@m@ Bememu S5

(4 IRNSS-1G - (B) IRNSS- 1F '_

(C) IRNSS-1E o (D) IRNSS-1D

2B - EpeLd



76.

T7.

78.

The country which won the UEFA Euro Football Champmnalup in 2016 is
(A). Germany - , (B) France
V& Portugal - @ TItaly

- UEFA afén 2016 gGymiudw sréupsm’ L O Ll jeng Qeudnp BB
A Gamnaﬂ ' ®B Dyrreing
- (©)  Gumissd - D) @

Find out the first Civilian Presldent elected by Myanmar Par].l.ament in March 2016 from
the ﬁollowmg options

2\ Ittin Kyaw

(B) AungSan Suu Kyi
(C) Myint Swe '

(D) Henry Van Thio

 wmriF 2016 Blwemomt ;arrl_rr@mm,sﬁd} ng;@@g@muuu._; WPED @w@em emue)rrg gemfud .
wmir srarrue»gs &g;rsam_ eﬁlml_aaﬁ%mg sar(Hi9n. :

(A)_ Bger sweu
B iusagd
(C) e el

D) apari wlrét.gﬂGu.m

Identify the correctly matched pair .
(A) 2016 Abel Prize — Ms. Tabassum Adnan |
(B) 2016 Nelson Mandsla Award — Sir Andrew Wiles
| * 2016 UK Founder's Award — Mother Teresa
(D) 2016 Pulitzer prize — Ms. Han Kang

- sflursl Qur@ss L @G drar @mmﬁnws sam_;ﬂs

a) 2016 qrusn ufls - Web. glshed .gn...mar
®B) 2018 Glpmm oamGLeonT g - & %‘“"—@ efllébein
(©) 2016 Cx. Pipaseni g - Hidewer a,mrr
D) 2016 qe.Sll_arr ul'ilai W60, @pmes &



80. ‘HD131399 Ab’ and ‘Kelt — 4Ab’ of 2016. What is common among these two‘?
(A) - Viruses which spread through mosquitoes
\‘GB( Planets orbiting a triple star system
" (C) Vaccines used to cure dengue fever
© . (D) Spacecrafts launched by NASA in July 2016

2016 @m. ‘HD131399 AL’ wpmib Kelt — 4Ah @mm @W@m Qurgieuren jbsaD crg?
(A)  Qarsssammd uredsagw SIS %w ' :

B) oew plesdy pohdamar spHlaumb Carasd gEw |

© Qg smiksae GRUILEES 25o1b SO OEHHENT B

@) 9w 2016 Go, NASA eflé gauiuis elearQacis sodssr ge0

8l. Where was Def Expo 2016 held?

@ Mumbai . um/coa

_ (C) Vizagapattinam ) (D) Guwahati

QL crm@un, 2016 crmg peoQuppg? .
(A) e | ' ' ®) Gsnaun :
©) efleraliulgand - D) Gseraprsd



82.

- 83.

What is the special news of JUNO spacecraﬁ; launched by NASA in Ju]y 2016" '
(A) It measured the magnetxc ﬁeld of Saturn

W It entered into Jupiter’s orbit Tl

(C) Itrevealed the existence of water in Jupiter

() It orbited the moon of Jupiter

NASA dflanréd ggOanen 2016 - @ geliurL g@(i‘-wn' (JUNO) dllansasHer Apliys Gau,'ﬂ wmg?
D) Qg salbieny sTEsLLREMS SeTSH Qau,sg

B G dungery spyLUTEEES BIRRHES

© Qadwnpaie Bir siewpBmiuas Qo g
® B eﬂwmmmﬂmﬁ\méaw pss |

. Identify the peraonahty

(i) He has been appomt.ed as the managmg director of the 2019 ICC Cncket World Cup in
- July 2016 :

@) HemtheformerSouthA&icanfasthwler :

(ii}) He will also oversee the ICC Champmn trophy, 2017

| & Steve Elworthy

(B) Kyle Abbott _
(C)  Jonty Rhodes -
(D) Gary Kirsten

PUMY S naTh slra'ms '

. @ g@snm 2016 g, @eur 2019 ICC &ls‘il&-@a;_ 2055 Gsrrumumm Coerear Qusaprms

PulEstiun’ @ararmy
() Qe pavarrer Qpen g 19MEs Casliupg dSssmemt ayamit
(i) @auir 2017, ICC smibiuenais Gamiemuissmer Gum’ i eis GiopurieendGeuri

@) . evwd aoAanid

B)  osd HLCum

(©€) grang Cym_chv

D) GsM Hisiver



85 In the year 2016, where was the first Maritime India Summit held? *

&)

Chennai o (B) Cochin"

_\jB)/Mumbai () PortBlair

2016w m@;;ﬁw TG Q,p;mn'l.n &L mrr.m,s @pﬁm e ¥8 wrpr@® meQumma?

A

©

Qeenenar ' ' (B) Qanéé) .
@by . B () ) Qumi_ 9Carir

86. Who is the first Indian to win the title of “Mr. World” in 2016?

@A)
(®)
©

Rohit Sharma =
Nicklas Pedersen - .
Jordan Williams

\J®7 Rohit Khandelwal

(A).
®

©
~ Cynadl anpgeraind -

D)

2016*:510 qba‘ar@ s MW‘” I..IL—L.ﬁGDﬁ Qmalm @gm b wimit?

Coraflg agior
féeev Quifigen

Cggmi_rmer eflébellwiien

91. Animportant objective of National Population Puhcy of 2000 was
\,( To achieve a stable popu]atmn by 2046 . '

B)
©

™

' Reduction of birth rate
Improving the quality of pop ulation
Reduction of death rate ) '

2000-gy1b Sy 6ir, CEAW wéser Qgﬁws ermirm'mﬂs‘u't wpESw @;ﬁlé@mﬁt _

®)

©
@piy dSpses GopULE

()

2046 b 2yarg HEeT Flevawiren wésdr Qgnensamu Sie_aug
Aoy Sppes GoPULS
wéser Qpreaen SrEms 2 WiGHg)



101.

108.

113,

In atmoaphere, the alt.ltuda of 11 Km to 50 Km from earth surface is called '
(A) Mesosphere : WStratosphere
) Thermosphere . 1 D) Exosphere '
Qi masm_sug;@m qsﬂ Gmgpuuuﬁlw Qmpg 11 &.5. Qp,m) 50 4.5, oy o arar Lggleow erdueumgy
@;ﬂmrn.o : _ :
(A)  BGsrwemon . (B) 6ol G CLr woam_wib
(C) Ganiu wered ‘ L D) Qe wem_ad
The sugarcane plant is propagated by _
(A) - Grafting UBJ/Cuttmgs
(C) Seed ) (@) Layering
- &by crmmnm BeniGumésd _Qau]uﬂ:u@ﬁﬂ'rmg | _
'(A_) SLALCUTRge - ' (B) E-LCLE
C) deng _ ' : D) uHwubCurpss
_ . |https://t. me/tnpscfree
India’s first super computeris - . B .
(A) Agni . : - | (B) Flow solver
Param S - (D) Trisul
BpHunaiér wa @ﬁuﬁ_'mg_ur _ _
@) Agni . (B Flowsolver

(©) Param o (D) Trisul



114 - Match the wind energy plants in Lmt I with then' state in List - 11 :

(a)
()
@©
@

List1
Muppandal
Satara
Jogimati
Mandvi

e D e

- Quasigs:

- 115.

()
(b)
(©
@

Gy
®)
©

@)

Ul gused I
QlULpED
st
Gggrdliog

@ ® ©

N

Lol

(d)

:-Nl-f.h

o I I

G

e DD e

List IT
Gujarat
Karnataka
Tamil Nadu
Maharashtra

uCigue - I & e drer srrm;parsnm S n_;pug,@ ﬂmaau.rm&a)ar LlI_lq.l.l..lG) I & o eirer wnﬂmrﬁs@m

Ui iquréd II .
GRIS
SiBM_&LD
5 BTG

Identify the incorrect statement from the ﬁoﬂowmg

- (A) The alluvial soils occur mainly in the Ganga-Brahmaputra plains of India
The tropical chernozems are otherwise called as black soils in India
Laterites form a ma,;or propomon of soils in India

Desert soil is found in northwestern part of India

®

(D)

&Cy err@muu;@mmsaﬂm gmgnn'ar surrsﬂmgm; SPLLITETD ENGHTE
B Hurelldr e WaT, SRS — Qroysrr swCasfiudld sifsb mcwuu@aﬂw
Sier e QaiGensid eren wei eans BbHwrelld afisd war arapeny&sLuGAng

@A
(B)

©

@)

Sipurelen wer aumssaid syma war wws G 9TETr speissms wdslaps

Lrenes e GiHuireden an_Ciope LEGHTD steriLEADS



117. The world’s largest riveriﬁe_islan& gituated in river Brahmaputra is

(A)  Varanssi _ . LB Tsang-Po
\ﬁ( Majauli . D) Manas

QribioLgom @;ﬂbamwpge‘;m 2 wfén B Quitlw q@gﬁ Eqy

@) amema . B smhCur

© ogad | (D) wnenmev

(D)  Harris Lippershey

efuafia s@mwm aénp amisHenen Qmaﬁu!ili_u_a:r'r
@) . s Aodlub AapiQayd '

B)  gbui gerded

©  Pylie

® Qapfes Souiday



139. Consider the follomng statements. Select the correct statements from the codes gwen'
‘below. :

L Sahitya Akademi Awarda are glven by the government of Indm for good literary
contributors in various languages.

. I Padma Awards are amongst the highest Civilian Awards in India.
I Dada Saheb Phalke Award is awarded by the gavernment of India for persons in ﬁlm )

_ mdustry
IV. Kalaimamani Award is given by the govemment of India to the Artists in different
: fields.
@ Todly " ® Nonly
UQ’ I, IT and HI I ('D) IIandIII
'ﬁgm mwsﬁmmm sq;gﬁw Q&rraw@ &Cyp an@s&um_@arar %n@ulﬂﬂﬂ@p@ sfwrien
ansdusns Asfia; Asiis. :
L .ﬂrﬁg@u.rrr SiEm_s Az Gmrrgiltﬁlmﬁiw ;wa: gnsmu cr@yumm@sg @pgu.r
SipETisssre auprstuGdpg.

IL  @pPureiler AurgindsEndarer uSIe & WibS eﬂ@gy&m LG eSlmEIEeT LW,
IOI.  gngr &Gl umaCs sﬂqu Qpdu feor uLjgep . aué)guplru@sg @pﬁm acrmm

apisiuBApg.
IV. seawmossf eﬁl@g& @pﬂtu allj‘mmwrrm LIEIe0D mgn&g&g aprstiuGApg.
A Iwl@o : B) IVwlepw :
(O LIDuppolll : _ D) 11 whgeb I .

169. Which vehicle is used to launch 20 Eatembes in a single flight on June 20167
N PSLV-C34 | ®) PSLV’
© SV o . @) GSLV

aw 2016 &, 20 gawm Ganarsenar @G penpullcd eﬁlmauﬂm Qegis uu.umu@gﬁlu ez ergl? |
(A) PSLV-C 84 _ -, ® PSLV '
(C) SLV ’ o (D) GSLV



171. ' In April 2016, Mehbooba Mufti took charge as the first women chief minister of
(A) West Bengal o : |
® Assam - |
{©) | Meghalaya

| vcpf Jammu & Kashmir

Gl 2016 & Gugpyss wupn, @5 ol e Qe (psd sl QuTpuCUPPTT
@) . Gooearisrend - | B
(B) =ieveombd
(C)_ | . Gmanmu;!rr

© o & sreybi



174, Where did the Indian Air force successfully conduct Exercise Iron Fist 20167

175.

\ycf Pokhran -  (B) Odisha
© - Vizag - (@) Goa

@ shoneiue “ésemss i G 2016” g QaupPanons e pLEHLE?
(A)  Qumpmen - (B) guer '
© eowsms . (D) Csrmam

' The official Olymplc stadmm hosting the openmg and closing oeremomes of 2016 summer
. Olympics at Rio de Janeiro Brazil is

(A) Rio Olympic Arena -
B) Olympic White water stadmm

. uer Maracana stadium

-176.

D) Havelaﬁge Olympic stadium

GCradialler e.grer AGWM 1 QAefCGrrefld KL &@n 2016 greﬂmﬁs Gumy.safiér, gjsussm PO
Wlasy Apssedr pwu@umaﬁl@agm sﬁlmwu@ .alcrmsl.o aTg?

A AGum ﬁﬁawﬂﬁ o
(B) gdvas glﬂl_mnu_lram'sﬁ: _
‘ (C) Ly SEreTT sﬁ'lmmm_@ S\FEIED
(D) ﬂDG.IGOlTIH eﬂmﬁls eﬂsnmu.lm_@ SAPEISD

What is the total fhght duratl.on t'rom ]aunch to landmg in space for Swadeslu Spaoe shuttle
launched in May 20167 '

() 640 sec. . - (B) 660sec

(C) 750 sec B mm sec

2016 Gw W, QeggpiuiL sCs8 arQeaat m;ﬁm@, sﬂmrmﬂm qmuuu_ﬁcﬂ@w cliair
Qmaﬂtﬂw @mmgm msnmqm Qg umsgm &) SieTey mmm‘?

(A) 640 allemig. . B GGOGﬁlarrnq.
() 750 s&lamrq.' _ ' D) 770 Aeamg



177. ' As on June 22*"i 2016, India’s latest earth observation satellite is
w’ Cartosat — 2 T (B) Cartosat—2A
(C) Cartosat—2B B "~ @) IRNSS-1G

®Oar 22, 2016—@6!1 Uy, s  S@Tenudd FautiLCL @pgulrsﬂat qsﬁlmaﬂuurrmm

. QewpersiGardr Qgaun@h .
(A)  Cartosat—2 : ' (B) Cartosat - 2A

(©) Cartosat— 2B I (D) IRNSS-1G

178.  Who sworn in as the Prime Minister of Britain in July 20167
' (A)  Andrea Leadsom . (B) Amber Rudd
(C} David Cameron o VGB)’ Theresa May

. ®9ana 2016 - & QAL afic Gysw whHAwrs usAGLIH DT wmit?
@) gpemg M eSsmb _ ®B) .ﬂ,ﬁ)uf; L _
C©) Ol Gmomer - . ®) GsgerGo -

179. The summer Olympic games of 2016 has commenced on
~ August, 5, 2016 o . (B) _"August, 2, 2016
(C) August, 4,2016 - " (D) August, 3, 2016

2016 gy eyeimupen Caren_smer pedlibid elleosmuim’ Bis Gunt g sdr Qpm_ridiu prdr
@) s0E, 5, 2016 - B «s®0.2 2016 °
O gsn@ 4,2016 . o (D) gEDE.3,2016

181, Where was the World Cultural festival held in March 2016?
(A) Kolkatta _ (B) Mumbai
\ @ NewDelhi .= - . (D) Gujrat

womits 2016 - & 2@ SOTFFN sﬁlgjw TG péwn.@uﬁ:j:g?'
(A)  Qsréssst . ® @beu
© ugHod | . D) eyms



191. Match List I with List II and choose the correct option :
Act ’ -~ Year
1.  Air (Prevention and Control of pollution) Act (a) 1986

2. Water (Prevention and Control of pollution) Act (b) 1980

8. Wild life protection Act | . ). 198_1
4. The forest conservation Act @ 1972
@ 1974

(A 1-a;2-e:3-c;4-b
B) -'l-b.;2—c;3—e;4—a

')3)/1—&:;‘2—9;3_—':1:4-11 |https://t.me/tnpscfree|
©) 1-¢;2-d;3-c;4-b - -

L g It qwé Mo Lér Qurmgd sfiwner aiieamus CaipAs0 :

JI'_I_Ib. : : oy
1 ?ﬁﬁé buaur_r@ SOULES LD : . (a) 1986
2. gewedtit LIGUTH FHLILEF LD : () 1980
3. \;a.m e_uﬁliﬂmu UNEIETLILE S 1 th | (3] | 1981
4. auenlurgsTOLE st _ S (d)y 1972
@ 1974

(A) 1-a;2-e;3-¢c;4-D
@B) 1-b;2-c;3-e;4-a
© 1-_-c;2-e;3_—d;_4—b

(@) 1-e;2-d;3-c;4-b



101. The plahet similar to earth in mass, size and density is

M Venus
(©) Mars
(D) Uranus

Hlenp, siemey wHHID auﬁgﬁuﬁlé yflanw) 9,’5&@&@;&: Camer
@) ugen o |

® OGecrel

(C) Qesueumi

D)  wyCyenev . n

1 ;1. Who among the followmg has been regarded as an eminent Inchan Painter?
M Ravi Varma S L '
. (B) Pandit Vishnu Narayana | |
(C) Prabha Atrey
- (D) Shanta Rao

Epaumpueumer wi 85E apps @.u;s@u.l @elwir eyeunit?
@) yel auinon |
| 3B) e eflciggny prymuseerer
; (C) ﬂuun%l.‘.(?u . ' |

@) smpgm pres



114. The Life Expectancy of India during the 2011 census was |
- \/ 69.897 years | |
| (B) - 67.56 years
() 66.45 _}ears ]

o) 65.60 years

2011 gytb e wiser dﬁ_rrsns smfé@s@ﬂ Geir Liig. QbBuwireller spmefl apuisre LY Q,mg
(A 69.89 syan(adr | I
®B)  67.50 ganGsdr
© 6645 syanfadr

(D)  65.60 pyan@sdr



127, In Indié, the soil type which ranks second in terms of its 'surfé.oe area is -
(A)  Alluvial soil ) : (B} Black soil
\(9./ Redsoil | (D) Laterite soil
ApHwreflé um::ume&lﬁn @rer_mb @u} éJé]ésglb DG GUEnE
A)  eueiné wer : B) s war

(C) Qabwoer _ : _ (D) smEs6D et

128. Match the following rivers with their tributaries.

Riyers ' ' Tributaries
(a) Yamuna 1. Dibang
(b) Brahmaputra ' 2. Penganga
(¢) Mahanadi T 3. - Betwa

@ Godavari : ‘4. Sheonath
@ ® © @

o s

® 3 1

© 1 4

® 2 4

==L

&Gg; Qsr@&siL Hérer sl simasefin giemar pHaCarr® Gl;lrr([r,ggrs.

pisen - ' _ Sleveo pélaer
(@ wpenr L Bum
b)  Qobwysder ) 2. QuensiisT
’ © wvampd 3.  Quiamr
(d)  Gangrad 4. fCunpTSH )

@ B © @

®
©
@

N W oW
AR e
- b b
c.o'cp-l-;sl\_':



145, Wluch of the following organizes the programme for the award “Indian Young Scientist,
' 201677 . _

(A)  NASA . _
(®  ISRO (Indian Space Research Organization)
(C) IMD (Indian Meteorological Department)

y Space Kidz India . m

élarm@ummaﬂﬂm srpﬂgmarm “Bpfu @emd efgresred 2016" AmBparen ﬁl—Lﬁmg -
ArLduBSHADS? : .

@) prer

(8 ISRO .(@:sﬁw cdeiniosch i) Ppasann) .
© * IMD (@fu archon gioggon)

(D) SvCuev A e G /

-

146. The GSAT-11 spacecraft a communication safe]]ite will be réady for launch by the end oi' the

(©) 2019
D) 2020

GSAT-11 e paeud dgmiy eilarsb aiE ey Qs Qsgiss SLUTTTS BMméeEn?

@ 2016
® 2017
© 2019

D) 2020



147. ‘India Bio Diversity Award 2016’ has been given to
(&)  Khanchenzhariga National Park, Sikkim
- (Bj Kaziraﬁga Nﬁﬁbnal Park, Aséam'
49/ Pakke Tiger Reserve, Arunachal Pradesh
(D) Corbett National Park, Uttarakhand

@ﬁﬁu-.uééﬁﬂum eﬂl@ 2016, @sHS m;ﬁrﬁmﬂ'ul'_édrng '
A s@sg:jaﬁsrr Gaélw H,rélsrr.l ﬂénﬂ_&)' ‘ -
B sréigrsr Gsaiu @érr, aébau&m -

(0 “I‘Jais(!as LB EET ETLILSID, SiHERTEFD QgCaad

¢)} smr@UL Gsflw LIS, o_gﬁr‘rsrrahﬁ.'.‘ o



174. The ‘Southern Oéci].lat.ion’ is observed between tixe oceans of
- YO Indian and Pacific o
(B) Atlantit and Pa.ci..ﬁc |
' (C) ‘Indian and Atlantic o
(D)  Arctic and Atlantic

.' ‘Qén siwway e QQQQ@.;EISL_@&@&@ @ Cu @ml_nglﬂ;ﬁer.
A) @;‘aﬁu.l whyid u.ﬂlﬂief;; | | -
(Bj " oA onaimad HpID Y
) @;aﬁu.l m;bglb atm';rsﬁrq.é -

D) =yigs wHHID S reTe s

175. The ﬂobd forecasﬁ.ng centre for river Subarnarekha is located at
. (Aj ~ Gandhi-Sagar | -
{B) Guwahati .

- sLierCrar pHufler Qeudrar qréaﬂé;qﬁs enLowth SiDOHFITAT G 1D -.
W  snpd o | '

@)  Qsmaprid

© yaCade

© goumigh



176.

177.

The least populous union territory of India as per 2011 census is

M Lakehadweep

(B)
©

@

(A
B

O

D)

Andaman and Nmba: Islands

Daman and Diu

- Dadra and Nagar Haveli

2011 m&@s@u:ﬂmq GODHE mssL_ancnmu.l Qsreaim_ @mﬂu.l ueﬂluaﬂ ﬁlucgm '

@‘“'—55:501 .
SiHFLoTen LoHHILD ;ﬂé@amnﬁ'wﬁ :

LMOGT Whpid eliwh

BUgTT wHmd Bt apGeuedl .

In which of the following places in India evergreen forest is not found?

@
(B)

Andaman Islands
Assam .

Western slopea ot' westem Ghats

M Deccan Plateau

®)

©

)

&Gy an@a‘mﬁ:uﬁ.@drm Db u@,ﬁa@_r,dr useo LTPT STH&T oeors LGH
@ | |

aj;'spmrrér Sayser

S|GDEVITD

Cupa Apm_irsfl weneseficr Cupes sfiey

;&&.frm Sl



'193. . Which award has been ngen to Prof. Ashok Kumar Smg]:m by Presldent of India reeently'?
{/ National Geo Science Award '
B) ‘National Social Science Agvard
(© National Physics Award
D) National Aériczﬂtml Science Award
sbusfe @pdu @q.muas,s gma.m aa.nrrsmm srmsﬁl@@ Guumﬂlﬂu.m SCsné @Lom ﬁmﬂs@
eug;umsuun_u_g? '
(A) ' (‘s,s.ﬂu.t yelfl auﬁleﬁlu.tcu sﬁ]@g
B) Cpluseys auﬁ]aﬂwe_a sﬁ'lq_r_;g
© Cshu@updue Bog
) : Gsflw Gmmmalﬁlsﬁluw sflang

' 209. Which country won the ‘Copa America’ Cup of 20167 _

W Chibe - | L

® Argentina o

© .Brazil : \
D). 'Umgua&'

‘Canur HQuofésT 2016 CartieLau Qeueirp i ag}?
Ay a9 -

®)  sridgangem

© @cre

® 2ot



109. ‘Born again 0!.1 the mountain’ was written by the mountaineer
(A) Bachendri Pal
@ Arunima Sinha
(C) Santhosh Yadav
(D)  Arjun Vajpai

‘uniren er@asien gpen H QuaramenL e’ erenD LS55 o (RS araGuHeuO@IBHT
(A)  usCGepdfl ume

B)  @mHwr Adrgpn

(C) &nCoay wrge

(D)  sitggoes eumgyuImil

115. Who is the author of the book “Sunny Days”?
\( Sunil Gavaskar (B) Nelson Mandela

(C) Benazir Bhutto (D) Tasleema Nasreen

‘sanafll GLev' erely LS566mS eT(weur wmi?
(A) safle seurevsit _ B) Aneesn warGLor

(C) Quenrdlir y G (D) sevedlor pevMar

116. The Dibang wild life sanctuary is located in which Indian State?
(A) Jammu and Kashmir (B) Sikkim
W Arunachal Pradesh (D) Odisha

@pSureiler gumi euanefleiE syamrawD SeWHEETaT MHLD 6Tg?
(A) g sragli B) As&b

©C) i@panrsw QAGCsshd D) quer



117.

118.

119.

The mount in Himachal's spiti valley which was climbed and named by Mr. Arjun Vajpai
and Mr. Bhupesh Kumar in 2015 is

« Mount. Kalam (B) Mount. Pal
(C) Mount. Spiti (D) Mount. Shigri

Sm. siggoen eumgguimis wHmid F. YGuey @t L ACumTaarme 2015-6 gpoul®, Quwfi oL,
aflorseden aviQlg LaTaTSSTEED DiMDHSIETET LD 6TF?

(A) seombd B) wumé
(C) evlg (D) o

Which is the proposed capital of Andhra Pradesh to come up in the banks of River Krishna?
(A) Krishna Nagar W Amaravati
(C) New-Hyderabad (D) NTR-city

Amagen pHullen sermuid sewwellhéGd QbHrreiler L gaopailar QUi ereen?
(A) Amegem paiT B) swrragd
©) ydu-geymung (D) NTR-psgd

The major part of the Great Barrier reef is located in the latitudes of
’(l 10°-20° south (B) 10°-20° north
(C)  40°-50° south (D) 40°-50° north

Quilu veuenFH iy et QLEHLUGS Db dreT HLsILGHS6T
(A)  10°-20° Gzp@ B) 10°-20° i

(C) 40°-50°QAspe D) 40°-50° s



120. Ritchi archipelago is a part of

(Y
®)

Lakshadweep

Indonesia

W Andaman and Nicobar

D)

Philippines

BQALES Seydan L 1b @a@ient w @HL LUGHUTGED

@A)
®)
(©)
@)

Bocsshe
@ pCsrGandlwim
Sbswren HoD HEGarum

Wedlienigie

121. Pick out the incorrect statement from the following.

@)
V.3
(©)
®)

Bhima is a tributary of river krishna-
River Godavari originates in Mahabaleswar hill
River Narmada originates in Amarkantak hill

Girna is a tributary of river Tapti

£Cy Qanpésuu_Perar aursSuUREEnT Seupratehenp QzfBAs 6.

A
®)
©
D)

Swonr erenuig Ameigenr pHullen g giement pHLTEGLD
Cargreufl gum warurGasveu weaaulle 2 Hugduréipg
B o s s waoould 2 HusdHurdog

Airen eranug sud pHuden G gment HHWTGLD






155.

156.

157.

In which atmospheric layer is ozone found?
m Stratosphere (B) Ionosphere
(C) Mesosphere (D) Troposphere

auefiwear_wgdan ahg UL s gGaren sraruuBEms?
(A) el grGLrev@wi (B) wCarnmeviQuwiir
(C) BGsmav@uwim (D) LGynCGumeuiGwir

Find the odd-one out of the following fiber-optic Internet and television services.
(A) Google fiber (B) Google plex
(C)  Verizon fios W Google glass

Geneumi> Gevyp gefl Gaeamu whgib Agreassn f Csmasalis, Aurmbss gawmn GHLGGS.
(A) &mED T (B) em@e Qerécv
(C) Qeuflenme i Slwsimen D) @ Hermed

The train which travels for the longest distance in India
(A) Janata express
(B) Grand trunk express

% Vivek express
(D) Suvidha express

@pSureller S gny Lwesnb Aewgnid fude erg?
A) gengr adeviGiyen

(B) &grawmiym erée Qe

(C) Geus ersev Qe

D) &eSzrasevlyen






160.

161.

Pick out the incorrect statement among the following about common wealth games 2022.
(A)  South African city of Durban has been chosen to host the'games

W The next common wealth games will be held in 2027

(C) The games will be heid in Africa for the first time

(D) The games are scheduled to be held from July 18 to 30, 2022

2022 @paren smoenGoudsd a&]menum'_@a;mmd u;bgﬁlu;l Spsa_ smpmseid seuprar atemp
CoibAs0. .

(A) @Gbeﬁ]mmu.lm.'_q.ma; L&A Qzenenrubfés parwrer _iuer Qsflay Qaiiwuiing Herarg

B)  Ps0E 0ss sTwanQauds eflenemum Baar, 2027 @ per@UmLd

©) @aedaarun (), Uu9fssreile ,mmt.éugmg: @81Ceu apsed apedpwnEh

(D) 2022, gOaa 18 apged 30 aueny, @euslenemum’ @ perQup S B UL Herang

‘Rajasri’ is a new variety of ———— developed by SPVNR Telangana State
University, Hyderabad.

v chicken

®) . goat

(C)  paddy

(D) sugarcane

aapgrrurg SPVNR Qg@istem wrfla udsmus spsssio e haurssiulL Trpul g

ysw auens ————  Glanon@Lb.

Q) Csmp
B) Qeusrenm(®)
© dpe

D) smoy












12.

13.

National voters Day is observed on

(A) 28" January % 25% January

(©  19% January (D) 17* January

Caélw aunssmeri Hanid senL19qEs00Reug
(A) 28 geneufl g (B) 25 geaf

©) 19 geraf @ 17 gewaid

The Book “Flood of fire” was written by

(A) Ashutosh (B) Abdul Majeed Malik

W Amitav Ghosh (D) Mohan Rao

“Flood of fire” erénp mnene ergpduiaur

A) oeGLrey (B) Slgie w05 el
(C) oufiges Ganev (D) Cunser ymeu

The Climatic region of the Indian sub continents belongs to
(A) Equatorial climate change region
(B) Hot desert region

ﬂf Monsoon region
(D) Mediterranean region

QpHu Herams s aTHS ST Hlene) uMSILIN g6 Sewwl Qupmereng?

(A)  swe waTLe sreflee LIHUTH WL
(B) Qaudu LITenaeUan el
€C) umuUSTL T

(D) wiHu serstafloe baTLOD









49.

50.

58.

Who is proved experimentally the existence of the nutrino?

(A) Enrico Fermi
(B) Richard P. Feynman
(C) Rutherford .

M Clyde L. Cowan and Frederic Reines -

By AGemmeneu Qeweapammpude sam®lisg Blm@sseui wmi?
(A)  eaafaGsn Quimnd

(B) Mésn P. SQuilenGuog

©€) st Curi®

(D)  Seven(® L. Cameuen wpmiid Sy Mé Qiseireiv

What is the principle involved in Radar?

K Radio echoes (B) Radio reflection

(©) Radio refraction (D) Radio scattering

Grumfler 5816ub eretmen?

A CrgCur er@@pmafiiiy : (B) CryCur Arfludgsa
(C) CrgGur ellaysed (D) CrgCwnr Agpe
AMCA stands for

(A) Advanced Missile Combat Aircraft
(B) Anti-Missile Combat Aircraft
V Advanced Medium Combat Aircraft
(D) Anti-Missile Controlling Aircraft

AMCA arénug erensé GHIEEDSI?

(A) 2WTs geysamanT erdiriy efloreand

B) gasoaTEES erdlyren eTdlliy &9 prend

© ewiysp@ssy adity eforead

D) gos@asEE adren s_HUESHID aNpresd












99. Mauna Loa in Hawai island is the largest
M Active Volcano (B) Dormant Volcano

(C)  Extinct Volcano (D) Dead Volcano

apeumisg Sefled o eirem GuorerCor crérug) WalQuflw
(8 Qeweulw efiveae (B) epm@Ewb erflwae

©) = fbp erfloera (D) =W@ypo erfloeme

100. The Wildlife Crime Control Bureau (WCCB) was constituted under the wildlife protection

act in the year

(&) 2006 ‘g{ 2007

© 2008 @y 12009
cuan efloig awumg sOUY spsn (WCCB) pyaRTige uanellumbiE ungsmiL

" aCL e L SieESLULLS.
(A) 2006 . (®) 2007
© 2008 Ry @03

1. Who has developed and demonstrated the first nuclear reactor in the year 19427
@ (A Bhor and Wheeler . B Enrico Fermi
(C) Albert Einstein (D) Bhor and Mottleson

19421 <y @miq &) (PSS PSS DG 2 DV SiepLSE QEuOUBSS S tgweuf wmi?
(A)  Gunit wppbd eSeor B) earfiGan Quind

(C) yeourm gemenieer D) GCuniwpmb GumL e

13. The annual average rate of growth of population during 2001-11 in India is
® » 13% (B) 1.93%

'(2)/ L6 (D) 2.1%

@pdwreller 2001-11 sre s L_ghé wiser Agrena syrsf e euarissl eSdHid
A  1.31% - (B) 1.93%
(© 1.64% D) 2.1%



15.

16.

17.

29.

Polar zone Extends between

(A) 66° and 100° (B) 60°and 180°
(C) 50°and 180° B~ 60° and 90°
Si(Heu weaTL_agHlar l_'H}QJG')

(A)  66°wpmin 100° (B) 60° wppb 180°
(C) 50° wpyn 180° (D) 60° wpmib 90°

Who named the crust, mantle and core as SIAL SIMA and NIFE respectively?

(A) Kepler (B) Ptolemy
,(2( Suess (D) Columbus
LeSICuGan®, seusn wHb smeud wenGu Awre, For wHpib enpls erar QuwML eui wiri?
(A) Qauerr (B) sna
©€) wwe (D) Qsrebuey

Which of the following year was noted as one of the worst drought in the last hundred

years? D
wy” 2002 ®) 2004

(C) 2006 D) 2010

sL55 BIn enPaeiie Blsayb Gursorer suplf pem s GHIL_OulLg) eTg?

(A) 2002 (B) 2004
(C) 2006 ' D) 2010

Which one is not a factor influencing population?
(A) Birth rate (B) Death rate
(C) Migration 93( Poverty

Gemaumueugyer arg) st Agtasmu Siorallégn smyaf Side?
(A)  Apayeiso (B) @nuyeisn
©) @ iQuuiss (D) amenw



50.

51.

52.

Montreal protocol is related with

(A) Conservation of biodiversity ,(B( Protection of ozone layer
© Conservation of wildlife (D) Disaster management
e’ MAwid 2L eMig &S Ape auafe —— eLe Agm_yamLwg).

(A) 2¥iudamEmD LITSISTESE (B) gCsnen 2REE LTHETSSED

(C) euameliieiuE LUTFISTSSH6 D) GuflLir Guerameio

is a collection of wires that facilitates data transmission from one computer

to another.
(A) Bandwidth (B) Channel
@y~ BUS (D) Router

aaug srey UTUusee @ safalddmbs, wHAprm saflalss siguy
s @aefer QTG
(A) SmssHOD B) sLb
© umien (D) Howsell

refers to maintaining the accuracy of data through its entire life cycle.

(A) Data security ) (B) Robustness

j,@’ Data integrity (D) Data capture

S grslien spél pagd g goduses foofpbgaums GHULEY ——— WG
(A)  greyurmsTOY B) gagpemaniy

©  srey goeoLUUTE D) ey digly









78.  The term “MIGA” refers to
L& The Multinational Investment Guarantee Agency
(B) The Multi Indian Government Agency
(C) Migration of Government Agency
(D) Member In General Association

“MIGA” sramp Qsred aram @ GUIHHEID
@A) uaptiG s epHs Sl e
(B) @pHu LTS BITE PEDL

(C) wdan PLuQuuwitey apsenin

D) Qurg spasdar o pllert

96. The number of bits that a computer can process at any one time is called

size. . .
(A} Bit
(B) Byte

499/ Werd

(D) Sentence

| 0] Maﬂ 2m Cprsda QeuouBss Wy N a6 eramanflsms ———— jaTey B GLD.
(A) QL (Bit)
(B)  eul (Byte)
© Qsréd
D) e



https://t.me/tnpscfree




Which is the world’s largest desert?
(A) Arabian
(C) Great Victoria

2 wdfler Quiiu urereeuad arg?
A) @Cniwer urenayeuaTd
(©€©) &Gy eN&6CLrAwm

/ Sahara

(D) Thar

®B) esmyr
D) s ureEUEAND

2% Speed, Safety and Connectivity (time save) are the three objectives of
(A) District Roads
(B) State Highways
(C) National Highways
y Golden Quadrilateral Super Highways

Geusth, urgiamiy LHHID Crré Galiii aram epenm (pédlu Cprésmsmens Aarear g
(A) wre L sTaEET

B) wrflo Ap@EErETmasaT

(©) Csélu QpHiEreTamasdr

D) smsprosy Aply ApEEET@QSET

38. The average ocean salinity is
(A) 34.5 grams per kilogram

% 35 grams per kilogram

(C) 36 grams per kilogram

(D) 16 grams per kilogram

Qummis._oasafiar syrafl 2 aimwsden sjeraurang
(A)  34.5 flgmd [ ACeom Aymd

(B) 35 &gmib / &Ceor &gmid

(C) 364&lgmb / §Ceorr &lymb

M 16 &ymbd / HACeon Agmid






59.

89.

© 92

Which one of the following is/are correctly matched?
1) 6" August - Nagasaki day
(i) 9 August - Hiroshima day

(A) only (i) is correct
(B) only (ii) is correct
(C) both (i) and (ii) are correct

W neither (i) nor (ii)

Yenameuaraupmier ergi/ereneu sflwums GumpbSuererg?
@) s 6 1 - prasrd Hend

(i) s 9 =) aflCrrélor Hemnd

A) () wl@woesf

- (B) @) wcEwsf

(C) () wpmubd (ii) aftﬂ
D) D) wpmpwd (i) geum

How many minor and medium ports located in India?

o 187 ® 177
(C) 167 ® 197

@pHwreld Adlw wHHD FHEST FODAPSEEET TSSMEN _dranen?

(A) 187 5 : ®B) 177
© 167 D) 197
The world environmental day is celebrated on ' L4
(A)  July 10 (B) September 5tk
June 5th (D) October 2nd

2 Q&8 sHNE GP® dand Qararm_uu@eug eriGurg?

A) g% a-10 B) QsuLwbur-5
©) g5 D) =&Cruf-2



96.

15.

@
(i)
(iii)
(iv)

-Consider the following statements with reference to ozone.

Qzone is found in Trophosphere.
The most common ozone depleting substances are freon gases.
Small amount of ozone is being made by the action of sunlight on oxygen.

‘Ozone hole’ is the real hole in the upper atmosphere.

Which of the above statement is/are correct?

A)

©
®)

(1), (i1), (iii), (iv) are correct
(i1), (iii) are correct
(i), (i), (iii) are correct

(iii) alone correct

@Camar LHPILI SaHeny FaBg DpUIE.

@
(i)
(iii)

@iv)

@CGaman auaflinaar_ Hd I'_GIJ‘ITGUHGE‘DLSMJF'T‘LI@ﬂqu) arem LB EDE.

Quepburgib srariiL@b eCsrer @ampiyl QurmBLad Suflure eurysserm@L.
psedigear 55 @eilu gafl Qewadul® Gariipg dfisarey @Gsmen e pusHuns GaremG
2 aeng).

‘@Ceren QUTEED’ eranLig) euafiair_wgHlen God srariLGLL G e-aremwwrer AUTSS®.

Cupaseawr_eupble erg Fflwrer snmi?

(V)
®)
©
D)

@), (i), (iii), (iv) Siemenggb sflwreng
(i1), (iii) w’ GCw sflwireng)
@), (i), (i) sMwreng)

(iii) GG shwreg

What was the main'theme of 2015 Republic Day Parade?

(A) Green revolution

” Women empowerment

{(C) Clean India

(D) Save fuel

2015 b e B wys Har eflprellan GAggren sameliy wrg?
(A) usewygld

B) Quersdr Guwur(

©  shporer @pHun

D) eaf@unmer GaAly



19.

Which data communication method is used for sending data in both directions at the same

time? .

(A) Super duplex . I (B) Simplex

) - Half duplex : o M‘ull duplex

g pead gL pepdo gréema gGr Corsdso @ Upb SigLd. Gugib?
@  ofp@opms  ® ecBes

(©) urd @ofes : _ @) vy folas

22.  Which missile has a range of over 5000 kms. in India?

(A) Prithvi—V
(B) Akash-1IV
& ICBM Agni-V -
(D) ICBM Agni- VI

@pHuredér 5000 8.8 Qeiguid Hpen Qareim_ gaysenesr argi?
@)  Gfged-V .

B) yanay-IV

(C) ICBM - sisafi—V

®) ICBM - sl - VI



44, Among the followings, whlch is one of the richest coastal regions of Asia?

45.

' M Gulf of mannar (B) Sundarbans

(C) Pitchavaram : - (D) Chilka lake

EpssaT_cupHper, =q,.lﬁu.nrre:afﬁéill aemb QurmBHRL s GrCeeb eTg)?
(A)  wereT umMaTGLT ‘ (B) s&pgroueans sr@sdr
(C) SQ&emeuyd D) Saergf

The Term “Wildlife” was Coined by
(A)  Vernandsky .
(B) Willium Hendry

' W Wi]_liuni Hornady
(D) Karl Mobius

ugb “Wildlife” eremueng wrt apgelled penQumfpsmi?
(A) Qeufrenmencvdl

(B) cfAodlub Agpetd

(C) eodlud apriemG

(D) Efrfrdi Gwﬂoncﬂ.d'u



46.

60.

@

Match the foHowin_g: -

Tiger Reserves in India

() Bhadra 1 Madhya Pradesh
by Gir t -2 Mizoram
(© -Kanha o 3.  Karnataka
(d) Dampha 4 Gujarat

- (a) ®) () (d)
a) 1 2 3 4
B) 4 3 12
Y & 4 1 2
o 3 4 2 1
QuTmEES : _

T @sPwrelles Laild SrULELD o
(@ ugm 1. wgH 9rGCgsbd
b) A 2. BCanyd '
© éseina;fr 3.  siprisT
(d vmbur 4,

eums

@ ® © @@

1 2 3 4
®) 4 3 1 2
© 3 4 1 2
D) 3 4 2 1

The "Queen of Arabian Sea Port" is

| (A) Kandla
(B) Mumbai
Kochi

(D) Marma Goa

“Birdsa_aler greril Flenpapsid”’ erariu@eug
(A) sl

(B wpweu

(C) Qaréd
(D) wiwCsraur -



Match the fo]iowing states witl_l their Child Sex Ratio as per census 2011

@

®
©
@

A
®)
©

P’

States

Kerala
Haryana
Tamil Nadu
Uttar Pradesh

@ O ©
1 3
1

4

2 ‘3

3 2 1
4 1

(d)
2
4
4

2

- W

Child Sex Ratio
946

899

959

830

&paangpid ;.nwgﬂw:énamm 2iau e @p;isalagf uneflan Adgpgien (2011 bssdr ApmeraliLiy)
Qurgpggs - '

(2)
®)
()
(@

Y
®

©

@)

wmflad

Cayerm
anflwimerr

L] LC)

o 57 AnCpei>

(@ @

W W = =
LT ==
= = Qo

SRR I

CY

by R B B

Gppes unelen aldisin
946

899 -

959

830



67.

68.

69.

4.

L

i8a chent program that acts as hn interface between user and world wide web.
M Web browser . (B HTML
() URL _ ' m os .
Quar@dummar LwerT hHmb e oseTrellw aena GenLGw e @w@smns QeweéduLb.
A) Qe ered B) e&g.eb.ere (HTML)
© wypreo(URL) @) gad. (08)
Who was the Indian environment activist to be honoured with Goldmah Envirbnmenta]
Prize? . _
M Ramesh Agrawal = - " (B) K.C.Uday Singh
(C)  Veer Ragavan Dubey _ - D) Gokul Bhatia
sppULUpspssTar shiswaige Lflas Qasn BEAL SHHOILD By wiri? |
A) gCway speumd ' ' . (B) Cséepgudm
(C) &Sy graeuen 5ICU ' M) Cange umguwr
Sendmg a legltu:nate lookmg email, hopmg to gather personal and ﬁnanclal mﬁormatmn
from the recipient of the emall is called as
(A) Virus ) (B) Worm
& Phishing "~ (D) Pharming
QUEIMES STSTTRILONG .y@u.’:uﬂlﬁ@fo Berangsae Cure lemenged @Ol Daumenw
gafluuC L, B sbubgionar ga;mmsmar THES QPUHACILG ————ee B, .
(A) _ aauren (Virus) - : (B) Ga.url.o (Worm)
(©  J9afli (Phishing) : D) curmsi (Pharming)
New approach to conservation is the establishment of

(A) Sanctuaries L Biosphere Reserves
(©) National Parks : (D) Reserve Forests

Spsan_aupiier urgismide srariu@n P ysHsemer uweTuBEieug - -

(A) sreTTQWRIEET (B) =2..97%& Garettuser

O Gpllu yrianéser D) sriys sthadr



100. ‘King of Fibres' is -

| ” Cotmn_.
®

Jute
(C) Hemp

(D) Flax
prrulirsafien oiraer Grsm;rq (heugy
S Loih
(B) - sFauted |
(C) yefléame prir
D) srewre
91.  Which is known as “Whispering gallery”?

\M Golgumbaz (B) Jumma Mosque
‘(C) Golconda (D) Madarasa

“WPER) (PESGID BTHRIFID, 6TED AptiGenents QuPLE?
A) Caragouray (B) grbwr oG

(C) Garelsremrm . (D) wgraor






120. Which Indian cricketer has become the first batsman to cross the 10,000 run mark in Ranji

Trophy Tournaments?
(A)  Abishek Nayar
(B) Parthiv Patel

M Wasim Jaffer

(D) Baba Aparajith

7é5816 Gamlienu Gumiysafiey 10,000 rén @asms sLps (psd @HHus Afstst. Gy Wi ?
A)  219CGagé pmuT

(B) uisSes LG

(C)  eundld grud

(D)  umur SuTlS

120. Which Indian cricketer has become the first batsman to cross the 10,000 run mark in Ranji

Trophy Tournaments?
(A)  Abishek Nayar
(B) Parthiv Patel

\ﬂ( Wasim Jaffer

(D) Baba Aparajith

7é5816 Gamlienu Gun iy sefiey 10,000 rén @asms sLbs (psd @HHus Afsts. Sy Wi ?
A)  219Cags pmu

B) uisSe LG

(©) eaundld gmur

(D)  umur QTS



124. The country that was affected by ‘Hurricane Patricia’ in October, 2015

(A) Philippines

(D) SriLanka

2&EGLTLIT, 20156 ‘Lt Afwr @preaiefuime’ urdlasuuc e pr®
(A) dellemuenen

(B) gmlOumen

(©) - QuseliCamr

D) Qeonms



125.

126.

Mr. Raghuveer Chaudhary has been nominated for the 51t Jnanpith Award in December
2015. His language of expertise is

(A) Marathi

\ﬂ( Gujarathi

(C) Sindhi
(D) "Konkani

Slaug @yreniL efmApans, gebui 201586 Awm. rEeit saysh LAbgmrssuLC Gerarmi. Geur
Blyamggieud Qupgerer Aomg

@A) wirsd yED

B)  ogss 6o

€  olpd e

D) Qamusel 2y@0n

,

Name the country that has approved World’s First Dengue Vaccine

(A) Australia ¥
\‘G')/ Mexico .

(C) Canada

(D) China

Qg srissegissnen Cpmis QUL LEHHDE SULSS SNeigiaar wad H16
(&) oy HCredlur

B) QuiadiGsr

©C) sewnm

D) Ear



127. India’s First Dolphin Reserve Community is established in
(A) Kerala
(B) Maharastra
(C) Tamil Nadu

\M West Bengal

@pSuinellen apsd LidGer @er Gt ariie gHLEGSSILLL 57
&)  Gayern

(B)  wammyreiyis ym

© sblpprd

(D) Cupe euksid

128. Which railway station has become the first visually challenged frlendly statxon in India?

\y/ Mysuru railway station

B) Bengaluru railway station
(C)  Delhi railway station

(D)  Pune railway station

@vHwreler eps apser Tulled Q@mub urfeneuwpperiser arefleppwirs LwerLBHID Hlgsda
B|NLOHS|ETETS)? | |

A)  owEm Qvﬁw Heneouwid

(B) Qurseym @ruie Ferawb

(C) Qo @rie flaewbd

D) yer G@nulde Hlanawid



127. India’s First Dolphin Reserve Community is established in
(A) Kerala
(B) Maharastra
(C) Tamil Nadu

\M West Bengal

@pSuinellen apsd LidGer @er Gt ariie gHLEGSSILLL 57
&)  Gayern

(B)  wammyreiyis ym

© sblpprd

(D) Cupe euksid

128. Which railway station has become the first visually challenged frlendly statxon in India?

\y/ Mysuru railway station

B) Bengaluru railway station
(C)  Delhi railway station

(D)  Pune railway station

@vHwreler eps apser Tulled Q@mub urfeneuwpperiser arefleppwirs LwerLBHID Hlgsda
B|NLOHS|ETETS)? | |

A)  owEm Qvﬁw Heneouwid

(B) Qurseym @ruie Ferawb

(C) Qo @rie flaewbd

D) yer G@nulde Hlanawid



158. Consider the following statements :
i Cave Pillars are formed when stalacties and stalagmites meet together.
11. Delta is a depositional feature of almost triangular shape at foot hills.

Which of the statements given above is/are correct?

(A)  Tonly \$»r Both I and II
(C) Tonly (D) Neither I nor II

Qar@ssiiul_HeTer eursdlwnisene seuaf :

I GV oL L HIID L Te&mbL Glaaeugme nUBeus) Goss GIeumaser.

IL e euTrSHe WaGamam eugeubdd Ligw amaussd AFwwme ghuheg QL.
CuwGe Qar@asiu@erer cunsdluiisailed sflurear eurédubn/eunsdlumissr ergl?

A Twlpo (B) Toomwll

(C) IIwlpo i (D) @uawr®lwena

159. Choose the correct answer :

The Atmospheric layer where the decrease of temperature with increasing elevation at a

Normal lapse rate.

\% Troposphere (B)- Stratosphere
(C) Thermosphere (D) Exosphere

shlwrer eflen_eow CarpEAgsHE&sED : .

2wib SFafsgn urws Gendan Qaliuflow ddsn (o eldgn) o erar eefivamm o
a&@&s@.

A) CCrmuCGumen G (B) evlgCLmav@wrr

(C) QsGureviQuir D) eraGevmauliuim



179.

India’s first dedicated scientific mission to study the outermost layer and the chromosphere

of sun is _ :
A) Ravi \Pr Aditya

(C) Kiran (D) Jwala

Gfweflér fipwar_owb whnh B wisd LB gyTniCsDSTE SiTLelEs 1L (Herar (P
@pHw sfleflwe it Ciuef

(A)  Qosll B) Hsun

(©) &yeir (D) gerer



186. Which country was reéently declared the cow as its National Animal?
(A) Indonesia

(B) Malaysia

U,e)/ Nepal

(D) Mauritius

&g HH Lsimes sigar Csdlu ensts sSusHD siflelsss?
@A)  @pCsCarflun

B)  wlaaflur |

(€) Gpumemb

D) Qurfe§wev

187. The scientist who explained “Big Bang Theory” at first was

(A) Edwin Hubble

\XB( Ab George Lematry

(C) Ptolemy

(D) Aryiabatta

“Quepd Qeugiys Qardres” LDH Apsen apgadle efleulFgs sduwieui wimi?
(A)  en’afer apQdr

(B) =t grigy Aen@wo

.(C) srell

(D) gl L



188. 70* Anniversary of United Nations.Foundation Day was on

uﬁ( 24 October 2015

(B) 12 October 2015
(C) 21 October 2015

(D) 15 October 2015

pidw prHsdr Hpelugen 70 b Hemgen Hlenpe prer
(A) 24 256G 2015
(B) 12 o&CGLmui 2015
(©) 21 &GLmui2015

D) 15 6CLnuir 2015



217.

25.

28,

How many percent of the household in India do not have a toilet as per the 2011 Census?
(A) 36.6% (B) 44.8%
A 53.1% D) 58.9%

2011 wis Ggrens sansQsPUlduy. absmer speis S@adia sfiliuap Goma aap dsfu
ubSg?

(A)  36.6% ®) 44.8%

©) 53.1% (D) 58.9%

According to Census 2011, what percentage of disabilities is found in the vital population of
India?

) 201 v’ 201

(C) 251 B D)y 2.71

2011 wés Cgrens sem&@s@Ulang, @pdu Qinrss wis Ogroslle assmen sseipn Cuir
wrhns Smeraflser?

(A 2.01 B 221

(C) 251 D) 271

Arrange the following Indian women who were the recipients of “Bharata Ratna” according
to the chronological year in which they received the award.

I Aruna Asaf Ali II. Indira Gandhi
III. Lata Mangeshkar IV.  Mother Teresa
(A) IV, I, 1,11 \vﬂf I1, IV, I, III
(& IL T b M I,IV,II, I

‘umgs ghen” e Qupp Spssan. @sdu QuaTsmar Seuisa BlmE Qubp yeTgen
Sguua e auflemsiuBss

L DI(HERTT &Ll 20l IL.  @Qpdon snpd
III. @grwrCseys IV.  eemenen Qzper

A IVILLI B) ILIV,I1,IIF
(© ILILIV,II @) LIV, 11,111






34.

30,

36.

Which is the largest city of India as per 2011 Census?
% Mumbai (B) Delhi
(C) Kolkata (D) Chennai

2011 wést Agnams sens@s@U ey abs @bdu parn Bl Gufiu sepons a(msLILESHamE?
(A) qbenu (B) e
(C) Qsrasssn (D) Qeenenen

3

Which one of the following is not an endogenous factor affecting infant mortality?
(A) Spacing between birth
(B)  Age of the mother
Socio-cultural factors
(D) Birth order

Epsan_smiaisaio ag Gpios @pieu UTHégh o Lsmelowus stissg Goma?
(Ad)  QGpuuse Qe euefl

(B) smensuwizy

(C)  seps swnssny sryeflaer

D) dpuy euflens

Which Indian State (or} Union Territory have lowest sex ratio as per 2011 census?
(A) Dadra and Nagar Haveli

M Daman and Diu

(C) Chandigarh

(D) Puducherry

2011 wast Qgrens sans@s@ulaLy aps @sSu wrfan () yeluer GrGssd s GmpbS
unrdllen efldlggeng Aanem(Henang)?

(A)  sragm wpmbd srsT GapGeud

(B)  Lmogr whmyb ey,

(C) &ﬂiﬂ!q.ﬂifl’

D)  ugeGsll



- 40.

41.

42,

The first Indian Woman Badminton player to reach world number one ranking is
Uf Saina Nehwal

(B) Sania Mirza

(C)  Shiny Vairamon

(D) Vandana Gupta

e adld ppe QL smsl gss s Al Quer LUubg eSr
(A)  @sam Graumd
B)  smaflur Bier

(C)  eagefl eneupCuomeir
(D) eubgerr glugT

Which country won the 2015 Davis Cup?
w Great Britain

(B)  United States

{C) Australia

(D)  Belgium

2015-ytb yairigparar GLellev CarlienLiem Qeudnp B argi?
(4) ACr_ 9ACLén

(B) gédw sQwiés pr{sear

C) yevdCredlwm

D) Guaguid

In which of the following state did the Defence Minister dedicate India’s first Indigenous
Solar Dome on 29 Mar. 2016?

(A) Pune W Goa
(C) Mumbai (D) Siliguri

@idureder g “sCaflu Gl Gelps smer” ungariy Senwsermed wrié 29, 2016-d, ahs ‘
wrflogdd Hrynens siiuefssiu’ Lg?

A& yGar (B) Gameur
(C) beru D) &dgh



43. - Under which schedule of Wild Life Protection Act are Endangered tigers classified?
(A) Schedule-2
(B) Schedule-5

\J Schedule-1

(D) Schedule-4

auareillon@ UTESTIY 1 0h L ame Ulgudled SumusHnE edramgh yellser ereng
EMTHESE?

(A) =L cuenamt L iguwig-2

(B) silLeuemenr Uliquic-5

(C) @il euenasr uliguic-1

(D) =L euenarr Ll igwicd-4

44.  Which state is famous for its Madhubani Paintings?
W Bihar (B) Rajasthan
(C) Midnapore (D) Telangana

e wrhlah ngunafl gefluiisEnse Aply eumikseana?
(A) Sarmr (B) grgevgmen
(C) Bgemyr (D) Qazgrusrenn

45. Human Rights Day is observed every year on
(A) December 11t (B) October 11*
W December 10% ; (D) November 10

- eflg 2 Menwo Henid e Qeurgy LyaRrBID aps Hrefle euppuLBADS?
(A) gsburll-é (B) =sGumuirll-aé

(C) weburld-& (D) meubu 10-&



46.

47.

The term bit is short form of
(A) Mega byte

M Binary digit

(C) Binary number

(D) Binary language

G erenp Qemed, GlamaumeuamaupmIeT eTE@UMI H(HESD?
(A) GQusreul

(B) euenfl gglC
(C)  eouendl erar

D)  euanfl Qumf

Goleonda Fort is situated in which of these states?

\ﬂ Telangana
(B) Madhya Pradesh

(C) Andhra Pradesh
(D) Maharastra

Cara@anam_m GamlaL S@wpgiarer wrblew arg?
(A) Ogguriisment
B) wsdu GrGsed

(O aypdlr GnGped

D)  waprrTEgIT

49, Rosetta Mission Data reveals evaluation of
(A) Venus (B) Jupiter
(C) Mars w Comets

CrrevGelLr Wlegar efleumb ergen Lflemiogens LolL@Sadpg?
(A)  elemev B) gedlif
(C) e D) Camwl_



51.

52.

Dh.

A Nobel Prize winner from India who was recognized for his research in chemistry in the
year 20097

(A)  Vijay Seshadri

(B) Siddarth Mukherjee

W Venkatraman Ramakrishnan
(D)  Deep Joshi

GauBufluscd gypmigfuder 2009-gyh @ Cpmus Lifls Quibp @S urmiddwmarit wird?
4)  dfigw Cragrsf

B)  Asgnip paig)

(C) Qamislgmrwen Qrmodmegemrer

@) 50 Ggred

Mention the medicinal plant used in the preparation for skin care
(A) Cinchona
(B) Beladone

M Alovera

D) Shoeflower

e Lalen Ggmed Lymofided, e LGWISLILAGSILRD DHSES GamapdTer sreurD ag?
(A  fenCanenm
B) QuaeGLream

)  aspprany

D Qebugsd

Which of the following is the first Social Ne twerk?

(A) Facebook M Orkut

(C) Twitter (D) Whats App

Qéneumeuaaun e TE APSE FIDE UIDRLSATONS SHSUILHEDS?
(A)  apsmned : B) =il
(C) qefllii ! (D)  eum’ e i






62.

63.

65.

Who is the second tennis player of India to receive Rajiv Gandhi Khel Ratna Award?
(A) Leander Paes

W  Sania Mirza

(C) Martina Hingis

(D) Dinara Safina

rrafeu sridl Caed rse eflmay Qupp Qram_neug @pdw Qsrafen a‘ﬁmmmmi@ &S
A)  dwurermi uwey

B) sreflur Birevr

©) o gerr aflikde

D)  Heryr aiSenr

World’s No. 1 bowler in [CC test rankings is
(A)  Ravindra Jadeja
(B) Ishant Sharma
(C) Asish Nehra
R. Ashwin

sheuGge AMEQa derls QLevi’ oy L s, o odear ploui e 57 euflensuded o drar Quarasit wri?
(A)  reSpdr mGLggn
B)  @esmps siron
(©  ayfics Gpgonn
M) oy Syevellan
The Hon'ble President of India has appointed — ——— as chief justice of India on
Dec, 374 2015.
w Justice Mr. Tirath Singh Thakur
(B) Justice Mr. Sathasivam
(C)  Justice Mr. H.L. Dattu
(M)  Justice Mr. Sanjay Kishan Kaul

Cwse @pHu mamdudl, wsobur 3b Ggd. 2015 gLanH ———— crenucuey o &5 EBélnetm
garavanio BHufwires Hluiwend Qeligmr. .

A)  BAwugsi Hm. Bonl A srésai
B) BHurst Aw. ssrdeu

(© BPugst Aw. aré. 1. g5

(D) Ehwrsi Hm. et Hasern sayd



67.

68.

India’'s fastest train is
(A) Guwahati Express
W Gatimaan Express
(C) Tamil Nadu Express
D) Grand-Trunk Expresas
@pHwrellen Causvman eraenidliyen
A @euanm_ iy er&eniSlysa
(B) &T_igoran sTEavIre
(C) SOIPBTE erésevibyen
(D) &gneir_-1g.0mE er&eu9ren
Choose the correct pair :
Games Players
(a) Cricket 1. Saina Nehwal
(b) Snooker 2. Anirban Lahiri
(¢ Golf 3. Pankaj Advani
(d) Badminton 4. Pranav Dhanawade
(a) (b) © (d)
w4 3 2 1
B) 4 2 3 1
© 1 3 2 4
D 1 2 3 4
sflwrer Cgryerw Caiey Aels :
eflenarwun_(® eflenemum’_B efyiradr/efyrhisaansd
(a) AfaGs 1. esmuent Cpeume
(b) eogussT 2.  eflituren o
(c) Camel 3.  unsg e
(d) wubs 4. Qpeméu srCenGeul
(a) (b) () (d)
(A) 4 3 2 1
B) 4 2 3 1
© 1 3 2 4
O 1 2 3 4



69.

The Chief Information Commissioner as on January 2016

&

(B)

©

D)

Mr. Amitabh Kant
Mr. Vijai Sharma
Mr. Ahmad Javed

Mr. Radha Krishna Mathur

meneufl 2016 yem® Uiy, QHHL s@mD FEUD LyenaRmuiT

(A)
(B)
(®)
(D)

. rrardmegest WTSSAT

S, SSSTL SreI
Sap. eflggus srom
£, SiEOS mrai

Choose the correct pair :

(a)
(b)
(©)
(d)

(A)
(B)
wr
™)

C.E.Os

Mr. Marks Fields
Mr. Ginni Rometty
Mzr. Ajay Banga
Mr. Marc Allen

N
by = 02 QW

sflwurear Gmrigenw Cairey Qe

(a)
(b)
()
(d)

(A)
B)
©
(D)

genevenid Bifasrilsdr
wrirdev ev

dlement] Grrenwo ig
D{EQUI LIMRIST

WwETs stleves

(a) (b) () (d)

0 W
- W b K
- IS
B = W W

Companies

j Boing international
2 Master card

3. IBM

4 Ford

G(pLo

Cumuili @en_rCraard
LOTEL_F SFT(H

#&.19]. 611D

Cuni(®

T



ks

12

73.

74.

Norman Gordon of South Africa who died recently at the age of 99 years was associated with
the game of

(A)  Soecer (B) Football
(©) Badminton W7 Cricket

sengl 99-0 awdler sbu sna gl Qpps At dfsareden priwe Gamiar be allenemum el
STTL{EDLLIGUT?

(A)  snasi (B) sréupg

© yups D) afsQa /e ubg

As on June 2016, ‘Nuclear Suppliers’ Group (NSG) is a club consists of
(A) 20 nations (B) 07 nations
(C) 11 nations ' w 48 nations

89 2016 yam(p eueny ‘signess wallsgb @ww’ Asrarderer s
(A) 20 pr@Rser (B) 07 pr(paer
(C) 11 pr(psar (D) 48 pr(haer

Who is the author of book “The Immorals of Meluha”?
(A) Chetan Bhagat (B) Preety Shinoi
(C)  Ravinder Singh @ Amish Tripathi

‘@uGwrréad s Qugist erenp UssasHen o8 Mwir
(A) Cogenuss (B) OAgH QsGarmis
(C)  pelipgi S D) oufay HAurd

The author of the Book “Zest for life” is
Emill Zola (B) Virsinia Wolf
(C) H.G.Wells (D) Mark Twain

“Qan_ unit enels” eremm mredlan L Hflwir
(4) Quile Gereor B) eSifaflwur e el
(C) eé.g. Qaudvaiv (D) s Heumdies

nations.



76.

7.

75.

For the work, in the field of Science and Engineering, Dr. Mylswamy Annadurai was
awarded with

Padma Shri (B) Padma Vibhushan
(C) Padma Bhushan (D) Bharat Ratna

<=iplefiwer wpmb Aurilulud geopulila Apheg ueflwimhBlugnsts, LrsLi. wulldems oia@reammsiany
Sleuiger Quibm e ma)

(A) U Yy (B) usw ey ese
(C) LISLD LLamei (D)  unmyg pgeam

The Oscar Award 2016 for the best documentary film was won by
(A) Fire at sea (B) My name is Salt
(C) Inside out W Amy

2016-2pib Yy BLa0&T eflmg Aeuenp Sppa eflaTéELLLD arg?
(A) euwro & (B) ew Cpid e sTL

C) Qeamsd sy D) g4

The 31¢ Olympic games are to be organized in which country in the year 2016?
W Brasil (B) Seoul
(C) Mexico (D) Malaysia

2016-aylb sypar® 31-2b @aflnds sleanun’ (& ahs Bl pen_Qup o drarar?
4 AGréle (B) &Cura
(C) QuwafGar D) wGadwnr



78.  The low cost micro solar device Surya Jothi was launched on
W’ April 5% 2016
(B)  April 5% 2015
(C) May 5t 2016
(D) May 5% 2015

“efiw Cyrl” aap gopss Asweile o meaunar pearailu @flu s@mea arany CrudupHsluLLa?
(A)  gurd 5-4 2016

(B)  gupe 5-6 2015

(©) CGu5-2016

D) Cw5-@2015

79. The World Tsunami Awareness Day is to be observed every year on
\&f November 5th
(B) December 26
(C) March 11t
(D) December 22™

2 @8 saml A BiCyaiey Henb GeuGQeums <y amHLD erenm Geruppuu@Eng?
(A)  meubuir - S

B) w&buf-26

(C) wnmi&-11d

(D) gebud-22&

97. International Aged People Day observed on
(A) September 1% of every year
m October 1° of every year
(C) November 1% of every yvear
(D)  June 1 of every year

sirauGse euwg pdipCsmi Hanbd sriQurpg st Gy saliLBdemng?
(&) Qsirwui 1-1b srar

(B) 2&CGLmur 1-1b Brer

(C) meuidbu 1-1b mrem

(D) a‘QG'G'I 1-b prar



119. As per 2011 Census, which State is having the highest percentage of households witk

Toilets?
(A) Tamil Nadu v Kerala
(© Punjab (D) Maharashtra

2011-gib (H wasaTRsTMsEE serbbs@USauy SflUMDSEHT Fnu eiRamar s
efiggfler Aameiar Herer wnbleld e1g)?

A) sl ErlH (B) Cagerm

(C) ugpsm (D) wvaprrTasgFT

135.  According to the census of India 2011, find the correct order of states from most population
to least population.

(A)  Uttar Pradesh, Bihar, Andhra Pradesh, Maharastra and West Bengal
(B)  Uttar Pradesh, Maharastra, Bihar, Andhra Pradesh and West Bengal
w Uttar Pradesh, Maharastra, Bihar, West Bengal and Andhra Pradesh
(D)  Uttar Pradesh, Bihar, Maharastra, West Bengal and Andhra Pradesh

2011 wésl Qgrers sewaQs(UGang., Biduredd P 1Ly wrer wEsL 05T wrilagdadmhHs)
Gopeunen w&&LEgTes wrflesdd sflurer aiflemsami aam (.

(A) 258y QyCsad, Sanr, @587 AyGsan, wamreayym Whmbd CiomE eurkisn

(B) 258y AGpabd, wamyresigym, Ssnt, <58ly TrGged LpmIb GonE eukish

(€ 258y OyCgad, wamyrasi g, Sant, Guope auiisb whmibd Sybdr IrCgsn

D) o8y ArGpe>, Sant, wamyraumn, Cuope aurtisb bppib iy GrCssb



137. Match the following :

List I List IT
(a) October 13t 1. International Anti-Corruption Day
(b) Qectober 17th 2. International Day for the Elimination of Violence
against Women
(c) November 25 3. International Day for the Eradication of Poverty'
(d) December 9t 4. International Day for Natural Disaster Reduction

(a) (b) (© ()

A 3 1 4 2

B) 2 4 3 1

(C 3 2 1 4

- SRR 1

Qurmsgs :

uligwé I L guig 1T

(a) =&GLmurl3 1.  sreuCge empe erdlifiy e

(b) o&Gmurl? 2. sieuGge Duamaea ardlyren euengpenn sy prer
. (0) paudur25 3. srauCgs aumienwo @iy preim &

(d) wsdUT9 4. sreuCge Qupens CuilLi gerply mren

(a) (b) ) (d)

(A 3 1 4 2
B) 2 4 3 1
C 3 2 1 4
D 4 3 2 1

138. National Deworming Day is observed on ‘
(A) February 13 # February 10
(C) February 22 (D) February 28

Cadlw Loy féab prer eremy g sNdatiu’Lg?
(A) AOuageu 13 (B) Quageufl 10
©  Gogeufl 22 (D) Qe 28



140.

141

142

On which planet NASA has reported Water Ice and Blue Skies?

Q{ Mars (B) Pluto
(C) Neptune - (D) Venus

hs ArasHa B uefas iy wpmb Sosurend o drarsms NASA (prem) sidlel gerang?
(A) iomie B) yep Cur
(€ Qpuguen D)  efenen

ANGKOR WAT — UNESCO World Heritage site recently identified is located at which
country? :
W Philippines (B) Thailand

(C) Cambodia (D) Bhutan

spCurg sem@gssiul L “‘@mGsrt ar’” — yderdGar (UNESCO) siauCge umpuifiu guib

CThE BT ig ) HepLOpFIeTeng)? _
(A) Adlueueren (B) smianps
(C) &wGumguwrr D) yunen

“Solar Impulse-2” aircraft began its journey in March 2015 from which country?
(A) Myanmar

(B) China

(C) Japan
W’ AbuDhabhi

“Gsreon @Quudav-2” eflwrend seang LwLamTSmg wrird 2015-6) R thg geunidug?
(A)  Dwurénoi

(B) &amr

(C) guumen

D) @y sna



143. The new capital of Andhra Pradesh is called as
(A) Vijayawada
‘B" Amaravati
(C) Hyderabad
(D) Vishakapatnam

2587 QrCseslean U saapsTod ey epliLfag
(A)  eflggueurLr

B)  wrreud

©) e@apgrrung

(D)  eflemsulgeand

144. Bull taming sport ‘Jallikattu’ is related to which of the following state?
W Tamil Nadu
(B) Andhra Pradesh
(C) Karnataka
(D) Kerala

‘Bedlsa G e srear LG eleanun’ ( aps wiilogms TS
@) sfpErG

B)  apdy ArCsen

(C) aipmian

(DY Garert

149.  Which one of the following is the national aguatic animal of India?
(A) Saltwe'iter crocodile
(B)  Olive Ridley turtle
w Gangetic Dolphin
(D) Gharial

Spsangd datigsals, Gidurdier Caflu fiaunp lemsrs smsuubeg ag?
(&) eyt oo

B) edleu Al ieel e

(C) smewspd LrdQer

D)y Gaflwua



151.

153.

The royal family of which of these countries was confered the Prince Mahido! Award on
29t January 2016 for the contribution in the field of health and medicine?

(A) Bhutan
(B) Denmark
(C) Saudi Arabia

v/ Thailand

TS BTLigenr DTF GHULLUSSHeu ‘Sflese wAC_rd’ efmens, 29 ganaufll 2016-gb prer sHTEMTDL
I WSS gienn Gaenausamen eflmengis Quppen?

(A) LJ,L_meir '

(B) Qremonms

©) soyf HCmAwm

D) smuenbs

In terms of Geographical area India occupies which position in the world?
(A) Five ' (B) Six
W Seven (D) Three

Hleo yeiluSiwie) mifps ﬁwuuqulﬁle} @sSwr 2 ovsereildr A sHmEED GL b erg?
(A) mbs B) =n
© gy D) epenmy

155. The book India in The New Millenium was written by
(A) Jim Corbett
(B) Jaswanth Singh
Vﬁ' P.C. Alexander
(D) Sashi Tharoor

Bidur GQer 5 Hly, Berellefluib arénp Ussssms erpd e
A) gl smeuc

B)  gevaus Ari

€C) 9.8 oQessrami

D) sefl st









173.

174.

175.

“Cheetah” and “Chetak” are the name of
(A)  Fighter aircrafts

W Helicopters
(C)  Armoured vehicles
(D)  Infantry regiments

"S5 wppd” Cosss” eaupdlen Quitaer?
@) sare @D ewren caidaer

(B) Gapdlsmir

©)  Syud ubss auamgaen

D) @arCuan’f Grguem.

The global tiger population has grown by how many percent according to an announcement
on April 20167

()  23% B) 24%
© 21% O 2%

gure 2016-Qan sifledudenig 2 s yals Qgnans ssman sgellflgi oifssg o drang)?
(A) 23 sgalldigio (B) 24 spefidzi>
© 21 sgelldigin D) 22 sgeddigid

Where was the Indian coast guard vessel Arnvesh commissioned on March 21= 2016?
(A) Goa (B) Odisha
(C)  Cochin W Vishakhapatnam

@rdu ungieTLy s_pueL slue rarGessy g 21, 2016-b and e Bluinents
Qeinudiu Getang?

(A)  Gareur (B) quer

(©) Qansflen (D)  eflsnaiiugemb



https://t.me/tnpscfree

https://t.me/sasiclasses



17.

The place of India which does not have tropical evergreen forest is

: d Eastern part of Western Chats

(B)  Western part of Western Ghats

(C) Andhaman and Nicobar islands

(D) Eastern part of subtropical Himalayas

Pifndlé siwan war o usaw LrprssTPsos Qarangns LGS
(A) Gupe Aprisd veada dpsal usd

(B)  Gups Apriish wawle Code ued

(C) mpswrar faCGaruni Laysar

D) 2uswe Hpég Seuiome



18. Consider the following statements and choose the correct answer from the given options.
I. Shompens is a tribal inhabitant of Nicobar Island.

11 As per 2011 census, their population is 229,
(A) lonlytrue ; (B) 1l only true
d I and IT are true y (D) 1and Il are false

Gléraumid ampep sauailggy ar@ssiul Heararamasehicn sflwren afleo @ui CanpQpOasa)b.

I “eymbQuérav” flaCamunt Sald audlé@id @ Lpn@y S,

II. 2011 wésl Qgrens sewsQa@blaig @ araafn waed Qgrams 229,

(A)  ppd sadm ol Hb &l (B)  @ver meug sapm wi (i #f
() Qqeﬁu@m slwirengy " (D) Gren(ib geupreng

112. Choose the correct mateh :

List 1 ' List IT
{P) Fault ' 1.  Strombeli
iy Fold 2. San-Andreas
(R} Earthquake 3.  Himalayan Hange
(8) Volcano 4. Epicentre
5. Weathering
6. Exfoliation
Ay P-1 -2 R-5 5-6
By, P-5 Q6 R-1 S-2

¥ P2 Q3 R4 S
M) P-4 Q3 R-1 S-6

silwins Qummpiuapenn GaipEs Hés

L g 1 g IT

(P} Sarey 1. eegmbGumedl

Q) oy 2. smém mpa@m_pa

(B yeilefney 3. Buowicenas Qeri

(8)  erflnenc: 4.  awflivey enowih
B eureficnad Sangey
6. Guresp fasn

Ay P-1 Q-2 R-5 5-6

(B) P-5 Q-6 R-1 52

© P2 Q3 R4 51
Dy P4 g-3 R-1 S

113. The major temperature fluctuations in surface waters of the tropical Eastern Pacific Ocean

ie called as

{A) Temperature inversion (B} Convection

(C)  Thermocline & ElNirio and La Nina

Spwian e Sipse wfds sapidy Cupuginie gpo@n Guliu ghng smpesarang Fean
SienpdsiLBED)

(A Qoo geverdip wrhmib @) Qeulius sevend

(C)  OpiGuwrdaaren (D) evé) FGanm whpib e Hlemm



114.

115.-

114.

117.

The portion of incident radiation reflected-back to space from the planet is called

(A}  Atmospheric windows w Albedo

(C) Rayleigh scattering ' (D} Law of scattering

@fwus sfradsfen g uEd Gruafiltler gpab aﬁ'lm@ewﬂas@ S sgouiuhies ﬁéﬁuﬂg
—oeanyp s L (EEm S

(A} auaflnem e sereardsear (B} .ﬁé.l'@ R

© G gels Apped D) gefis Agped P

A major diamond mining centre in Belgium is

(A}  Aalberg (B} Aberdeen (C)  Aabenraa {ﬁ Pmtu-rerp_ .
Bucsflug S o eren @@'ﬁlgﬁwm EREL T ERTE S0

(A  maluis B)  wbumger (C  gluemn (I e Gleufral

Rank the given soils of India in descending order in terms of their area [ extent
(A}  Red soil, Alluvial soil, Laterite soil, Black soil
(B}  Alluvial soil, Red soil, Laterite soil, Black soil
(C)  Red =oil, Black =oil, Alluvial soil, Laterite soil
@f Alluvial soil, Red soil, Black soil, Laterite soil
QarREsiu et Gbdwu wen aumssenar LTOUmeslen S 0uene S Bmee aufla s o Sz
(A)  CEbwer, suamd wen, Gax el Lo, SMlFs o
(B} suen_d wen, debwan, Gal L e’ wek, sl wer
(C) Qebodr, sfied wen, codmd o, Gal Lyl wer

I eusiweo weiw, D@bwoed, sfe e, Geol L anrl e

The planct which is known as the ‘God of War'

{A) Mercury By Venus d Mars {1y Jupiter
LMt meye erenmenpdEL UYL Samar
(A} ysew (BY Claudrafl () Clesueumil (D} eflwmgpe

Which kind of power accounts for the largest share of power generation in India?

(A) Hydro - electricity d Thermal

(C) Nuclear (D) Solar

@ndunelic aTHS Wlan o&;ﬂ WGew ppwons ofls sierefla BSlar 58] & pugHundipng?
Ay B L&smfm;m (B) =ad Hen

(€) oigonlen s ; D) efusss



166.

What is India’s rank in the global production of milk in 2010-2011?

of Fist (B) Second
(C) Third (D) Fourth

T 2010-11 b ey 2 esamelly und o pugHuia GsHurelen grb eranan?

A" s ®) @remmib
€) epapmblen (D) srémemiib






132, Which one of the following States of India has no railway line?
(A}  Arunachal Pradesh ' -
(B) Meghalaya

(C) Tripura
¥ Nagaland ' ,

Beuyiures Qawrs @bHu wrflow eg?
A smperrssals SgGssd
(B) Gusrawnr

(€ Sfygn
(D) preompy



169.

170.

On successive n'ights. the moon rises about
W 52 minutes later

(B) 90 minutes es_lrlic;r

(C) the same time

(D) 2 hours later

Apmiiipg wndp gatans Qragio spdrer Carapeag
(A) 52 Al b smogwns ‘

(B) 90 Aflib apenangrs

(© Gy Cpredo

(D) 2 wefl Cpmb smogoms

The diurnal i-ange of temperature is maximum in the
(A)  Equatorial region

(B) Savanna grassland

(C) Temperate gra.ssland
M Hot deserts

Slensfl Qeulu eblum’d sfswras sneriiu@o b
(4) ywsHubres': YyGCsswn

(B). seaument yeUeuaf

(©) uﬂp@muum{llu_m yaGeuaf

(D) Qeudul ureeeueiisar



172.  When it is 1.00 pm at Greenwich meridian, the local time at the Central Meridian of India is

(A) 4.30pm
(B) 5.30pm
w7 630pm
(D) 7.30pm

Hfdweli SisaCrevadio wHub 1 waflurs edrer Gung, @bflu wiBu fissGreasien g Cpaw

(A)  4.30 pm
(B) 5.30 pm
(C) 6.30 pm
(D) 7.30pm.

7. Whmh one of the following factor not related to the generation of ocean currents?
(B) Differences in salinity

s S ghufaspe Spsar srreflsaiid apg g sbubsiuslda
(A  Cawufean Geaugunbser ' '
B) | esufnbw (}mmun@é&

O ewipd CagunBad .
D)  wesyLGumfia Capur@adr

.The stratosphere is called the isothermal layer, because of ita.

(A) . Cloud and dust ' (B) Clear sky

(C) Water vapou: . /;Bf Constant temperature
mWan - D Elmuu (s mmuﬁm EMTERTIDTE SAELIGI], .gupaﬁ
(A) Cusbwbgub grs " (B) Qgeflanes amend

.[G}: Eorrefl . D) Peewires Geulind

The pla_nat which rotates in the opposite direction of its revolution is -
(A Mercury | : (B) dJupiter

(C)  Earth _ . /(Br‘veuua

mflweer sHfl cughid Seords el Serulld sypgib GCeramang)
A ysen - (B)  dlwumpén
€y , _ D) Geusraf



" 10. Match List I with List II and select the correct answer,

(a)
by
()
(d)

ListI

DPAP
NFCP
CWDS

(a)

T3
B) 4
) 2
@ 3.

Bemiim:

- DART .

HihMlh-E‘n

= T I
&

e

Bota 00 B D
. B

Liet I1

Flood management
Cyclone warning

~ Tsunami management

Drought management '

g T o drudquid II aen Aurmsd !Gp £_étam Qpn@u&ﬂﬂw shwiren cSlen_Benan Qg,l'ﬂaq -

(a)
(k)
(e)
(d)

@)
B)
()
(D)

-0 -

uqu.HJéJI

DART
DPAP

- NFCP

CwWD3

(a)

M
4
2
4
1

{c)
1

1
1
-2

- A

(d)
2
3
3
4

Qqu.u.:ﬁir II

QeusraniQuimée Coarssamn
@preush eréafldns )
gl GuoematTanLD

aupi A Gioemanes

.11.  'The lowest cover of forest type in India is

. (A}  Tropical evergreen forests
(B) Tropical thorn forests
Mangrove forests
(D) Alpine forests
AiHus srhsafid Hssgephs Lriueardle oder sl ———— uEb
(A)  SIUET RIS LFMDLIPITE STHSET :
B) swes ins_in.m WPLLETE ST(sdr
€ sl o sr@adr
(D)

Sy enLian sTHEeT -

95. Venus and Uranus revolve-in clockwise direction whereas other planets revolve in the

- anticlockwise direction
(A) Aﬂphmhmm]vemthsnhckmdueﬂhun

All planets revolve in the anticlockwise direction

leneiv mmm- wCaanay .ﬁq&m EW au,pmﬂ Hensfléd sipguid. wHY HISHSET SaETTD swm

| Sinengg) ArSuSELD S &mw-ﬂ HensGa W-.b
SiaaniE Arsiisgsid sesmy anp;pﬁ M adigfamsusich sppgud

®B)
Revolve as in question statement
D) ﬁﬂ afe Wrong answers '
possg it Sensulle spgud
(A)
(B)
() chlamrelld e dramg G Sipgni
D)  senenjgid paupren alan

MAa1R1



29,  Match the List I with List IT andﬁnduutthemrrectmamhmmgthamdea given below

List 1 List IT
States | _ ‘Cities
{a) Andhra Pradesh 1 Thiruchirapalli
(b) Karnataka 2. Thrissur
(©) Kerala 3.  Bellary -
(d}) Tamilnadu 4. Anantapur
@ ® @© @
(A) 3 2 4 1
B 4 3 2 1
Cy 2 3 1 4
I 1 4 3 2
uiigwe I g udgue IT o1 & Qun@ﬁ sflwran eflenamu Gm@nuu@m @S Resemar
vweru B CorpEal
C ulguel un_q.l._pd.fﬂ
_ winflenb FEmD
(8) pfrSyCasn - 1. Amsfgmagred
(b) sipm_sib : 2. Amémi
© Cspemr 3. Qudanf
@ pOpp6 4. svuppiny
(a) b (e (d) -
A) 3 2 4 1
B). 4 3 2 1
(C) 2 3.~ 1. 4
1 4 3 2

fgl=EW L1 ' -



a7

@) 2

In the given map of Imha mrrectl:,r match t‘.he following

List I
Place
I
II
ITI
v
(I}
1.
(B) 3
€ 4

-
el Eatabods

e

List II
Rainfall
Western disturbance

- South west monsoon

North east monsoon
Mango shower

QM@MuUL@m @gﬁu mmul_gﬁm Ip&am_mmm sflwirs Gurrwm

g I
G rimar
I - L
I S 2
m 3.
. L 4.
® @ o aw
@w 1 2 3 4
B) 3 4 2 1
iCy 4 2 3 1
Dy 2 3 1 4

Ln_q.tum In
1= T ’

. Copapfiu Py padr
- GpenCiope Lmeadsmpy

mn_ﬂgds@ u@m&mﬁ:p

ombLps FIDS






139.

Find out the pair of wrongly matched water dispute tribunals.

L Krishna water -
II. Narmatha water
III. Kavery water -
IV. Ravi and Beas water

(A) _Aonly
{ I only

Maharashtra, Karnataka and Andhra Pradesh
Rajasthan, Gujarat, Maharashtra and Madhya Pradesh
Karnataka, Kerala, Goa and Tamil Nadu
Punjab and Haryana

(B) IlandIV

(D) 1V only

saupms Giind Co” Herer SN Grssanar Snioimun whpi pﬂsﬂﬁw Elenesramus sam(Hiy.

L Ameye fi -
I. miogrgir -
L anCeufl Bi -
IV.  gwell whpd Swrew §7 -
(&) Tl @b

(Cy I w (G

WpTYTayis yT, S, Shdr0 GpGssn
guggeoSTen, @mun. wanTyreyuor, wiBubiGssb
snpmsD, Caramr, Caraum, SullpmmE
LigheTL, emfiwsmesn '
' B) I wigb IV
D) IV ol @u



170. Consider the given Fig. of Seas of North West Europe. Match-List I with List IT-and select
the correct answer using the code given below list.

afieos |

B

5

T

Last 11
Sea name
Baltic Su

North Sea
Irish Sea

Qan@ssiu Parer anCuds CimiSu mmwmmmwm
Hmua%nwoﬂmmmmww

0D crer

() I

"'”"‘“’@ 2

S

—_
Ko

NN

BN

-

o on s

afes 11 ¢
sLa Quui
unORs SLo
QL@
wfldy s









105 MWame the neighbour galaxy of our own Milky Way galaxy.
(A)  Antlia (B)  Aquila
(C)  Andromeda (D) Aurign

wingy Lirgdreuyfl el far se L gflan oymseninks aflamndier sl L gdlen Glowr,
(A opeed aflwm (B} msmeun
\_/L;Qﬂ e GnnZeen (1) ayftan



150. The smallest difference in radiance detected by the satellite sensor is called

\/(@ Spectral resclution

(B) Spatial resolution

-

(C) Radiometric resolution

(D) Temporal resolution

Vs gadw Gauliugms sar. Huw QsunmssCarn Spasar_mauseo aaneu?
(A) Povree sqUuedo Sroralisss

(B) dar@aefl syiuvecta Snorallsse

(C) ewrQaral Uiy eyuueLSe Srorafigsa

(D) CsrasnguueLde Srorefigse

151. Crnsider the following statements

Aszertion (A) 41 percent of the moon surface is never scen [rom the earth.

Reason (R) - The maon rotates and ravolves 1n the same direction as does the earth.

(A)  Both (A) and (B ace individually tewe and (B} is the correct axplanation of (A)
{By  Both (A) and ([ are individually true buc {18 15 not a corvect explanation of {A)
(T (&) is true but (R) is false

(I {A) s false but () 1s true

Eipaanayn eunddl i genen s

Famiy (A) o Bleeblan 41 sgals L d gel S8 el Burs e yaiu@eidsma,

amrenrin (F) o Ber gefulflen siCE dansnRGelu s F spdadapg).

(A (A) chmw (B) Euen®@Cw 58, Cogub (R) aag (Alafloe sfwurer eflara s,
\/(,B'ﬂ (A) wam (B Byamio sfl, Cogus (B) aerog (Al sflurs eflarbswdea.

(Cy (A) ofl cyennds (1) peuny

(D} (A) seuny wenméb (R) afl



152 Fujita seale refers to
(A the scale to assess the severily of fload
(B) the scale 1o assess the carthquake severity
(C)  the scale o assess the velative severity and damage of tornado

(DY the scale to azsess the cyelonic severity

i gflen cramm ayeney o en s omild Ame?
{A)  QainengBan Beflrgeng w0 o gaph mana
(B)  Paphassda Saflrdms ndinde. o gab samey
T sy srifien Selindens oA BHaEb ssad gHLGD M b s

(DY el EeSipgens wdlo P e Bab ey






185. Mateh the Geological Era with their periods.

{a)l Precambrian 1. dJurassic
(b) Cenozoic 2. Archaen
(] Mesazoic 3 Silurian
(dy Palaepzme 4. Eacene

(a) (k) {e) (d)
2 4 ! 3
® s 2z 4 1
© 4 1 3 2

(D) 1 3 2 4






14, ulqwd 1 g uvigwe 1T cim Quepsd ACY QuiBasin Qaa EHSPsmas Qsrand shwusas
e enwp CarsAsl.

Ui | wigwe 11
(a) wpPu SCeranys 1. efuoe
®) #SOus 2 Rpura sad
© wiluress 3. Qs igip
(d) GQsSen_ Qgoeran 4  Suyd

(a) (b) (©) (d)

@/ 3 4 2 1
(B) 1 4 2 3
© 3 2 1 4
(D) 2 3 4 1

Match List I with List Il correctly and select your answer by using the codes given below :

Last | Last 11
(a) Mid Atlantic 1.  Volcano
(b) Tibet 2. Deep trench
(¢) Mariana 3.  Range
(d) St Helana 4. Plateau

(a) (&) (©) (d)

(A) 3 4 2 1
(B) 1 4 2 3
{C) 3 2 1 1
(D) 2 3 4 1






159 veups Qprit B Hss sfwunes aunadlugens CoipAsDasad
I eefCetu BlsuGuiu vaywsAsnon gag udl9ds QuEpns old s whgerang.
Il @ apsdCralwnedlean SLHEMTHE LMD L amag),
1 g o Ceong apens.
IV. edunsdfll@o Srol b geonwuyd Curg Qe Qgfun.
(A I-blll-wef B) I-oll-vsh

©) Nl wulGw e (D) oemengmo sfl

Choose the correct statements about coral reefs :

1. The World's largest coral structure is situated in the Pacific Ocean.
Il Itis off the coast of Australia.

IIL It is Fringing rcef.

IV. They get exposed as the water in the lagoon goes down.

(A) Tand I are correct &f I and I1 are correct

(C) Il alone correct (D) All are correct



10. #pssaior. cunddlunsesasd sae

by (Al : sefaCGare gamimifia CuTRLCOLT s Sadgd.

onyemi (R) : sefleGansiien gl thf geimnadl seopa.
#Cy @M Qetrar @i s oflurer sl emui CaraCn

A)
B)
C)
D)

(A) wibpi (R) Qe (b &, Cogyd (R) eaugy (A) oD@ sﬂwq alledad
(A) whgud (R) @resmGid afl, Guguib (R) amiugy (A allhg sfluna eflerdawes
(A} ofl, anemes (R} gougy

(A) peugy. ené (R) aff!



12, @pSurelis: givur yalls@aueay gradlel. gagemb amgeieng 7

1. Quiis st
I, o aoflaGan o n
m.  wlssdgdf
V. dlineeibguio.
Seupgyen -
A) 1w (o 3 B) Il Hio
C) Nol@d D) Il wl(®ip.
Thduxnga equatorial rocket launching station was established at which place in
India 7

I Bangalore

Il.  Sriharikota

I, Mahendragiri

IV.  Thiruvananthapuram.
Of these
A)  Mlonly B) lonly
V€1 IV only D) ionly



20. ulgqué I g ulgud Il 2@ Guresd. #Cp Carhaelu Heie SSRemens

Qaneo®) sflures aflen_cows CothGs® :

a)
b)
c)
d)
eBdpach :
a
A} 2
B) 2
C) i
D) 3

uCgwe I

aé Ggy. umun

aau. ereu. LLmrad
g erev. Ganggr
eSégd enpmumi

b c d
3 4 3
4 1 3
2 3 1
2 R L.

uliguwé I
sfcduée Qamfie orved
SP&HD
g éf) g
oSedn Qavell syymiéd) flpcuenid
o gy ofefluéy fpeusois.

Match List I with List II correctly and select your answer using the codes given

below -
a)
b)

)
d)

Codes :
a

\pr/ 2
8) 2
C) |

List I
H. J. Bhaba

S. S Bhatnagar

D. S, Kothari

Vikram Sarabhat
b c d
1 4 3
1 1 3
2 3 4
2 4 1

List II

Scientific and industrial
research

Atomic energy

Indian Space Research
Organisation

Defence Science Organisation.



22.

dpasane curdflulsmard aoued]

S@gend  geerwd  Gapndl Q. utun  e@uat  pareaodic
Apeutulceg. nrige Cuhleraimiuls Sgmesd potugbosse
ehss Quramau Qe uesHng.

1956-0, uEorug ogoesd Sooud vbumbég SoHgueiar
qoTidGLufld LEmodaiu’ G poLCupding.

Bepper eglasma ol ;
| el & Bl HNwl@Ed
1 ehpsd 1 DI 1 @eeoa [0 Gevamen.

Consider the following statements .

A)
C)

The Atomic Energy Commission was set up under the Chairmanship
of Homi J. Bhaba to formulate a policy for all atomic energy activitles
in the country,

In 1956 India’s first nuclear reactor in Trombay near Bombay began
to function, ‘

Which of the statements is/are correct ?

A)

o

[ only

B) llonly

Both 1 & 1 D) Ncither I nor 11



SGSY i0

Match List I with List II correctly and select your answer using the codes given

below :
List I List II

a) Assam 1. Ponam ’
b} Orissa 2. Mashan
c) Andhra Pradesh 3. Jhum
d)  Kerala 4.  Podu,

Codes :
a b c d

A) 3 2 1 4

B) 4 3 1 2

«& 3 a4 2z 1

D 2 1 4 3.

30. &pseane sabpseet s :

aglugdlow Qe gu Jar BB cuenmd apemde ‘Gym Lrer ey Quui @\
aoudifle Qeiuiu@dog »

L aiby

0. G

e uesd

V. semé.
@reupgen :
A Twl(d B) Hul@d
C) MolEd D) IVl

Which is the correct statement 7

‘Ratooning’ is the process followed in the cultivation of

I Sugarcane
i Paddy
(1,  Cotton
V. Jute.
Of these
) lonly B) llonly

C) 10 only D) IV only.



SGSY 20

31, ulgud 1 ( uroecemsed ) @ vigqud I ( prEse ) 2 d Quiehs. Gy
Qaa@éanlu e giliGamms Qaran® sflura allacus Caipoind :

uligues I usgwes II
a) gnd 1. audfisen
b) Spsmon 2.  den
c) enGas 3. el
d) Gand 4.  @bdlur
efdpact :
a b c d
A) I 3 4 2
B) 2 I 3 +

c) 4 3 1 2
D)y 3 2 l 4.

Match the deserts in List I with their respective countries in List II correctly

and select your answer using the codes given below :

List 1 List II
a)  Thar I.  Africa
bl Atacama 2. China
c) Sahel 3. Chile
d]  Gobt 4 India.

Codes |

A) l 3 - 2

B) 2 1 3 4

Dy 3 2 1 4.



32.

34.

Sipsmati. Sapamenem s
1 Gameh ursngden ble Gouswrs sHpue Ganeh yges
o Qadseunis gflueean guueap apiflon 687 prise Camatiu@éng
. eefbGanc gilualeBipie 5 510 Grsdie subgeay.
Bruboel gy / aancu s
Al lol@o B)  lwbyso 1]
AC_) 1w 11 D) 1 1 whpes 1.
Consider the following statements :
1. Mercury has the fastest orbital motion
11. Mars requires 687 days to complete one revolution
Ii.  Saturn s the fifth planet from the sun.
Which of the statement(s} is/are correct ?
Al lonly J land 1
C) il and 111 D) 1. Il and .
£poaanL sappecmer Honlhe eg /oo of aa GsiGss u Qeten gfligse
pevld Caita, :
L. acsddlahy olsc Jareecud upad=npy yelder aphdlfarnd

Hase wrf) e Copore aladlpy. Ges Sdwecuyd upabsby
6 GBI

. asffops olon Sdweuyp usausardg, yalld sysflSand
devs ol e dpsars Sadlom Qs Jaaeiys vBasLTHY

e
Grupmiat
Al lol@b B) Il

C)  lwpgd I D) b @aee Il b Gaame

Which of the following statements is/are correct ?

i In India. the winds that blow from north gel dellected and come from
the north west. These winds are known as the ‘retreating monsoon'.

II.  In India, the winds that blow from the north get deflected and come
from the north east These winds are known as the ‘retreating
mensoon'.

Of these

A)  lonly \8( 1l only

C) Bothlandil - D) Neither [ nor 1[.



61, ulgue I g ulgue I ecd Quipadl. #Cp Oar@asiu. Derer @ilidsameans
Qarar® afuren e owus CarmGa® - ?

uLigweé I g wen 11
a) s@s ssran dncuend 1. urflév
b) Quetmadh smiusb 2 Gogmp
c)  psduprpedea sl sefcué 3. dywris
WHOID HETSBTT SEDIL
d)  uwenion @ Covamnames cuenitsdl did 4 Qgeaiasr
efdpser :
a b c d
A) 3 4 2 1
B 4 3 \ 2 ’
C) 2 3 4 1
D) 4 3 1 4.
SGSY 36

Match List I with List II correctly and select your answer using the codes given

below !
List I List IT
al  World Health Organization 1. Paris
b) Women watch 2. Rome
¢)  United Nations Educational 3. New York
Scientific and Cultural Organization
d)  International fund for 4. Geneva.
agricultural development
Codes :

€k 2 3 4 1

D 4 3 1 4



|https://t. me/tnpscfree|

SGSY 46
Consider the following statements ;
- Available primary energy sources in India are
1 Coal and Lignite
II.  Oil and Gas
1. ©Oil alone
V. Electricity,
Of these
A) I & Il are correct

B) IT & Il are correct

C) Il alone is correct BT L1 &IV are correct.



88.

£Cyp Qanpaain Peierd sflunarangs CaihQa@ :
A)  Deere gflumean ol Qeuuunrang Side

Bl @g efumer el ey w_skg Clauorers
C) Q& eLraiy e

D) @& ds ods gefltédlurarg.

Pick out the correct statement :

A)  Lightning bolt is not hotter than sun
\3(‘ Lightning bolt is 3 times hotter than sun

C)  Lightning bolt is not hot

D)  Lighining bolt is very cold.






59.

61.

ugedn gfluenen guapenn shfl suT Sysib sraib

Al BB mmlisen B) 108 mmlsen
C) 110 prlsef D) B8 mmlmer.
The mercury’s period of revolution round the sun

A) B8 days B) 108 days
Cl 110 days Dy 88 days.

maim. GuGan® wpaip 2ifss ouwasa Guellshg £prs
L Lk s i
. dgreael oHée
Il  ureren yfd
@oubpist
A) LI &I By HLI&I
Cl mI&Im - Dy IL I &L
Three layers of continental crust from top to boftom are
I. Sedimentary

II. Granite layer
111. Basaltic layer.

Of these

[l)/ 1,11 & 111 Bl L mwé&il

C] 10, 1 & 11 ) H,OII & I
Gadlu QmpErenane araim. 7 ssraflurgoflawy @enamgh HETD
A) Gl eusd B)  wgleny

C) GQesmenean D) eunrgeooirdl.

National Highway 7 connecls Kanniyakumari with
A) Delhi Bl Madiirai
C)  Chennai D)~"Varanasi.






90, wCgwe 1@ ulgue IO 2 dé Quiedd, fCp QurPleiu Pae eiddsmead

Ooran® sfluna alaoug Caibs® :

b)
ch
d)
efdpadt :
a
A) 3
B) 4
c) 1
D) 3

a)

ulgué I
sneuri i JypheT Husib
ahsjaknsd sr@set
(LPGO0TL_IT 5T S
pregibyt Gl ywhis

b c d
4 2 1
3 1 2
2 3 4
1 2 4

Ut igwe 11
(i gpeu T &1
pblpnr®
2bHy AyGped

Quihe, asierenn.

Match List I with List II cosrectly and select your answer using the codes given
below : )

a)
b)

c)

Codes :

B)
C)
D)

L I -

List I
Salar Jang Museum
Sunderban
Mundanthurai

Ranthambore National Park

b ¢ d
a 2 1
3 1 2
2 3 4
1 2 4

s v

List II
Rajasthan
Tamil Nadu
Andhra Pradesh
West Bengal.



117, Mid Atlantic Ridge

Observe the given figure of Mid Atlm:tu: R;d.ge Match List I mi;h Lmt II m:u:'l select the

mrrectnodenvenbelnwthehsts
LmtI List IT - Name ofr.heﬂidgeu
(a) a e . 1.  Challenger Ridge - :
(b) _h 2. Rio-Grande Ridge
g e _ 3. - Walvis Ridge '
)y d : o 4.  Deolphin Rise
@ ® @ W n Ty
S AY 1 2 3 -4
- (Bl 3 2 ‘1 4
.gf 4 1 2 3
. ) 2 1 4 a
i s enemgs Qgmi

ﬂm@a;a;uul__@drw wHBu .au_n.-rtdwq.& me_lﬁmw saall. aufles T e mlﬁm II e an lﬂm
Qm@m_lut.@ﬂmr gﬁll!l.q.ﬂ@g mﬂu.lrra CarplsBis durmiss

mlﬂﬂu . auflens 11 —Cma Meaw Quiwi
{(a} a : 1. -: ﬂaﬂ:@mr Qg
By b 2 MAGwir Eymam_ Qgm_ir
£ ¢ a eundefien Qgm it
.4 4 Lmen Slehr o iwitey)
e e e @ .
A 1. 2 3 4
B 3 .2 -1 4
<y 4 1 2 - B
m 2 1 4 3



'_ 12? Mal.n]:ert-ImthInntIInndwlectthcmmanswerumngLhemdesg:lvenhu[uwtheI.lata: ’

List I
River
_ (a) ﬂwang-H.a
(b) Niger
(e) Volga
(d}y Mackenzie

) 2

1 3 4
@fz 3 4 1
©: 1 3 2 4
o 4 21 3

@ ® @ @

List II

‘Empties inta

E-Enﬁfﬂrt sag
Yellzurw BEA

Gulf of Guinea

© Caspian sea . . &

" aufims I o1 dr mlﬂm I evam’ ﬂuﬂw WWE: & Qm@nuun_@érnr Glgrr@uﬂn‘.i@pg

Jl'ﬂu.m»:u aiflen_uflenen G,sﬂ‘m Gl :

auflgng I
0.
{a) @psumiiGer
® gt
©) Cardsr
@) - Guossdny.
@ ® © . @
(B)

0
(D)

o B

[ T

bnm:u.n-
L ]

2, ABEREET Ed

 aiflens 1T -

C O ERMEELD S

L SeyGumic s d

3. dafl werarmr

4 srdluasid



168. Match List | with List I1 and select the correct answer using the codes given below the lists :

List 1 : o Lietll

Rock type Rock class *
(a) Rhyolite 1. Calcareous Sedimentary
(b) Conglomerate 2. Foliated Metamorphic
() Slate ' a. Arenaceous Sedimentary
{d) Dolmite 4. Extrusive Igneous

A) 4 3 1 2

® 1 2 4 3 .

o 4 3 2 1 ’
. @ 3 2 1 4

aflas 1 oo dr cuflens 11 ananl Quirgssfl eufleossiases &p Qm@-uuul_mmm SgmElntilmig

sflwimen efl a_iSenank ﬂpl‘lm Gl :
alfflens 1 o aulfiens 1T
utED fudnE o ump_ﬂlﬂq
(8) - MGwmrensn . 1. ey uw:irurmp
(b)) saaassd 2. sl Qurenpusner Wu uitenD
@) usmsssd 3. wewd UigayliLireasn
(d)  Lmenenun 4. gavanh ourenp

@ ® ©@ (@

A 4 3 1 2
B 1 2 4 3
© 4. 3 - = 1
oy 3 2



189. Match the following -

(a)
(b}
(c)

(d)

A

Toba
Mariana
Mawsynram

Titicaca

(a) (b) (e)

i 1 3 2
(m 2 1 3
st Qunsizs -
(a) CGurur
) wluren
(e}  wmushenmb
(@) wismamsy
() . {i:-} ()
A 1 2 4
@ 1 2 3
o 1 3 2
o 2 1 3

(d)

(d)

Caldera
Trench
World Wetteat Place

Deepest Lake

erflenaaumis
A
e Hifls waptumfle)

S ipenares i



191. Match the pressure belts with their lagggdes :

(&}
(b}
i)

@

g

(B)
©
(D)

F\:_p]nr high

Sub polar low
Equatorial low
_’I"rop:::al high

{m) (k) ic)
2 a4
] 2 1
1 4 2
4 1 3

I.  30° to 35° North and South
2. 80° North and South
a. GI_:I“ to 65" North and South

4, (P td 5° North and South

SpEE FyGeiiBaar Sysa 3y SSIEEL e Qmw :

()
(b}
()

)

@
®)
(©)
(10}

T .g,[_gauh
FIP L wgITHEUD

ST BALIGET LoaR L aiD

@  ® @
-2 3 4
a 2 1
14 3

3

1, 30° o 35° aii oppih OpDE
2. 9 ek whgnb Qﬁl.ﬁfﬁ

8 B0 gped 65° e dm wpgd O5pS
4. | 0° appee B s wipd Gaibg

(d)



198. Match the cultural centres in India with thm:r'mnn] head quarters ;

(a)
®)

@
@

Zane

Southern zons
Morthern zone
Eastern zone

Western zone

(a)

4

(L)
3

[

{c) (d}

1 2
1 3
4 H

Head quarters
Patiala
Udaipur
Thanjavur

Kolkatta

kSl sreflen SmaaninIkiSenaT b werL_a) SIS E S ClummEss |

(@
1y
©
()

B)
(©
(D)

ine_aip
Qshm
QULEE
AipiE
Cupe
(a) ()
1 3
2 4
3 1
1 2

© @

. 1 2
l‘ 3
4 2
a4 4

SENEMEILOLIED
L g mE
& EALILLT

- gy

dendaggr



113. Which day is declared as World Poverty Day by UN.?
(A} 15% of October
. @ﬂ 17tk of October
(C)  16% of October
(D) 7th of October

6155 Brenar wos augians Senors g mn, s sflclszidang?
o (AY @G mun 15-*&: pmﬁ:-

B @&GLmuf 17-g0 mrdr
B =mECirui 16-g4ib [Emam

D) wsGomor T-cgpi e



117.  Find out the landform which is in between the two drainage basin,

' m{? Water divide LR (B) Gorge
- (C)  Canyon : _ (D) Waterfall .
QanBésuu Geer v dgder @6 wDp aysrd uEHis e tu eda Hostsninses .
e (§1Glig.. K .

CA) B GRCE ' B) voo GBS
(C) b ueTaTETEE, {I‘ﬁ it afiypésl



118. Identify the great plains of India and name them.

Sutlaj Yamuna plain ~b.  Rajasthan plain
Middle Ganga plain d.  Upper Ganga plain
' 1 2 3 4
(.G‘ b a d ¢
(B) a b e d
(Cy e d b F:]
D d ‘e b a

@Efw aotaall ugdsmean m@&q@ Guufifs.

4

a. s Ged wopen swbleiefl b. prgEgesre suwlblea

e pgHu ks sweuaf - d. owfsdher sobuaf
1 2 3 4
A b a d o
"(B) a - b ¢ d
c) « d b a
D d c b a



144, _ Arrange the t'ﬂllfuwin?g Indian States based on total pnpuial:iﬂn'fmm th.e'least to the higi\est
(a)- ,Miiﬂrﬂm L ..
(b} Delhi.
..(c]_ - Puducherry

@ Sikkim

@ @, 0. @and @
B BO@m@
© O @andb)
) @@ @i

ﬂdwu{gm B mrrﬂmmmw wéEdT gﬁﬂ“ SiigLienLulle u'im,u.n EEMEY 1HHa Lﬂ&sq:h .gu,ﬁm :

crdnm .g:mml.‘im mﬂmuu@wn '

4

: u;u} r —y
(%) OQuéd
(@) usCed

co () Aad

@) (o). () (@) oopis (7)
® (). (@) (o) whgs ()
(O (@) (7. (=) wppid ()

D (). (0. (©) whpus ()

147. The first In_tiinﬁ woman with an artificial leg to conguer Mount Mt_m ’
.ﬂﬂ Arunima Sinha _' o (B) Bachendri Pal '
(C) - Santhosh Yadav - . (D) Maria Pal

Qn.lmm S1DEGaT(H el -ﬁm;r;mﬁ almu_;bﬁ wa} Bibfu Gmmuﬂ
(A)  Simhoredagpr . ubCep Al urd
O epCprewmpd @) whurure



149. Which country is the largest producers of silk in the World?

163,

165.

@ na : . - (B} India

sTis B '-":-G-: !—muﬁﬂm ML@ wdlsflng? -

(©)  glundn : : D) eipur
Choose ﬂ'"* correct answer,

“The time taken by light to come from the sun” _

{A) 1B minutes 20 sec
@ﬂ ?‘ minutes 20 sec

(C) 20 sec
D)  Bsec
Hﬂl.l..lrl’ﬁl. eilen_eows CarpQe (s

“gafluneng @ fuafedmss yellau s aDEE5E Hamdmgnn Gepn

() 18 Sl ser 20 Qpmy,
(B) 8B ib 20 Qg

(©)  20Qpry

(D) - 8 Gmmg,

I.  The national #aﬁﬁwa of India identified 5 water ways.
II.  Saidiya — Dhubri stretch is in the river Krishna.

| Which of the statements given above is/are nqrmct?

(A) I and II are correct

By II only correct _
(Oﬂ Iis correct and 11 is wrong
(D) 1is wrong and 1l is mrmct. _

1 Fifw Cadlu _ﬁﬂm@ﬁm 5 grem suenpuiGiEELILIC HETETE.

IL asg@um — mmof Bief Speyen gybfldr aufGu mepL Qumdipg.

CuGe @A [Harar aa i fle el -.E-ﬂu.lﬂ‘illif}ﬂl'i'
@ TwpgdIlosh '

®) 11 &

(© 1af I geumy

O 1geumll sf



166. Lakshadweep islands are known for .
(A)  Peaches : (B} Rubber
{C)  Marshes @7 Corals

@ml_a,sﬁmsﬂ‘ﬁm U SaT erent @bl LouGag
(A)  Sbwprasdr Co (B)  Bocii wrhisdr
(©)  sgiy Podisdr © (D) appessdr

167. Tick the correct option.
. Temperature remains constant in .
1. Troposphere
2. Stratosphere
3. Tropopause
4. . - Mesosphere

tﬂ} * lonly : (By Zonly- -

Cy land2 D 3and4 .
sflwrer clencowif Cuit@sm

aueflwer_aid Gau uflener wrprwe Emésin ugd
1. LGymaGumanium

2. st g ma S

3. CGpmaGumuien

4. Wl GeumanSwi _ _

(A) 1wl B) 2w Go

© 1woppp2 @) 3 whpi4

168. Choose the source of bla& soil from the following :
WA - Igneous rocks . : {(B) Sedimentary Rocks
(C) . Metamorphic rocks (D) . Laterite rocks

&flsd wanaflan e Husd gasams Seireu meuemeut fleflmbs Caimts®?
{A)  Bourepsdr _ . B)  ugeOLTEDS
{C) egrordulureapsdr oD ursurepEET



169, Assertionr (I): Rann of Kutch is an extensive tract of naked tidal mudflats transacted

. by creeks.

" Assertion (I :  Live creeks form dendritic pattern of drainage and there has been

(A)
{(B)
(€
o

sadm
sl

(A)
®)
()
(D)

accentuation in the pattern due to sea level rise.

Assertion | only true
Aseertion I only true
Assertion I and II 18 true

Assertion T is true and 1T is false

D slEeemangLr Ll @i Lﬁlﬁ_ Guflu s B Heanhs Lﬁlwmﬁ@jt_w saug ) Gapm
. L@ Ehumgn. . \ o .
(ID: &a uﬁﬁuﬂéﬂ sreRL(RD Gereysar wrsdlaa Gunsnn SenwOmu Qubllsbhs
Curflgnh e Gemaser sHEUNE EL@DLL 2 WFeITa WOT@HDE@L BEIETSTE.
sapm I &
Fa i 11 &7
s b whgd 110 #Al
s I 1b o, sn i 11 geugy



195. Match the following :

(a) Madhubani
(b) Phad
() Patachitra
{(d) Kalamkari

(a) (b) (c)
AP
® 1 4 3
iy 4 1 3
M 1 2 4
Weneumeusmaipenn AU HEEE
ppEdunmer Samaanyab
(a)  ogamred
b ug
(€ v sfgdor
(d) seombsrfi

@ ®  ©
(A) 2 1 4
B 1 4 2
C) 4 1 3
Dy 1 2 4

Famous painting

L K K o

(d)

Ww K R

States

" Rajasthan

Bihar
Andhra Pradesh
Odissa

il
grggeR e
S

yfbdy SrGgsi

frlg.Em



199, Identify the Indian personality

[

She had set a record in the Guiness Book in 1982

1.

2. She was popularly known as the ‘Human Cnmpﬁter‘
3 She pasueﬂ away in April 2013
«4f) Shakuntala Devi

(B) HKalpana Chawla

{C)  M.S. Subbulakshmi

(D) Lata Mangeshkar

@b wellgemy o> ST

L 1982 @& darenss LgsssHa L snaeamen uSssaut
a ‘nafly sefed’ sraniiCurhmOuf uaur .-

3. guré 2013 @6 Qupes erdienni .
(A)  s@hzen Cad

(B)  sauvenm smeuam

(C)  emb.erey. st s

D) wgn whCsapsi



108. Match the Countries with its National Emblem using the codes given below :

Countries Emblem
(a) Bangladesh 1. Com Flower
(b) Denmark 2. Eagle
(¢) Germany 3. Golden Rod
(d) USA. 4. Water Lily
(¢) Syna 5. Beach
Codes :

@ @ © @ (@ R
(A) 4 1 2 3 5
(B) 5 4 3 1 2
(C) 1 2 3 4 5
JMNs s 1 3 2

Brhsen T e Cxfw Ferarmisever Spsem_ GBiuiHsefler
epeuLo s QUMb Fis.

BB FET Hesrerinp

(a) whsernGzay 1. Csmer gy
(b) QW _stromird; 2. U@k
() Qgrroefl 3. &m&E &Sy
(@) yOofssm 4. B gyeveld
(e) &Hfwmr 5. &LD&eT

(@ () (© @ (e
(A) 4 1 2 3 5
(B) 5 4 3 1 2
(C) 1 2: 3 4 5
(D) 4 5 1 3 2



110. Find out the correct matching from the following :
List -1 List - Il
(1) Indian Space Research Organisation Kota
(1)) Indian Institute of Science Ahmedabad
(1) National Physics Laboratory Mumbai o
(1v) Indian Institute of Space Technology  Trivandrum

(A) (1)only (B) (i) only
(©) (i) only @ (iv) only
Eipseim_cunmien 61 Fflwns QuT@HbHFD S

L ag w6 | L g usev 11
) @BHu devGevef] Hyrmiidd enowib (ISRO) Camiim
(i) @BSw yBelweh &psaLb DYSLOBTLITS
(i) @pSw Qupiuey yuieusd (LpLDEDLI
(iv) @BpSw eleinrlevef] yTmiiss & A YT )
(A) (woi(hub (B) (i) o (pb

(C) (iii) Lo ()LD (D) (iv) o’ (b



118, W H.O. headquarters is situated at

(A) New York (B) London

Geneva (D} Moscow i
2 eVE FHTEHTT [Quussib Q@b sensvenoud b ayeniohs (G b
(A)  Blugwimirs (B) GuelTL_atr

(C) Glepesflour (D) wrewGaT



119. Match List-1 with List-1I correctly and select your answer using the codes given below -

List -1 List — 11

(a} Assam 1. Onam
(b)  Gujarat 2. Mopip
(¢) Arunachal Pradesh 3. Bihu
(d} Kerala 4. Makar-Sankranti

(a (b) (e} (d)
(A) 2 1 3 4
3 4 2 Ihttps://t.me/tnpscfree)
© 4 2 3 1
m 1 4 3 2

ucagwey I g wiliguwsy T ou e Glummsd), G
GlEmHESLIUL (HeTerr @BuT HFenans Quren® « griwmer
aflent_enmwd GHribhl s

L g uiev — 1 g wiew — 11
(8) y&FmLh 1. gpeurih
by BT 2. GromiNetr
(€) oymevrmdsey gGsed 3. L9
d) Casgenm 4. LD&IT FIRIHTIT S
(@ (b) f(e) (d)
(4) 2 1 3 4
® 3 4 2 |1
{(C) 4 2 3 1
1 4 3 2



151. Choose the correct answer — This is

W) The eye of the cyclone (B) Symbol of the cyclone
(C) Windward side .+ (D) Incoming air
Fwmner efeo_eow Cuips®h - @)

fﬂ_.

(A) Ljwedlehr st (B) yuwellsir @pPlui®
(C) srpm Curgid udstd (D) 2erGer auubld HrHmy




152. Choose the correct statement :

(A) Andaman sea lies between Andaman island and Taiwan

m Andaman sea lies between Andaman island and Thailand

(C) Andaman sea lies between Andaman island and Cambodia

(D) Andaman sea lies between Andaman island and Malaysia

ghwrer aundSwugensg Csibs® AW

(A) bpLOTEH Beys@b HTWUTEYHGLD @enL_uileh p6Tenr HL_eb
YBBHLOTEH HL_6V

(B) ypsLomsst Beys@o STiicvrsi(he@Gd @)oo uileh 2.6rer &HLeb
YBBHLOTEHT HL_6U

(©) ypsonest Bays@o smoGumguwresb@d @enuflsh o eren
SL_6V YBSHLOTEHT HL_6v

D) YypswTes Beays@d wlawFwmaline@d @enL_uieh peiTen &L
DYBSHLOTEH HL_6V






